Bubnnoteka COK

ESARA

Japanese Technology since 1912

EVMS - vertical Multistage Pumps Data Book 60Hz



https://www.c-o-k.ru/library/instructions/brands

60Hz

VERTICAL MULTISTAGE PUMPS

1. SPECIFICATIONS *&"

1.1
1.2

TYPICAL APPLICATIONS
PERFORMANCE RANGE

Page

N —

. EVMS(.) 1-3-5-10-15-20-32-45-64-90

2.1 PRODUCT FEATURES
2.2 PRODUCT SPECIFICATIONS
2.3 SHAFT SEAL
2.4 TYPE KEY and NAMEPLATE
2.5 PERFORMANCE RANGE
2.6 CURVE SPECIFICATIONS
2.7 SELECTION CHART
2.8 EVMS(L)1
EVMSG1
2.9 EVMS(L)3
EVMSG3
2.10 EVMS(L)5
EVMSG5
2.11 EVMS(L)10
EVMSG10
2.12 EVMS(L)15
EVMSG15
2.13 EVMS(L)20
EVMSG20
2.14 EVMS(L)32
EVMSG32
2.15 EVMS(L)45
EVMSG45
2.16 EVMS(L)64
EVMSG64
2.17 EVMS(L)90
EVMSG90

. PACKING

3.1 PACKING DRAWING
3.2 PACKING DATA

. MOTOR DATA

4.1 GENERAL and NOISE DATA
4.2 TECHNICAL MOTOR DATA

152
154

158
159

(D) click INDEX to jump CORRESPONDING SECTION

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

Rev. A (2) click == to go back to INDEX
EBARA Pumps Europe ® g EARA



60 Hz

VERTICAL MULTISTAGE PUMPS

TYPICAL APPLICATIONS
INDUSTRY BUILDING SERVICE WATER SUPPLY
* Water treatment * Pressure boosting * Water treatment
reverse osmosis pressure boosting for buildings water treatment plants filtration
ultra-filtration pressure boosting for high rise water treatment plants transfer
water purification buildings/hotels
micro-filtration * Pressure boosting
softening. ionizing and e Sprinkler systems transfer from water treatment
demineralising systems plants (mains)
swimming pools e Fire fighting systems
separators jockey pump e lIrrigation
golf course / sport fields irrigation
¢ Boiler feeding * District heating
steam systems e Agriculture
condensate systems ¢ Heat exchangers / fan heaters sprinkler irrigation
drip irrigation
* Wash and clean * Air conditioning systems
vehicle washing systems
industrial part washing * Heating systems

laundry systems

supply of liquids with acids and
bases

supply of chemical liquids

e Chilling
handling of refrigerants for cooling
thermal control systems
industrial cooling
laser cooling

* Machine tooling
cooling lubricant supply for tooling
machines

* Pressure boosting
pressure boosting for industrial
use

* Food & Beverage
food washing systems
bottle wash systems

¢ Pharmaceutical industries
¢ Marine applications

freshwater. deckwash. high fog
and fire fighting on ships

1
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20-32-45-64-90

US.g.p.m. 5 10 15 20 30 40 50 60 70 8090100 120140160180200 250 300 350 400 500 600 700
1 | | | | | IS N N Y I I | | [
) [ I [ | [ I I T ITTT T T TTT 1 T 11 [
'mp-g.p.m. 5 10 15 20 30 40 50 60 70 8090100120 140160180200 250 300 350 400 500 600
o 40 — ! 400 ‘ ‘ ‘ ‘ L1200 !
1000
[MPa] 30— [m] 300 ‘ ‘ 32 ‘ If]
5 10 15 T~_ 45 [0
257 20 1‘ 3 \J\ \I ™~ o
N
et \[?_N\\\\ | .
20— 200 [ ~ } ~ | | Q| N
} T \\\\ ] N } Al ;I’\ EER +—600
| | N | | I\ ~
15— 150 I = i N i fr 0 N 500
} ! \ N i NG
| | I I I |
\ I I | \ iy !
12— 120 ! | ! I | ! il ; NN 90 40
| | | | e \ o
1.0~ 100 I |
! I ! ! fiHt i } 300
- | 1 |
08 8 ! | ! ! R ! ! =250
I |
| I ! i ! R ] ! |
e | | O EVMS |
| |
05— 50 I : I iy ‘ NI ‘ \
| | AR i ma | o
i I ||
0.4 — 40 f | i = ; S | :
| | I I
| | | = I Il } |
I | I = I WEFFF) |
03— 30 | | I [ I s el L I 100
| | | I I L= 1 HECH {
| b | I | Crm==LTT50 N
‘ I ==y I } it ~ o N
| i ~ I | —175
L [ERREN I L L T N\ N\
02— 20 == I N 1 ~ A \
I~ | Ne 1 TT=o 0 TN
~— | \\ | ~~ iU | | \
o
0.15 — 15 ~— \ — 1 N l AN \ t—50
ik NN
\\ \ 40
0.1 10
0.09 — 9 \ —30
0.08 — 8 \ \ |25
0.07 — 7 |
0.06 — 6 —20
0.05 — 5 15
0.04 — 4
0 - 0
0910 15 20 3 40 50 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500 3000
Q[l/min]
[ | I | | | | T 1T 1T [ 1] | | 1
0 1 15 2 3 4 5 6 7 8 910 12 1416 1820 25 30 40 50 60 70 100
Q]
m’
100
n | i
el o0 152032 35 6490
6 3 5 — //: /g\ : ///,// :
< T P A A
50 1= %
4 Zall
30 -
0
0910 15 20 3 40 50 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500 3000
Q[l/min]

2

EBARA Pumps Europe

E2ARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PRODUCT FEATURES

[General]

1. Pump Type
The EVMS is non-self-priming, vertical multistage in line, centrifugal pumps.

2. Model range
The EVMS comes in 1,3,5,10,15,20,32,45,64 and 90 m*/h flow sizes for the majority market needs.

3. Maximum operating pressure
The EVMS can be operated at 16, 25, 30 bar or 35 bar as maximum.

4. Operating temperature range
The EVMS can be operated from - 30°C to + 140°C as the maximum.
(please contact EBARA in case of -30°C to -15°C, or 120-140°C)

5. Material options
AISI 304, AISI 316L and Cast iron versions are available.

6. Motor
The EVMS can be coupled with the commercial motors that are acquired in the markets.
The EVMS is provide as the electric pump with IE3 motor from 0.75 kW to 11 kW.
PTC sensor pre-installed for motors of 1.5 kW and above.
Unlosable screw and sealing from 0.75 kW to 45 kW are standard for terminal box fixing.

7. Certifications

Drinking water approval Atmosferes
9 PP explosibles approval
DVGW * WRAS ATEX 2014/34/UE

(bare pumps)

A\ SWRAS]| @
DCVESTW APPROVED PRODUCT ROBUE EATesTEN

no BK/W/0871/01/2019

Mechanical SiC/Carbon_ SiC/Carbon_ All variations with SiC/Carbon_ All variations with All variations
seal EPDM EPDM EPDM on page 6-7 EPDM EPDM on page 6-7 on page 6-7
EVMSG ° - - R ° °
EVMS ®** ° ° ° ° °
EVMSL ®** ° ° ° ° °
Note: * DVGW W270 is certified for elastomers. Reg. Nr. DW-5253CR0217 ® Available

KTW is certified for organic components
** only for models 1, 3, 5, 10, 15, 20
8. Conform to the provisions of the European directives ( €

[Main Product Features]

1. Innovative hydraulic solutions
* The Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust load.
¢ Low axial thrust load impeller can ensure long life of the motor bearing.

2. Energy saving
¢ High efficiency IE3 with ETM motor.
e The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain physical constant
operations such as pumping pressure depending on the conditions of use.

3. Piping connection options
* The various pipe connections are available depending on the application requirements Oval flange / Round flange / Loose flange /
Victaulic® connection / Clamp connection.
¢ The external dimensions can be adjusted to the replacement of the existing pump in the wide majority.

4. Shaft seal solutions
*  Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
e It's conforming to EN12756 (ex DIN 24960).

5. [Easy maintenance
* The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.
* The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW.

6. Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge pressure / drain.

3
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PRODUCT SPECIFICATIONS
EVMS(.)1-3-5-10-15-20

PUMP
Version EVMSG EVMS EVMSL
Nominal flow rate (m*h ) 1 3]s [1o]15[20]1][3][s]1o]15]20]1]3]5]10]15]20
Operating Maximum working pressure 1.6 /2.5 MPa (16 / 25 bar)
range Liquid temperature range -30°C fo 140°C
q p 9 (please contact EBARA in case of -30°C to -15°C, or 120-140°C)
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4404 (AISI 316L) + PPS
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 , EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 , EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Key Shaft sleeve bearing Tungsten carbide
Components -
Material Shaft Seal see the shaft seal options
o EPDM | ® | ®© | © | ®© & ©®© | ® & | o o o o o o o o o o
-ring
FPM | ® | ®© | ®© | © & © ©& © o o o o o o o o o o
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod EN 1.4057 (AISI 431)
. up to 4.0 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange wto16bar | @ | ® | ® (®@ | © & | © | 6 6| ©6 ©6 6 o o o o o o
Round flange wpto16bar | ® | ® | ® | © | @6 | ©  ©  © 6 6 6 6 6 6 6 o6 o o
(DIN) fom16barto25bar | ® | @ | ® | @ | ® | ®@ | ® | ®@ | ®@|®@|® @ 0 0 O O O O
Pipe Loose round up to 16 bar | ® &6 0o 06 o 0 o o o o o
connection | fiange
(DIN) from 16 bar to 25 bar ® | 6| o o6 o6 o o6 6o o o o o
Victaulic® up to 16/25 bar o | 6| o o o6 oo o6 o o o o o
Clamp up to 16/25 bar ® | 6|0 | o6 6|6 o6 66 o o o o
Legend: @ Available
MOTOR
Frequency 60 Hz
Phase Three Phase
P ti 0.37 + 18.5 kW
ower ratin,
Power 9 0.5+25HP
Source
220/380V +10% / -5% : up to 4.0 kW
Voltage 380/660 +10% / -5% : above 5.5 kW
460V + 10% : from 0.37 kW up to 18.5 kW
Type IC411 - TEFC
- from 0.37 kW up to 0.55 kW
Efficiency Level IE3 : for 0.75 kW and from 4.0 kW up to 11 kW
IE3*: from 1.1 kW up to 3.0 kW and above 15 kW
Type
yP No° of poles 2
X IP55: upto 11 kW
Protection degree
IP56 : above 15 kW
Insulation Class F (temperature rise class B)
Thermal Protection PTC sensor pre-installed for motors of 1.5 kW and above
Casing Material Aluminium
Others IMB14 : up to 4.0 kW
Flange mount (IEC motor)
IMB5: above 5.5 kW
Terminal Box fixing Unlosable screw and sealing from 0.75 kW to 18.5 kW

*: only for 460V

4

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS
EVMS(.)32-45-64-90

PUMP
Version EVMSG EVMS EVMSL
Nominal flow rate (m¥h ) 32 | 45 | 64 [ 90 | 32 | 45 | 64 | 90 [ 32 [ 45 [ 64 | w0
Operating Maximum working pressure 1.6/2.5/3.0/3.5MPa (16 /25/30/ 35 bar)
range Liquid temperature range -30°C to 140°C
q p 9 (please contact EBARA in case of -30°C to -15°C, or 120-140°C)
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4404 (AISI 316L) + PPS
Cast Iron EN GJL-250 EN 1561
] (for EVMSG32 and EVMS(G45-90 up to 16 bar)
Bottom casing Onst Iron EN GJS 400.15 EN 1563 EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
(for EVMSG45-90 above 16 bar)
Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EN 1.4301 (AISI 304) EVMSG / EVMS 32-45-64-90 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 32-45-64 (depend on models)
Key EN 1.4462 (AISI 329A) EVMSL 45-64-90 (depend on models)
Components | Shaft sleeve bearing Tungsten carbide
Material Shaft Seal see the shaft seal options
i EPDM [ J [ ] [ ] [ J [ J [ ] [ ] [ ] [ J [ ] [ ] [ J
-ring
FPM [ [ J [ J [ [ [ J [ J [ J [ [ J [ J [
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron EN GJS 400-15 EN 1563
Tie rod EN 1.4057 (AISI 431)
up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
Coupling from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
above 37 kW Carbon Steel
Base Cast Iron EN GJL200 EN 1561
Pipe Round flange (DIN) [ [ J [ ] [}
connection | | oyse round flange (DIN) (] [ ] [ ] [ ] (] [ ] [ ] [}
Legend: @ Available
MOTOR
Frequency 60 Hz
Phase Three Phase
P ti 3.0 + 45 kW
ower ratin:
el 9 4.0+60 HP
Source
220/380V +10% / -5% : up to 4.0 kW
Voltage 380/660 +10% / -5% : above 5.5 kW
460V + 10% : from 3.0 kW up to 45 kW
Type IC411 - TEFC
IE3 : from 4.0 kW up to 11 kW
Efficiency Level
IE3*: for 3.0 kW and above 15 kW
Type No° of poles 2
X IP55: upto 11 kW
Protection degree
IP56 : above 15 kW
Insulation Class F (temperature rise class B)
Thermal Protection PTC
. . Aluminium : up to 30 KW
Casing Material
Cast Iron : above 37 KW
Others
IMB14 : upto 4.0 kW
Flange mount (IEC motor)
IMB5: above 5.5 kW
Terminal Box fixing Unlosable screw and sealing from 3.0 kW to 45 kW

* only for 460V

5

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SHAFT SEAL

EVMS(.)1-3-5-10-15-20

1. Shaft Seal
d4 d4
e S
mul =S |1 mly = |l .
Hh 4 L | N L
- d3 H d3
2N TN ZER TN
0 d1 | d1 0
[ 0
_ 2 ‘ 2
1 s & 1
9 0 4 4
I | h ﬂ
up to 16 bar up to 25 bar
Cartridge Unbalanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Shaft seal type Shaft seal material
Max . -
Type key | Availability | operating ":2:‘,,‘;2?::',29 Cartridge T 2 3 4 °
DISSSUIS Type Code Ralaing Saits | PEEY | Grane | Ersimmes || @ | I | gt | @
part part spring
Q1BEG ® 16bar | -30°C to + 120°C | Unbalanced | (-) sic (@1) | carbon | (B) EPDM (E) AISI 316 (@)
BQIVG ® 16bar | -30°Cto+80°C | Unbalanced | (-) Carbon (B) sic | (@1) FPM V) AISI 316 (@)
HQ1BEG ° 25bar | -30°Cto+140°C | Balanced | (H) sic (Q1) | Carbon | (B) EPDM (E) AISI 316 (G)
HQ1BVG [ J 25 bar -30°C to + 80°C Balanced (H) SiC (Q1) | Carbon (B) FPM V) AISI 316 (G)
HQJQ1EG ) 25bar | -30°Cto+140°C | Balanced | (H) | SiC with graphite | (Qg) SiC @1) | EPDM (E) AISI 316 (G)
HQgQ1VG [ ] 25 bar -30°C to +80°C Balanced (H) | SiC with graphite | (Qg) SiC Q1) FPM V) AISI 316 (G)
® Available
Max operating d1 d2 d3 d4 |
Pump model Shaft seal type pressure [mm] fmm] fmm] frmm] mmi
Unbalanced 16 bar - 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 42.5
Unbalanced 16 bar - 37.5
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

6

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

1. Shaft Seal
a4 d4 d4
) & )
‘ = ‘ =
I , [ I
| d3 | d3
: | : |
- d1 3 Cd1
| b |
| 3 | 3
| 2 | 2
= ‘ — - ' d2
| 1 5 | 1
| d | B
‘ 4
| |
up to 16 bar up to 25 bar up to 35 bar
Cartridge Unbalanced type Cartridge Balanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Shaft seal type Shaft seal material
Max . X
Type key | Availability | operating ":::‘n;z:f:'r';g Cadoe T 2 g 4 g
DRESSLIE Type Code Relaing Code BizlEETy Code | Elastomers | Code Comprgssmn Collar | Code
part part spring
BQ1EG ) 16bar | -30°Cto +120°C | Unbalanced | (-) Carbon (B) SiC Q1 EPDM (E) AISI 316 (G)
BQ1VG ) 16 bar -30°Cto +80°C | Unbalanced | (-) Carbon (B) SiC Q1 FPM (V) AISI 316 (G)
HQ1BEG [} 25/35 bar | -30°C to + 140°C | Balanced (H) SiC (Q1 Carbon (B) EPDM (E) AISI 316 (G)
HQ1BVG ® 25/35bar | -30°Cto+80°C | Balanced | (H) sic (Q1) | carbon | (B) FPM v) AISI 316 (G)
HQgQ1EG [ ] 25/35 bar | -30°C to + 140°C | Balanced (H) | SiC with graphite | (Qg SiC Q1) EPDM (E) AlISI 316 (G)
HQgQ1VG [ ] 25/35 bar | -30°Cto +80°C Balanced (H) | SiC with graphite | (Qg SiC Q1) FPM v) AlISI 316 (G)
® Available
Max operating d1 d2 d3 d4 | 1
U GEELE] Shatiezllvpe pressure [mm] [mm] [mm] [mm] [mm] [mm]
Unbalanced 16 bar - 42.5
EVMS 32/45/64/90 Cartridge Balanced 25 bar 28 37 43 50
33 -
Balanced 35 bar

7

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

TYPE KEY
EVMS(.)1-3-5-10-15-20

[Evms] [ [ 5 ][ 2 ]]

ILFI[L6 1]

Phase motor
null = 3 phase

Motor in kW _ pag. 159

Code for rubber parts
V = FPM (Viton)
E = EPDM

4| Code for shaft seal materials _ pag. 6

Pole
Null = 2 pole

Frequency
6 =60 Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF = Loose round flange

V = Victaulic® connection
C = Clamp connection

Code for pump version

null = standard version

| Number of impellers

Flow rate [m3/h]

113[5[10]15]20

Code for model series
null = AISI 304 version

L = AISI 316L version
G = Cast Iron version

Example for pump without motor:

| Series name

Example for pump with motor:

EVMSS5 2F6Q1BEGE EVMSS5 2F6Q1BEGE/0.75
“TYPE” Pump model
r EBARA Pumps Europe S.p.A. “PIN* Pump item number
30003 G o ALy “Hmax” Maximum head
EaARA i HADE N TALY “Hmin” Minimum head
TYPE ‘Q Indicates upper and lower flow rate limits

& oW

Indicates head limits corresponding to minimum and maximum flow rate

8

Hmax m | Hrmin m ‘P2’ Rated power of the motor (output at shaft)
Q I/min | H m “HP” Rated power of the motor expressed in HP (Horse Power)
P2 kW | HP “Hz” Frequency
Hz min”! “min-1” Speed of rotation
e > Hyd. eff, 9 “MEI" Index of the pump’s quality in relation to its efficiency
“Hyd. Eff.” Hydraulic efficiency of the pump

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

TYPE KEY

EVMS(.)32-45-64-90

[Evvs| [ _J[as ][ 1 J[ - J[ 1 J[F][6]]

|[BQEG|[E |!_/ 1130 !l

Phase motor

null = 3 phase

Motor in kW _ pag. 159

Code for rubber parts
V = FPM (Viton)
E = EPDM

L | Code for shaft seal materials _ pag. 7

Pole
Null = 2 pole

| Frequency

|6 = 60 Hz

|Code for pipe connection

F = Round flange
LF = Loose round flange

| Number of reduced diameter impellers

o1112]3]

|Number of impellers

|Flow rate [m3/h]

|32145]64]90]

Code for model series
null = AISI 304 version

L = AISI 316L version
G = Cast Iron version

Example for pump without motor:

EVMS45 1-1F6BQIEGE

Via Campo Sportivo, 30

EBARA VAT 01284660221

EBARA Pumps Europe S.p.A.

WADE IN ITALY

Hmin

Q |/min

HP

min”

Hyd. eff.

| Series name

Example for pump with motor:
EVMS45 1-1F6BQ1EGE/3.0

NAMEPLATE
“TYPE” Pump model
“PIN®” Pump item number
“Hmax” Maximum head
“Hmin” Minimum head
‘Q” Indicates upper and lower flow rate limits
“H” Indicates head limits corresponding to minimum and maximum flow rate
‘P2” Rated power of the motor (output at shaft)
“HP” Rated power of the motor expressed in HP (Horse Power)
“Hz" Frequency
“min-1" Speed of rotation
“MEI” Index of the pump’s quality in relation to its efficiency
“Hyd. Eff.”  Hydraulic efficiency of the pump

9

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

VMS

PERFORMANCE RANGE

EVMS(.)1-3-5-10-15-20-32

-45-64-90

US.gpm 5 10 15 20 30 40 50 60 70 8090100 120140160180200 250 300 350 400 500 600 7o|o
| | | | | | | | |
| I I [ [ [ I [T T ITT T T TTT 1T T 11 [T
mp-g-p-m 5 10 15 20 30 40 50 60 70 8090100120 140160180200 250 300 350 400 500 600
40 — 400 1200
p H 1000 H
[MPa] 30 = [m] 300 — — Ift
—900
25 — 250 —s00
—700
20 — 200
—600
15 — 150 —| —500
12 — 120 — 400
1.0 o 100 —| —350
—300
08 — 80 —| 50
06 — 60 —| —200
05 — 50 —| 90
—150
04 — 40 -
03 — 30 — —100
—75
02 — 20 —|
015 — 15— —50
—40
01— 10—
0.09 — 9 — —30
008 — 8 25
007 — 7 —
0.06 — 6 — —20
005 — 5 -
004 — 4 —
0= O T T T T 1 R 1 1 T T 1T I 1 T 1
0910 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500 3000
Q[l/min]
| I I I | | ' T T TT1 I TTrTr 11 | 11 | [
0 1 15 2 3 4 5 6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150
Qmeh]
100
n
e 50 10 152032 45 64 90
60 —|
50 —| 1
40 —
30—
0 T I I I I I I 11 I | [ I T T T T 1 I I I
0910 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500 3000

10

Qiimin]

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

Performance curves are defined with the following rotation speed (nominal rotation speed of the motor):

- up to 18.5 kW: 3500 rpm

- from 22 kW up to 45 kW: 3550 rpm

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of v = 1 mm2/s
(1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection. consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating. the pumps should not be used at a flow rate below 10% of best efficiency
point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump
MEI - minimum efficiency index

@D2 - P2 with full diameter

@D.* - P2 with reduced diameter

11
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

12

SELECTION CHART

EVMS(.)1-3-5
. Q=Capacity
Pump Type Motor Maximum |
working [/min_ 0] 13 25 48 50 75 90 120 | 160
kW HP | Size | pressureé |m¥h 0| 0.8 15 | 29 | 30 | 45 | 54 | 7.2 9.6
Three phase (MPa) _ . )
H=Total manometric head in metres
EVMS(.)1 2/0.37 0.37 | 05 71 1.6 17.2 16.4 | 15 | 10.3 - - - - -
EVMS(.)1 3/0.37 0.37 | 0.5 71 1.6 258 | 246 | 225 | 155 - - - - -
EVMS(.)1 4/0.37 0.37 | 0.5 71 1.6 345 | 32.7 | 30.0 | 20.6 - - - - -
EVMS(.)1 5/0.37 0.37 | 0.5 71 1.6 43.1 409 | 37.5 | 254 - - - - -
EVMS(.)1 6/0.55 0.55 | 0.75 71 1.6 515 | 49.1 | 45 31 - - - - -
EVMS(.)1 7/0.55 0.55 | 0.75 71 1.6 60.5 | 57.5 | 52.5 | 36.1 - - - - -
EVMS(.)1 8/0.75 0.75 1 80 1.6 69 655 | 60 | 415 - - - - -
EVMS(.)1 9/0.75 0.75 1 80 1.6 775 | 735 | 67.5 | 46.5 - - - - -
EVMS(.)1 10/0.75 0.75 1 80 1.6 86 82 75 | 51.5 - - - - -
EVMS(.)1 11/1.1 1.1 1.5 80 1.6 94.5 90 | 825 | 57 - - - - -
EVMS(.)1 12/1.1 1.1 1.5 80 1.6 103 98 90 62 - - - - -
EVMS(.)1 13/1.1 1.1 1.5 80 1.6 112 106 | 97.5 | 67 - - - - -
EVMS(.)1 14/1.1 1.1 1.5 80 1.6 121 115 | 105 | 72.5 - - - - -
EVMS(.)1 16/1.5 1.5 2 90 1.6 138 131 | 120 | 82,5 - - - - -
EVMS(.)1 18/1.5 1.5 2 90 1.6 155 147 | 135 | 93 - - - - -
EVMS(.)1 20/1.5 1.5 2 90 2.5 172 164 | 150 | 103 - - - - -
EVMS(.)1 22/2.2 2.2 3 90 2.5 190 180 | 165 | 114 - - - - -
EVMS(.)1 24/2.2 2.2 3 90 2.5 207 196 | 180 | 124 - - - - -
EVMS(.)1 26/2.2 2.2 3 90 2.5 224 213 | 195 | 134 - - - - -
EVMS(.)1 27/2.2 2.2 3 90 25 233 221 | 202 | 139 - - - - -
EVMS(.)1 29/2.2 2.2 3 90 2.5 250 237 | 217 | 150 - - - - -
EVMS(.)3 2/0.37 0.37 | 05 71 1.6 21.4 - 205|189 | 18.7 | 155 | 12.4 - -
EVMS(.)3 3/0.55 0.55 | 0.75 71 1.6 32.1 - 30.7 | 28.3 | 28 | 23.3 | 18.6 - -
EVMS(.)3 4/0.75 0.75 1 80 1.6 43 - 41 | 377 | 374 | 31 | 248 - -
EVMS(.)3 5/0.75 0.75 1 80 1.6 53.5 - 51 47 | 46.5 | 38.8 | 31 - -
EVMS(.)3 6/1.1 1.1 1.5 80 1.6 64.5 - 615 | 56.5 | 56 | 46.5 | 37.2 - -
EVMS(.)3 7/1.1 1.1 1.5 80 1.6 75 - 715 | 66 | 655 | 54.5 | 43.5 - -
EVMS(.)3 8/1.5 1.5 2 90 1.6 85.5 - 82 | 755|745 | 62 | 495 - -
EVMS(.)3 9/1.5 1.5 2 90 1.6 96.5 - 92 85 84 69 56 - -
EVMS(.)3 10/1.5 1.5 2 90 1.6 107 - 102 | 945 | 935 | 775 | 62 - -
EVMS(.)3 11/2.2 2.2 3 90 1.6 118 - 113 | 104 | 103 | 85.5 | 68 - -
EVMS(.)3 12/2.2 2.2 3 90 1.6 129 - 123 | 113 | 112 | 93.0 | 74.5 - -
EVMS(.)3 13/2.2 2.2 3 90 1.6 139 - 133 | 123 | 122 | 101 | 80.5 - -
EVMS(.)3 14/2.2 2.2 3 90 1.6 150 - 143 | 132 | 131 | 109 | 86.5 - -
EVMS(.)3 15/3.0 3.0 4 100 1.6 161 - 154 | 142 | 140 | 116 93 - -
EVMS(.)3 16/3.0 3.0 4 100 2.5 172 - 164 | 151 | 150 | 124 99 - -
EVMS(.)3 17/3.0 3.0 4 100 2.5 182 - 174 | 160 | 159 | 132 | 105 - -
EVMS(.)3 19/3.0 3.0 4 100 2.5 204 - 195 | 179 | 178 | 147 | 118 - -
EVMS(.)3 20/3.0 3.0 4 100 2.5 214 - 205 | 189 | 187 | 155 | 124 - -
EVMS(.)3 21/4.0 4.0 5.5 112 2.5 225 - 215 | 198 | 196 | 163 | 130 - -
EVMS(.)3 22/4.0 4.0 5.5 112 2.5 236 - 225 | 208 | 206 | 171 | 136 - -
EVMS(.)3 23/4.0 4.0 5.5 112 2.5 247 - 235 | 217 | 215 | 178 | 143 - -
EVMS(.)5 2/0.75 0.75 1 80 1.6 27.6 - - - 26.1 | 246 | 234 | 204 | 14.6
EVMS(.)5 3/1.1 1.1 1.5 80 1.6 414 - - - 39.2 | 36.9 | 35.1 | 30.6 | 21.9
EVMS(.)5 4/1.5 1.5 2 90 1.6 55 - - - 52.5 | 49 47 | 40.5 | 29.3
EVMS(.)5 5/2.2 2.2 3 90 1.6 69 - - - 65.5 | 61.5 | 58 51 | 36.6
EVMS(.)5 6/2.2 2.2 3 90 1.6 83 - - - 785 | 74 70 61 44
EVMS(.)5 7/3.0 3.0 4 100 1.6 96.5 - - - 915 | 86 82 | 71.5| 51
EVMS(.)5 8/3.0 3.0 4 100 1.6 110 - - - 105 | 98.5 | 93.5 | 81.5 | 58.5
EVMS(.)5 9/3.0 3.0 4 100 1.6 124 - - - 118 | 111 105 | 915 | 66
EVMS(.)5 10/4.0 4.0 5.5 112 1.6 138 - - - 131 | 123 | 117 | 102 73
EVMS(.)5 11/4.0 4.0 5.5 112 1.6 152 - - - 144 | 135 | 129 | 112 | 80.5
EVMS(.)5 12/4.0 4.0 5.5 112 1.6 166 - - - 157 | 148 | 140 | 122 88
EVMS(.)5 13/5.5 55 7.5 132 2.5 179 - - - 170 | 160 | 152 | 132 95
EVMS(.)5 14/5.5 5.5 7.5 132 2.5 193 - - - 183 | 172 | 164 | 143 | 102
EVMS(.)5 15/5.5 5.5 7.5 132 2.5 207 - - - 196 | 185 | 175 | 153 | 110
EVMS(.)5 16/5.5 5.5 7.5 132 2.5 221 - - - 209 | 197 | 187 | 163 | 117
EVMS(.)5 17/7.5 7.5 10 132 2.5 235 - - - 222 | 209 | 199 | 173 | 124
EVMS(.)5 19/7.5 7.5 10 132 2.5 262 - - - 248 | 234 | 222 | 194 | 139

1.6 MPa=16 bair;

2.5 MPa=25 bar

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

SELECTION CHART

EVMS(.)10-15-20
) Q=Capacity
Pump Type Motor Maximum |
working [/min_ 0] 90 120 | 160 | 170 | 200 | 220 | 250 | 300 | 350 | 400 | 440 | 500 | 570
kw HP | Size | pressure im3h 0| 5.4 72 | 96 | 102 | 12.0 | 13.2 | 15.0 | 18.0 | 21.0 | 24.0 | 26.4 | 30.0 | 34.2
Three phase (MPa) B . ,
H=Total manometric head in metres
EVMS(.)10 1/0.75 0.75 1 80 1.6 16 156 | 15.3 | 14.4 | 141 13 [ 121|106 | 7.4 - - - - -
EVMS(.)10 2/1.5 1.5 2 90 1.6 32 31.1 | 30.7 | 289 | 28.2 | 26.1 | 24.3 | 21.1 | 14.8 - - - - -
EVMS(.)10 3/2.2 2.2 3 90 1.6 48 46.5 | 46 | 43.3 | 424 | 39.1 | 36.4 | 31.7 | 22.2 - - - - -
EVMS(.)10 4/3.0 3.0 4 100 1.6 64 62 | 615 | 58 | 56.5 | 52 | 485 | 42 | 296 - - - - -
EVMS(.)10 5/4.0 4.0 5.5 112 1.6 80 775|765 | 72 | 705 | 65 | 60.5| 525 | 37 - - - - -
EVMS(.)10 6/4.0 4.0 5.5 112 1.6 96 935 | 92 [ 865 |845| 78 73 | 63.5 | 445 - - - - -
EVMS(.)10 7/5.5 5.5 7.5 132 1.6 112 109 | 107 | 101 99 91 85 74 52 - - - - -
10 ([EVMS(.)10 8/5.5 5.5 7.5 132 1.6 128 125 | 123 | 115 | 113 | 104 | 97.1 | 845 | 59 - - - - -
EVMS(.)10 9/5.5 5.5 7.5 132 1.6 144 140 | 138 | 130 | 127 | 117 | 109 | 95 | 66.5 - - - - -
EVMS(.)10 10/7.5 7.5 10 132 1.6 160 156 | 153 | 144 | 141 | 130 | 121 | 106 | 74 - - - - -
EVMS(.)10 11/7.5 7.5 10 132 2.5 176 171 | 169 | 159 | 155 | 143 | 134 | 116 | 81.5 - - - - -
EVMS(.)10 12/7.5 7.5 10 132 2.5 192 187 | 184 | 173 | 170 | 156 | 146 | 127 | 89 - - - - -
EVMS(.)10 14/11 11 15 160 2.5 224 218 | 215 | 202 | 198 | 182 | 170 | 148 | 104 - - - - -
EVMS(.)10 15/11 11 15 160 2.5 240 233 | 230 | 216 | 219 | 195 | 182 | 158 | 111 - - - - -
EVMS(.)10 16/11 11 15 160 2.5 256 249 | 245 | 231 | 226 | 208 | 194 | 169 | 118 - - - - -
EVMS(.)15 1/1.5 1.5 2 90 1.6 21.7 - - - 19.1 | 184 | 18.0 | 174 | 158 | 142 | 121 | 9.9 - -
EVMS(.)15 2/3.0 3.0 4 100 1.6 43.6 - - - 40 | 39.1 | 38.6 | 379 | 36.5 | 34.7 | 31.7 | 28.2 - -
EVMS(.)15 3/5.5 5.5 7.5 132 1.6 65.4 - - - 60 | 58.5 | 58 57 | 545 | 52 | 47.5| 425 - -
EVMS(.)15 4/7.5 7.5 10 132 1.6 87 - - - 80.5| 785 | 78 76 73 69 | 63.5| 56.5 - -
EVMS(.)15 5/7.5 7.5 10 132 1.6 109 - - - 100 | 98 | 965 | 95 91 | 86.5 | 795|705 - -
15 EVMS(.)15 6/11 11 15 160 1.6 131 - - - 120 | 117 | 116 | 114 | 109 | 104 | 955 | 84.5 - -
EVMS(.)15 7/11 11 15 160 1.6 153 - - - 141 | 137 | 135 | 133 | 128 | 121 | 111 99 - -
EVMS(.)15 8/15 15 20 160 2.5 174 - - - 161 | 157 | 154 | 152 | 146 | 138 | 127 | 113 - -
EVMS(.)15 9/15 15 20 160 2.5 196 - - - 181 | 176 | 174 | 171 | 164 | 156 | 143 | 127 - -
EVMS(.)15 10 /15 15 20 160 2.5 218 - - - 201 | 196 | 193 | 190 | 182 | 173 | 159 | 141 - -
EVMS(.)15 11/18.5 18.5 25 160 2.5 240 - - - 221 | 215 | 212 | 208 | 201 | 190 | 175 | 155 - -
EVMS(.)15 12/18.5 18.5 25 160 2.5 262 - - - 241 | 235 | 232 | 227 | 219 | 208 | 190 | 169 - -
EVMS(.)20 1/2.2 2.2 3 90 1.6 25 - - - - - 20.7 | 20.0 | 18.7 | 16.9 | 149 | 13.1 | 95 | 4.3
EVMS(.)20 2/4.0 4.0 5.5 112 1.6 49.5 - - - - - 445 | 44 | 425 | 41 | 394 | 375 | 328 | 24.9
EVMS(.)20 3/7.5 7.5 10 132 1.6 74 - - - - - 67 | 655 | 64 | 615 | 59 56 49 | 37.3
EVMS(.)20 4/7.5 7.5 10 132 1.6 99 - - - - - 89.5 | 875 | 85 82 79 75 | 65.5 | 49.8
20 EVMS(.)20 5/11 11 15 160 1.6 124 - - - - - 112 | 110 | 106 | 103 | 98.5 | 93.5 | 82 62
EVMS(.)20 6/11 11 15 160 1.6 148 - - - - - 134 | 131 | 128 | 123 | 118 | 112 | 985 | 75
EVMS(.)20 7/15 15 20 160 2.5 173 - - - - - 156 | 153 | 149 | 144 | 138 | 131 | 115 87
EVMS(.)20 8/15 15 20 160 2.5 198 - - - - - 179 | 175 | 170 | 164 | 158 | 150 | 131 | 99.5
EVMS(.)20 9/18.5 18.5 25 160 2.5 223 - - - - - 201 | 197 | 191 | 185 | 177 | 169 | 148 | 112
EVMS(.)20 10/18.5 | 18.5 25 160 2.5 247 - - - - - 223 | 219 | 213 | 206 | 197 | 187 | 164 | 124
1.6 MPa=16 bair; 2.5 MPa=25 bar

13
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SELECTION CHART

EVMS(.)32-45
Maximum Q=Capacity
Pump Type Motor working |I/min 0| 300 450 600 700 800 950 1100 1200
kW  HP  Size | Pressuré | msjn 0| 18 27 36 42 48 57 66 72
Three phase (MPa) H=Total manometric head in meters
EVMS(.)32 1-1/3.0 3.0 4 100 1.6 25 20.7 18.9 16 13 9.7 - - -
EVMS(.)32 1-0/3.0 3.0 4 100 1.6 29.5 26.6 23.4 19.7 17 13.6 - - -
EVMS(.)32 2-2/5.5 5.5 7.5 132 1.6 50.5 43.5 39.9 34.3 29 22.5 - - -
EVMS(.)32 2-1/5.5 5.5 75 132 1.6 58 50.5 44.5 37.5 321 25.6 - - -
EVMS(.)32 2-0/7.5 7.5 10 132 1.6 63 56.5 49.5 42 36.3 29.6 - - -
EVMS(.)32 3-2/11 11 15 160 1.6 83 73 65 56 48 38.5 - - -
EVMS(.)32 3-0/11 11 15 160 1.6 92 84 74.5 63 55.5 45.5 - - -
EVMS(.)32 4-2/11 1 15 160 1.6 115 101 90 77.5 67 55 - - -
EVMS(.)32 4-0/15 15 20 160 1.6 122 112 100 85.5 74.5 61.5 - - -
32 EVMS(.)32 5-2/15 15 20 160 1.6 146 129 114 98 85 69 - - -
EVMS(.)32 5-0/15 15 20 160 1.6 153 139 124 107 94.5 79 - - -
EVMS(.)32 6-2/18.5 | 18.5 25 160 25 174 156 140 122 105 88 - - -
EVMS(.)32 6-0/18.5 18.5 25 160 25 185 169 148 127 M1 93 - - -
EVMS(.)32 7-2/22 22 30 180 2.5 212 191 170 146 128 106 - - -
EVMS(.)32 7-0/22 22 30 180 25 222 204 179 154 136 114 - - -
EVMS(.)32 8-2/22 22 30 180 25 240 220 197 171 151 127 - - -
EVMS(.)32 8-0/30 30 40 200 3.0 249 224 200 174 153 132 - - -
EVMS(.)32 9-2/30 30 40 200 3.0 276 252 221 191 167 140 - - -
EVMS(.)32 9-0/30 30 40 200 3.0 281 252 225 196 172 148 - - -
EVMS(.)32 10-0/30 30 40 200 3.0 312 280 251 218 192 165 - - -
EVMS(.)45 1-1/5.5 55 7.5 132 1.6 36.2 - 27.6 26.9 26 241 20.5 15.8 11.8
EVMS(.)45 1-0/7.5 7.5 10 132 1.6 41 - 36.1 33.5 32.4 30.8 27.7 23.9 20.7
EVMS(.)45 2-2/11 11 15 160 1.6 70.5 - 55.5 53.5 52 48 40.5 31.8 245
EVMS(.)45 2-1/11 " 15 160 1.6 75 - 63 60.5 59 55 48.5 39.9 34
EVMS(.)45 2-0/15 15 20 160 16 79.5 - 71 67.5 65.5 62 56 48.5 43
EVMS(.)45 3-2/15 15 20 160 1.6 108 - 91 87.5 84.5 80 70 57 46
EVMS(.)45 3-1/18.5 | 18.5 25 160 1.6 111 - 98 94.5 92 86.5 77 65 55.5
EVMS(.)45 3-0/18.5 18.5 25 160 1.6 112 - 105 101 99 95.5 87 75.5 65
EVMS(.)45 4-2/22 22 30 180 1.6 148 - 130 124 122 115 102 86.5 72
45 EVMS(.)45 4-1/30 30 40 200 1.6 153 - 137 132 128 122 110 95 81.5
EVMS(.)45 4-0/30 30 40 200 1.6 153 - 142 138 135 130 19 103 91
EVMS(.)45 5-2/30 30 40 200 25 188 - 165 159 155 148 132 112 95
EVMS(.)45 5-1/30 30 40 200 25 193 - 173 167 162 155 140 120 104
EVMS(.)45 5-0/37 37 50 200 25 191 - 177 173 169 163 149 129 113
EVMS(.)45 6-2/37 37 50 200 25 227 - 202 194 189 181 163 138 117
EVMS(.)45 6-1/37 37 50 200 25 230 - 209 201 197 189 171 148 129
EVMS(.)45 6-0/37 37 50 200 25 232 - 215 207 203 196 178 155 137
EVMS(.)45 7-2/45 45 60 225 35 264 - 234 228 222 213 191 162 139
EVMS(.)45 7-1/45 45 60 225 3.5 268 - 242 235 229 220 199 170 148
EVMS(.)45 7-0/45 45 60 225 3.5 268 - 249 241 236 228 208 182 160
1.6 MPa=16 bar; 2.5 MPa=25 bar; 3.0 MPa=30 bar; 3.5 MPa=35 bar

14
EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

SELECTION CHART

EVMS(.)64-90
Maximum Q=Capacity
Pump Type Motor working [I/min 0| 600 850 1100 1200 1500 1700 1800 2000 2100 2300
kW  HP  Size | PreSSUré | msn o 36 51 66 72 90 102 108 120 126 138
Three phase (MPa) H=Total manometric head in meters
EVMS(.)64 1-1/7.5 7.5 10 132 1.6 30,8 26,9 26,4 23 20,8 14,2 7,5 - - - -
EVMS(.)64 1-0/11 11 15 160 1.6 48,5 41,5 37,7 33,4 32,9 26,1 20,4 - - - -
EVMS(.)64 2-2/15 15 20 160 1.6 61 55,5 54,5 47,5 44 32 22,1 - - - -
EVMS(.)64 2-1/18.5 | 18.5 25 160 1.6 76,5 67,5 64 57 54 41,5 33,8 - - - -
EVMS(.)64 2-0/18.5 18,5 25 160 1.6 93,5 80 75 67 64 52 43 - - - -
EVMS(.)64 3-2/22 22 30 180 1.6 107 96 90 81,5 77,5 59,5 45,5 - - - -
64 EVMS(.)64 3-1/30 30 40 200 1.6 123 111 102 94,5 89,5 71,5 57,5 - - - -
EVMS(.)64 3-0/30 30 40 200 1.6 141 123 116 105 100 82 67,5 - - - -
EVMS(.)64 4-2/37 37 50 200 2.5 153 136 130 119 114 90 71,5 - - - -
EVMS(.)64 4-1/37 37 50 200 2.5 169 148 137 129 123 100 80,5 - - - -
EVMS(.)64 4-0/37 37 50 200 2.5 187 164 154 144 137 112 89,5 - - - -
EVMS(.)64 5-2/45 45 60 225 2.5 203 180 172 157 148 119 96,5 - - - -
EVMS(.)64 5-1/45 45 60 225 2.5 220 193 182 167 157 129 104 - - - -
EVMS(.)64 5-0/45 45 60 225 2.5 236 204 193 177 168 140 115 - - - -
EVMS(.)90 1-1/11 11 15 160 1.6 38.4 - 30.7 29.2 28.5 25.7 22.7 21 17.2 15.2 9.9
EVMS(.)90 1-0/15 15 20 160 1.6 50.5 - 41 37.5 35.9 32.2 30 28.5 25.3 23.7 14.5
EVMS(.)90 2-2/18.5 | 18.5 25 160 1.6 77 - 61.5 58.5 57 51.5 45.5 42 34.3 30.4 19.9
EVMS(.)90 2-1/22 22 30 180 1.6 91.5 - 73.5 69 66.5 60 55 51.5 445 41 29.3
90 [EVMS(.)90 2-0/30 30 40 200 1.6 99.5 - 85.5 80.5 78.5 72 67 64.5 59 55.5 48.5
EVMS(.)90 3-2/37 37 50 200 1.6 123 - 106 101 100 92 84 80 72 66.5 55.5
EVMS(.)90 3-1/37 37 50 200 1.6 139 - M7 110 108 98.5 91 86.5 77 71.5 62.5
EVMS(.)90 3-0/37 37 50 200 1.6 149 - 128 121 118 108 100 97 88.5 83.5 73
EVMS(.)90 4-2/45 45 60 225 2.5 173 - 149 142 139 127 117 112 101 94.5 80
1.6 MPa=16 bar; 2.5 MPa=25 bar

15
5 E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

US.gpm. 2 4 6 8 10 12 14
¢ | | | | | | |
0 I [ [ I | I
Imp.g.p.m. 2 4 6 8 10 12
280
— 900
P H H
[MPa] [m] [ft]
I~ —==29/22kw
247 0 = — 800
m==27/22kw_
= ——26/22kw_ =<
T — 700
_ [~ —=24/22xw
20 200 — m -
= =22/22kw_
== — 600
I~ = =20/1s5kw_
M 60
I~ —18/iskw | — 500
= ——16/15kw_ _
12 —
120 —==—14/11xw —— — 400
=—=13/11kw __N“
m——12/11w |
m——11/11aw | L 300
———10/o7skw _ _|__
08 80 — -+
=—=9/o7sww - _ _|_
===8fo7skw - _ | _
F—=7/0s5 kW = ——f— — 200
= —=6/055kW ~— | _
04— 40 == =Sfosthw - — —— b\q
R )  ‘ — 100
——=3/037kw - — — — — —
—_
———2/037kw - —— —— — —_
0—= 0 1 1 T 1 J 0
0 10 20 30 4 50 Qiminl
[ I I I I I [ |
0 05 1 15 2 25 3 Q[me/h]
0.10 60
P, n

[kw] [%]
0.08 — — 40
N% /
006 kW/stage —2

0.04 T T T T T 0
0 10 20 30 40 50 Qlimin]
NPSH ¢ NPSH
[m] 3 —10 [ft]
2 —
—5
1 -
0 | | | | l 0
0 10 20 30 40 50 Q[l/min]

Test standard: 1ISO 9906:2012 - Grade 3B

16
EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)1

Oval flange (N)
c
— e
2
o
RS
|
A | 3B
v
o
- 2 holes
- I
il -l
31| =L |
1_100_| 4 holes @12
149
160

M10

DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
4 holes @14
-
% - e &N
HI 3 = 5 - %%\t\ =
‘ 100 ‘ 18 4 holes @12 m’ @85
149 ‘ 180
250 210
DIN Round flange (F) - DN25 Clamp connection (C)
4 holes @14
= ol o
Itk {0 (<1
] i S R, (N 27
i = 1 ‘
100 16 4 holes @12 m’ @85 8‘ 4holes 012 |
149 ‘ 180 ‘ 0
250 210 —

Dimensions [mm] and Weights [Kg]

ovalfange LoogeroundTande (L) | Vietlcd comecton
Pump Type FNT:’; kW Size A 3~ H2 H2+H3 Vgﬁins:gt gvMUer:‘s:)hi H2 H2+H3 ngis‘gt :Yfr:ﬁ,hi H2  H2+H3 Vgﬁiragt x:ﬁ,hi
1} B c otor Motor Motor
EVMS(L)12/037 16 | 037 | 71 [ 105 [ 141 119 | 250 | 452 10 165 | 275 | 477 10.7 172 | 250 | 452 10 16.5
EVMS(L)13/037 16 | 037 | 71 [ 105 [ 141 119 | 271 | 473 10.5 170 | 296 | 498 1.2 177 | 271 | 473 10.4 16.9
EVMS(L)14/037 16 [ 037 | 71 | 105 | 141 119 | 292 | 494 10.9 174 | 317 | 519 11.6 18.1 202 | 494 10.8 17.3
EVMS(L)15/0.37 16 | 037 | 71 | 105 | 141 119 | 313 | 515 1.4 179 | 338 | 540 12 185 | 313 | 515 1.3 17.8
EVMS(L)16/055 1.6 | 055 | 71 | 105 | 141 119 | 334 | 536 11.8 188 | 359 | 561 12.4 194 | 334 | 536 1.7 18.7
EVMS(L)17/055 1.6 | 055 | 71 | 105 | 141 119 | 355 | 557 12,5 195 | 380 | 582 13.1 20.1 355 | 557 12.4 19.4
EVMS(L)18/0.75 16 [075| 80 | 120 | 141 102 | 386 | 619 12.9 214 | 411 | 644 136 221 386 | 619 12.8 21.3
EVMS(L)19/075 1.6 | 075 [ 80 | 120 | 141 102 | 407 | 640 13.3 218 | 432 | e65 14 225 | 407 | 640 13.3 21.8
EVMS(L)110/0.75 1.6 | 075 | 80 | 120 | 141 102 | 428 | 661 13.8 223 | 453 | 686 14.4 229 | 428 | e61 13.7 222
EVMS(L)1 11/1.1 16 | 11 | 80 | 120 | 141 102 | 449 | 693 14.2 242 | 474 | 718 14.9 249 | 449 | 693 14.1 24.1
EVMS(L)1 1211 16 | 1.1 | 80 | 120 | 141 102 | 470 | 714 146 246 | 495 | 739 15.3 253 | 470 | 714 14.6 24.6
EVMS(L)1131.1 16 | 1.1 | 80 | 120 | 141 102 | 491 | 735 15.3 253 | 516 | 760 16 260 | 491 | 735 15.3 253
EVMS(L)114/1.1 16 | 1.1 | 80 | 120 | 141 102 | 512 | 756 15.7 257 | 537 | 781 16.4 264 | 512 | 756 15.7 25.7
EVMS(L)116/1.5 16 | 1.5 [ 90 | 140 | 160 119 | 564 | 855 16.7 302 | 589 | 880 17.4 309 | 564 | 855 16.7 30.2
EVMS(L)118/1.5 16 | 1.5 [ 90 | 140 | 160 119 | 606 | 897 17.6 31.1 631 | 922 18.3 31.8 | 606 | 897 17.6 31.1
EVMS(L)1201.5 25 | 15 | 90 | 140 [ 160 119 | - - - - 673 | 964 19.2 327 | 648 | 939 18.5 32.0
EVMS(L)122/22 25 | 22 | 90 | 140 [ 160 119 | - - - - 715 | 1006 | 206 356 | 690 | 981 19.9 34.9
EVMS(L)124/22 25 | 22 | 90 | 140 [ 160 119 | - - - - 757 | 1048 | 216 366 | 732 | 1023 | 209 35.9
EVMS(L)126/22 25 | 22 | 90 | 140 [ 160 119 | - - - - 799 | 1090 | 225 375 | 774 | 1065 | 218 36.8
EVMS(L)127/22 25 | 22 | 90 | 140 [ 160 119 | - - - - 820 | 1111 23 380 | 795 | 1086 | 223 37.3
EVMS(L)129/22 25 | 22 | 90 | 140 [ 160 119 | - - - - 862 | 1153 | 23.9 389 | 837 | 1128 | 232 38.2
1.6 MPa=16 bar; 2.5 MPa=25 bar
- not available model
17

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMS(L)1

)

43-3
52-1
44-1
43-7

VIS4

18

IANNANNANVANN:

\

/

//;ﬁi

(AN

with Oval flange (N)

z\ﬁ\uﬂ\w—/l'

b

140

128-6
135-6
120-6

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)1

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

19

EBARA Pumps Europe

_—J=-T.ET

otice.

erves the right to make changes without prior n

EBARA Pumps Europe S.p.A. res



60 1 EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)1

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5| mpetorn el R e
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2129.54x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 211.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM 232.99x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 ISO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 I1SO 4762
120-11 Screw (counterflange) A2-70
MEC 71-80 M6x20 ISO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 90 M8x20 ISO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-5 Nut (tie rod) A2-70 M10 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

20

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)1

W222222222222222//////
N I I R I I I I I R I R I I D I R I R I A I Y
e Y Y N Y N N N [ [ [ N e (U (U [ () [ [
- b la|o]afo]a|alafaloalalofalo]alalalalalalalo
|||~~~ |~|~|~|~|[~|[~|+ ©
% mz22222222222222222222
e R e R e e e I e R R R I e I I I I I R
- Llajla|la|a|a|a|a|a|afafa|ajofo|oofo|o]ofo]o
P R R e e e e e e e e e R e e R e e e R R &
& ~|~[~|=
W23456789mﬂQﬂMmmmﬂM%ﬂw HEININIRIBIBIRIRIBIRI R R R A N -
- o
;7.v222222222222222222222 Nl |||~~~ |~~~ |~~~ [~~~ [~~~
~N
o3 (RS [N N (Y R Y N (N (UG NG I U [N (NN (U N U N NI (N Sl afo]ala|alo]alolaloa]afololalalalalalalolo
o~
Sl ||| |~]o]|a]a]|a|afo|afou]e Slelel=l=l=|=l=l=I=|=]==|=|=1<]=|=|=|=|~|+
B I N N N N N G I
€ Slclalalalalalalalaclelalelelclalalcl el
S [Py [ I U I RS R [ - -
S]]~~~ |~|=|=|=]|~|~]|+
Qlaja|a|a|a|a|a|a|a|oafoa|o|o|o oo fo]|o|ofo]o
Cla|lafa|afa|a|afafafajofajofofoalolofo]|o|ow
oNW444444444444444444444
bl Y U U Y (R O O 1 1 5 Sy ey iy iy
3 okl Rl ol ol ol Rl Rl el Rl Rl Al SR ICH CH ORI N DR ICH O i
~ wm444444444444444444444
“///////////1111111111 P
z
g (<<= || <|<|<| ==~ [=[=[=[<[=[<[<[<]<]<]< R R I N e R e e R I I e e I I M I
al-[-[-[-[-[-]-[-]=[=[|~]a]a]a|a]a]a]a]a]« zlel=l==|=l=[=|=|=[==|=[==|=l<]=|= |||~
o o
R Rl R Y I K =g ) o g ) ol R SE RN RS RSE S R R R e Q||| ||| ||| ||
Y Rl Rl Bl ol Il ol Il ol Il ol Il Il ol Bl Il Rl ol ol el ol w333333333333333333333
I e e e e e e e e R e e e e e e R M444444444444444444444
- Ol |N|[O|F|O|o|o|N|F|(OIN|D
N|o|t|w|o|~|o|o
] =|=[3|=|= MBI
Al o I S I e e e T I I I I I I I N I e
N I N N N N N R —
NIEARARIRARIRANIRARARARARARAR AR AR AR AR IR AR
o ||| ]|=|~]|~ ,M
Sl ||| T T T |||
) N [ [ ) [ G [ ) ) ) e =
M444444444444444/////l
%111111111112222222222 =
M444444444444444444444
Al=[=|a]|o|<|o]o|[~|o|a|2]|e|=|2]e|x|2]|5|a|z]g g
o e e ey o e e e [
IR N (Y N [N OSIY NEN  N I [ O R R R I ey g Sle|w|s|w|s|r|v|[s|v|| ||| ||| v|~]|~
© )
sislisislglglelel= =z e]e|o| o] sIsisislglgleleSloizzo]e|e|e|o|o|o oo
2lgigl1glélelslslel=lslisIsSs|sls|9le)ele|y crzeiz|ziglélsls|glE == ls|sIsislalg|d|d| g
o (22122122 (2|L|S|=s|d|s|F sz |S|(q|F|S x| o (2222222 |s|s|d|a|F|o|d|s|q|F|s x|
o |S|a|F|v|o|R|s|d|~ |||~~~ |N|q|q|q || 2 |Q|s|F|d|e|R|a|s|=|[=|< |||~ |~|Q|N|J|I|]|
_W. p=g By By Y N R BN B B e N N R R RN R N N R R s _W, pug =g b= 5 = =) [ = 5 =4 |5 =) [ =4 [ =4 (D) (D) |5 = (D =g [D=N) b=y [ ) (5. [ = [ = | =
a (222222222 22222222222 = o 2222222222 22222222222
3 DD DD DD 0| DD D DD D DD |D|D|B|D|D|D 3 sola|la|o|a|la|a|a|a|a|a|d|a|d|eala|lalalald
5 |22 (2[2|2|2|2|2|2|2(2|2|=2|2(2(2(2|2|12|2S uMMMMMMMMMMMMMMMMMMMMM
I - - -l I I e B I I Il Il P e e e I I I I I PVVVVVVVVVVVVVVVVVVVVV
L|L|L|b|L|D|D|L|D|D|L|b|D|L|D|o|L|D|o|d|D Lo |b|o|o|d|o|o|D|o|o|D|o|b|o|o|o|o|o|w

* only for Oval flange (N)

** only for Loose round flange (LF)

21

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

US.gpm. 2 4 6 8 10 12 14
¢ | | | | | | |
0 I [ [ I | I
Imp.g.p.m. 2 4 6 8 10 12
280
— 900
P H H
[MPa] [m] [ft]
I~ —==29/22kw
247 0 = — 800
m==27/22kw_
= ——26/22kw_ =<
T — 700
_ [~ —=24/22xw
20 200 | SN
= =22/22kw_
== — 600
I~ = =20/1s5kw_
[ T
I~ —18/iskw | — 500
= ——16/15kw_ _
12 —
120 —==—14/11xw —— — 400
=—=13/11kw __N“
m——12/11w |
m——11/11aw | L 300
———10/o7skw _ _|__
08 80 — -+
=—=9/o7sww - _ _|_
===8fo7skw - _ | _
F—=7/0s5 kW = ——f— — 200
= —=6/055kW ~— | _
04— 40 == =Sfosthw - — —— b\q
Y SO B N  ‘ — 100
——=3/037kw - — — — — —
—_
———2/037kw - —— —— — —_
0—= 0 1 1 T 1 J 0
0 10 20 30 4 50 Qiminl
[ I I I I I [ |
0 05 1 15 2 25 3 Q[me/h]
0.10 60
P, n

[kw] [%]
0.08 — — 40
N% /
006 kW/stage —2

0.04 T T T T T 0
0 10 20 30 40 50 Qlimin]
NPSH ¢ NPSH
[m] 3 —10 [ft]
2 —
—5
1 -
0 | | | | l 0
0 10 20 30 40 50 Q[l/min]

Test standard: 1ISO 9906:2012 - Grade 3B

22
EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 60 1z

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN25
c c
‘.74.}& | B
|
e ?
& &
& &
I |
A | | Gcas A | o
7 VR
- 2 holes M10 £ 4 holes @14
—
| \ “ G3B = = =aY
I, —r A At 7 o 5 G3B
< d : 5 e « gz 2 [ I
o f@eerit<lo - S8 N ]
8l ‘ : ‘ i H : o PRI =8 ABFAL
o
—% Aholes012 Bl s 100 18 4 holes 212 m 085 S
150 ‘ 210 149 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. . Weight . Weight
Pump Type Pmax| kw size A 3~ H2  H2+H3| Weight o | H2  H2+H3| Weight o 0,
[MPa] Pump Pump
@ B c Motor Motor
EVMSG1 2/0.37 16 |1 037 | 71 | 105 | 141 119 | 250 | 452 14.3 20.8 275 | 477 17.7 24.2
EVMSG1 3/0.37 16 | 037 | 71 | 105 | 141 119 | 271 | 473 14.7 21.2 296 | 498 18.1 24.6
EVMSG1 4/0.37 16 1037 | 71 | 105 | 141 119 | 292 | 494 15.1 21.6 317 | 519 18.5 25.0
EVMSG1 5/0.37 16 | 037 | 71 | 105 | 141 119 | 313 [ 515 15.6 22.1 338 | 540 19 255
EVMSG1 6/0.55 16 | 055 71 | 105 | 141 119 | 334 | 536 16 23.0 359 | 561 19.4 26.4
EVMSG1 7/0.55 16 | 055 71 | 105 | 141 119 | 355 | 557 16.7 23.7 380 | 582 20.1 27.1
EVMSG1 8/0.75 16 | 075 80 | 120 | 141 102 | 386 | 619 17.1 25.6 411 | 644 20.5 29.0
EVMSG1 9/0.75 16 | 075 | 80 | 120 | 141 102 | 407 | 640 17.6 26.1 432 | 665 21 29.5
EVMSG110/0.75 1.6 | 075 | 80 | 120 | 141 102 | 428 | 661 18 26.5 453 | 686 21.4 29.9
EVMSG1 11/1.1 16 | 1.1 | 80 | 120 | 141 102 | 449 | 693 18.4 28.4 474 | 718 21.8 31.8
EVMSG1 12/1.1 16 | 1.1 | 80 | 120 | 141 102 | 470 | 714 18.9 28.9 495 | 739 22.3 32.3
EVMSG1 13/1.1 16 | 1.1 | 80 | 120 | 141 102 | 491 | 735 19.6 29.6 516 | 760 23 33.0
EVMSG1 14/1.1 16 | 1.1 | 80 | 120 | 141 102 | 512 | 756 20 30.0 537 | 781 23.4 33.4
EVMSG1 16/1.5 16 | 1.5 | 90 | 140 | 160 119 | 564 | 855 21 34.5 589 | 880 24.4 37.9
EVMSG1 18/1.5 16 | 1.5 | 90 | 140 | 160 119 | 606 | 897 21.9 35.4 631 | 922 25.3 38.8
EVMSG1 20/1.5 25 [ 15 | 90 | 140 | 160 119 - - - - 673 | 964 26.2 39.7
EVMSG1 22/2.2 25 [ 22 | 90 | 140 | 160 119 - - - - 715 | 1006 | 27.6 426
EVMSG1 24/2.2 25 [ 22 | 90 | 140 | 160 119 - - - - 757 | 1048 | 286 436
EVMSG1 26/2.2 25 [ 22 | 90 | 140 | 160 119 - - - - 799 | 1090 [ 295 445
EVMSG1 27/2.2 25 [ 22 | 90 [ 140 | 160 119 - - - - 820 | 1111 30 45.0
EVMSG1 29/2.2 25 [ 22 | 90 [ 140 | 160 119 - - - - 862 | 1153 [ 309 459
1.6 MPa=16 bair; 2.5 MPa=25 bar

- not available model

23

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

43-3
52-1
44-1
43-7

120-11
117
219

24

SECTIONAL VIEW

EVMSG1

J/

EVMS

with Oval flange (N)

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

L[ N

|

oA\

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PIPE CONNECTION
EVMSG1

with Round flange (F)

25
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG1

N° PART NAME Mé;“Englé\L DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M8
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©129.54x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @32.99x2.62 OR 4175
"7 Flange gasket EPDM/ FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1SO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 1ISO 4762
120-11 Screw (counterflange) A2-70
120-13 | Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 1SO 4017
128-1 Nut (tie rod) A2-70 M10 ISO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) 210.5x21x2 I1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

26

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG1

M3 | 1114 | 115 | 1151 | 1164 | 1156

NN | N[N NN NN NN NN NN NN NN NN
L Rl Rl Rl ol o e R B I I I I Il o e e e e e
R Rl Bl el ol e e R B I I R I ol o e e e e e
R Bl Bl Rl Rl e e R R I I R I ol o o e e e e
RS o E il Bl Bl E Bl ol Bl Bl Il Al A E il Rl Al El I ol S st T[T
o~
5 o|lc|an|o|t|o|o|o|a|T|eol~|o
S|Njoftlwlo|~|o|o |2 (X 2|2 |F|R|S8|JR[S|R Llafafafa|a|afafa|o|o|o|ofo|ofofofofofofofo
AR RS AR R A R AR A S A R A & la|a|lalalalalajafalaloala|afo|oa|~<[<[~]~]~
o~
L3 [ RN [P [ ) [ U () ) S N B N S L I I I S s N
I e R e e e e e e e Il I R e e e I R I R N I
o~
POl R I I R IR I [ ey gy i e N T I S I I S I I A Y <
Q||| ||| ||| |||
N
R ||| |||~~~ ]|<]|+
[\ [ (N [ (S S e e e e S R N A N N I e e
o~
~
I e ol el e e I I Il e I I Il I I I e I I e
oI I I e I I I I I I IR I R IR I IR IR RS (P U [ [
<=3 IV [V IRV IOV IOV IV VN IV IRV IS ISURN ISV RSV IOV IOV ISV ISV IV SRV IRV IEN
la|a|afafa|a|ofofofa]afojofoiofo]o|oa|ofo|o
R e e e e e e e e e e R E N N R R R R R RN S —
e e e e e e e e e e I I I I e o R e R e
~ b
N el R e N N N N N N R e R R R R e e R
%444444444444444444444
M///1///1///1///////// s
Qe[| v|||T|| ||| |||
M111111111112222222222 > —
R R B R e B e R Rl e R Rl Rl B R R R R Rl R B
o
“|o|lw qlolo|g|x|n|e|o]|wn ~
3 Rl N RN N SN = I (ol Rl o2 Dl B RNE A RSN RSN R R R e )
o
Q||| ||| T |||
Y| v [~ ||~ |~~~ [~ |~~~ |~ |~ i
L|o|o|ofo|o|o|olo[ofo|o|o|ololofo]o|o|o|o|o
S|~~~ |=|~|=|=|~|~|~|~|~]|~ =~
M444444444444444444444
S|afo|t|w|lo|~|o|lo|2|c|N2IL22|QINJ8IKNIQ i
FNIRARARARARARARARARARARARARARAR AR AR AR AR AR AR
ol ol e e B I Rl R R I R I e ol I I I e a
2]
P IR IR S S S o U I o R o I o A I I o R B A I AR I
e e el ol el e o B I R R I I e B e e I I I e |
ol |||~~~
Sl [ESS (RS N [ [ QR UG [ (N U U N N I ]
S Rl Rl Il Rl R I IR IR R R R (PN IFNT ISV IV IV IRV IRV (RN (VR (Y M444444444444444444444
Y| ~|c|a|o|x|v|o|~|o|a|e|e|=(22|x2s23]8 ‘M444444444444444444444
-
sl N R (R IR () [ iy iy ) ) ) B R e e e e e SIEAEARARARARARARARARARARARARARARIRAR AR RERS
X
R Rl R R R I I [ (R [ iy G e N = R R e e e Slafafalaja|oa|o|ofofoafofofofo|o| | ~<[<[~[~
~ s Q v v NS N Y A P Y RN RN RV FNY PN PN PN
~s|wlw - |- ||| . R
PO R R A R Rt 0 I e Bl e i i B B 3 IO N B o |23 [8|8|RIR|S|c|S|c| <SS a|alaa]a
2 [lglglglg|e|glg|sS|=|ala|s|e|z|s|q|TF|o|s|a a [g|lg|glgelg|elg|e|sl=s|a|a|TF|o|z|(S|]d|F|le|=]|a
V.23456789M1QHMWW%H%%NN V,2345678W1ﬂ1111122%222
F | clelaslelalalel 2ol elelalalelals]a o olelalelalelelalelalslclslclslslclelals] =
[-RE VR OB RORROR NORROR OB NORRORRORRORRCR ROR RO ROR ROR OB NOR ROR NON NO] [ R NCREOR EOCR RO RCRRORROR ROR ROR NORNORNORNORNORRORROR NOR NOR NOR RO
£ ool |o|e|@|@|(a|2|2|Q|2|Q|2|2|R £ olo|lo|lo|a|a|a|o|o|e|e|o|ala|a|o|o|o|lo|la|ld
S (2222|2222 |=|=|s(=|=(2(=2|2s(2|2|2|=2|2S s [S|=|=|=|=(==|s|2|2|2|1=2|12|2(2(2|2|1=2|=2|=2|=
[ - P P P P I I ) ) I I I I I I P - I I a (SISI>I>=1==1=21=2=1=21=20=2220225555
[T TR TR TR T N A TR v vl vl vl vl T A R TR TR AT AT AT L|u|w|lo|o|o|L|b|b|b|L|L|L|b|b|L|L|o|w|w|w

* only for Oval flange (N)

27

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)3
o USgpm. f|> 1|0 1|5 2|0 2|5
g I I | I
Imp.g.p.m. 5 10 15 20
280
— 900
P H H
[MPa] [m] [f]
244 L I~ —23/a0kw__ 1 — 800
_‘*22/4.0kw_\\ \\
I~ ——21/a0kw__ \\\\
o s e S
20 g0 == =19/30kw - \\\ \
. i \% L 600
- ——16/0w._ | e \
67 160 = ——15/30W -———| “—'\\\ I \\
e T SN
==13/22kw. | __\\ \
===12/220w__ _ ‘\\\ \
i BPY T e— I — x — 400
F=—11/22w>__ __| T — \ N
e \
———10/15kw. _ \ \\
I —9/1.5 W ———— - \ %{ 300
— ~|\ —
0.8 — 80 -~ —8/usiw —— | e —— ‘\\\ ‘\\4
/L —— __ \\\\\:
-\
——6/11kw ——— __| —_ \\§ L 200
———5/075 kW — — — — _| | \\\
04— 10 === 0TI~ — — — [ — \>\\'\.
== =3/0sskw=———— —— — \: — 100
= —=2/037kw=——— — —— — S
0 - 0 0
0 20 40 60 80 QUimin]
[ I | | | [ | I I I I I 1
0 05 1 15 2 25 3 35 45 5 55 Q[m?h]
0.20 70
P, n
| L — |
016 / 50
ke J/”_—_—_
0.12 | | | 30
kW/stage
008 l 1 l | 0
0 20 40 60 80 Qlimin]
NPSH 4 NPSH
mo, - L M
? _// 5
1
0 0
0 20 40 60 80 Qlimin]
Test standard: 1ISO 9906:2012 - Grade 3B
28

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

TECHNICAL DATA
EVMS(L)3
Dimensional sketch
Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
c
4 holes @14
e A — @%\1&[
B} ? i i[,tg—g e 3 G 38
* el b ——1°|° |
T — AT
100 ‘ 18 4holes 912 ‘ 285 8‘
149 180
G38 250 ‘ 210
Va
DIN Round flange (F) - DN25
¢ 2 holes M10 4 holes @14
\ . )
1 f A= Tl o
9 _
R S A =S 3 2 a f~ig
=15 Ooly ] o= ® |
! = o — ‘ ; - ~i—
‘ 4 holes @12
4holes @12 ||| | 75 | 8‘ 100 16 4holes @12 285 SN
180 149 180
‘ 210 250 ‘ 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. Weigh ) Weigh ) Weigh
Pump Type m’ax kW Size A 3~ H2  H2+H3 Vgelght Pue,:f:,i H2  H2+H3 Vgelght Pue,:f:,i H2 H2+H3 Vi\alelght Pu?:ﬁ,:
[MPa] @ B c ump Motor ump Motor ump Motor

EVMS(L)3 2/0.37 16 | 037 | 7 105 | 141 119 | 250 452 9.9 16.4 275 477 10.6 171 250 452 9.8 16.3
EVMS(L)3 3/0.55 16 | 055 71 105 | 141 119 | 271 473 10.3 17.3 296 498 1" 18.0 271 473 10.3 17.3
EVMS(L)3 4/0.75 16 | 075 | 80 120 | 141 102 | 302 535 1" 19.5 327 560 1.6 201 302 535 10.9 19.4
EVMS(L)3 5/0.75 16 | 075 | 80 120 | 141 102 | 323 556 1.4 19.9 348 581 1241 20.6 323 556 1.3 19.8
EVMS(L)3 6/1.1 1.6 1.1 80 120 | 141 102 | 344 588 11.8 21.8 369 613 12,5 225 344 588 "7 21.7
EVMS(L)3 7/1.1 1.6 1.1 80 120 | 141 102 | 365 609 12.2 222 390 634 12.9 229 365 609 12.2 222
EVMS(L)3 8/1.5 16 1.5 90 140 | 160 119 | 396 687 12.7 26.2 421 712 13.3 26.8 396 687 12.6 26.1
EVMS(L)3 9/1.5 16 1.5 90 140 | 160 119 | 417 708 131 26.6 442 733 13.7 27.2 417 708 13 26.5
EVMS(L)3 10/1.5 1.6 1.5 90 140 | 160 119 | 438 729 135 27.0 463 754 14.2 21.7 438 729 13.4 26.9
EVMS(L)3 11/2.2 1.6 22 90 140 | 160 119 | 459 750 13.9 28.9 484 775 14.6 29.6 459 750 13.8 28.8
EVMS(L)3 12/2.2 16 22 90 140 | 160 119 | 480 771 14.3 29.3 505 796 14.9 29.9 480 771 14.2 29.2
EVMS(L)3 13/2.2 16 22 90 140 | 160 119 | 501 792 15 30.0 526 817 15.7 30.7 501 792 15 30.0
EVMS(L)3 14/2.2 1.6 22 90 140 | 160 119 | 522 813 15.4 30.4 547 838 16.1 311 522 813 15.4 30.4
EVMS(L)3 15/3.0 16 3.0 [ 100 | 160 [ 176 123 | 553 895 16.0 38.0 578 920 16.6 38.6 553 895 15.9 37.9

(

(

(

(

EVMS(L)3 16/3.0 2.5 3.0 100 160 | 176 123 - - - - 599 941 17.6 39.6 574 916 16.9 38.9
EVMS(L)317/3.0 25 | 3.0 | 100 | 160 | 176 123 | - - - - 620 | 962 | 18.1 401 | 595 | 937 | 173 39.3
EVMS(L)3 19/3.0 2.5 3.0 100 160 | 176 123 - - - - 662 1004 19 41.0 637 979 18.2 40.2
EVMS(L)3 20/3.0 2.5 3.0 100 160 | 176 123 - - - - 683 1025 19.4 41.4 658 1000 18.7 40.7
EVMS(L)3 21/4.0 2.5 4.0 112 160 | 193 138 - - - - 704 1068 19.9 48.4 679 1043 19.1 47.6
EVMS(L)3 22/4.0 2.5 4.0 112 160 | 193 138 - - - - 725 1089 20.3 48.8 700 1064 19.6 48.1
EVMS(L)323/40 25 | 40 | 112 | 160 [ 193 138 | - - - - 746 | 1110 | 208 493 | 721 [ 1085 | 20 485
1.6 MPa=16 bar; 2.5 MPa=25 bar

- not available model

29

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMS(L)3

140

128-6
135-6
120-6

43-3
52-1
44-1
43-7

VIS4
IANNANNANVANN:

\

30

/

//;ﬁi

(AN

with Oval flange (N)

z\ﬁ\uﬂ\w—/l'

b

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)3

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

31

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)3

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
| mparna N e 20 N i e
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM ©129.54x5.34 OR 6945
115-3 O-Ring EPDM/ FPM
115-4 O-Ring (cartridge sleeve) EPDM/ FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM ©32.99x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1ISO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 1SO 4762
120-11 | Screw (counterflange) A2-70
MEC 71-80 M6x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 90-100 M8x20 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-5 Nut (tie rod) A2-70 M10 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

32

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA




60Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)3

w22222222222222///////
6222222222222222222222
[rs)
e e e I I I e e I I R R I IR I R R I I I R I
5 4mm222222222222222222222
|||~~~ |||~~~ |~|~|~|~|[~|~|+ ©
@ m222222222222222222222
e R e e e e e I e e e e R e e I el I R R
-— %222222222222222222222
P e e e e e e e e ol el o e e e e e e e ol e &
=)
5 O|l=-|N|[™ LWl INOIO| T |N|® Sl N[N |[N[N] S~ [~~~
S|la|m|v|v|lol~|o|o2(Z[X2I(LR|2|5|2|IR[3|N|Q &
- o
RINIRIRARARARARARARARARARIRARARARIR AR AR R S e e e I o I I ol o I ol I Il Bl I e e e e
~N
Rl |=|=|=|=|=||=|=|=|=|=|=|=|=|~]|+ Slafafa|a]|a|ofalalalafafoajolofo]alalaloalala
o~
8- [-[=[-1=[=]= [ [~]~[~]]~] ]~ [~] ]~ MENE NN
o~
== [ [ [y NG N U Y (R U (IR T [ [ g [ U [ p——
Fo<JB [ [N [Py U G N R B I IR IR [ IR [ (Rl QNS N [y N G [
~
S]] |=|=|=|=|=|=|=|=|~]|~
A S R A e R B e B R A R A R A R R R R R
%222222222222222222222
m222222222222222222222
oNW444444444444444444444
P R e ™ S = e iy iy iy iy iy
3 ol Rl ol ol ol Rl Rl el Al Bl Rl SR D G GRS N DR ICH O i
~ wm444444444444444444444
“///////////1111111111 P
z
M Bl |s|v| ||| ||| T[T+
~ |~~~ ~[~[=|~]|~|~|=]|~|~|~]|~|~ e}
M111111111111111111111 AR R R R R R B R R R B A R R A B R R Bl R R
o - o
S| |oo|~eo| =225 2IS|R|NIQQ[S3|8(8[2 AR AR AR AR AR AR ARARARARARARARARAR AR AR AR AR AR
SRR A R R R R A B A A B A A A A A A R A Al s Slo|o|o|o|o|o|o|o|ololo|o|o|o|o|o|o|o|o|o|o
A e e e e e R R R e R R e e e e e e R e M444444444444444444444
- O|l-|N[O | |L|([OIMNOD|O|(=|N|®
N|O || O|O|N~|0| D
N B RSN R R R I R AR MR
A -0 (S [ [ () ) ) [ S O RS [ S (R S [N O [ ()
N I N N N S N N N N R —
NIEARIRARARARARARARARARARARARARARER AR AR AR AR
o ||| |=|=|=|=|=|=|=|=|=|=|=|~]|~ ,M
m444444444444444444444
) [ [P N Oy O R R ) N O I [ ey ey oy S
=
M44444444444444////l/l
%111111111112222222222 =
M444444444444444444444
B~ |v|o|r|e|o(~]|o|ao(2[2[=|N2I|C[=|2(2|R <=
eEeEEEnEccccEEEEEEEeEE R L EEEEEEEEEEEEEEEEEEE
IV N (Y N [ O R O R R T ™ I [ [y [y ey gy iy Slelw|v|w|s|v|s|v|x| ||| ||| s>~
NE-R vln|a|ala|ololalalalalale slglele HNNRINEEEEEEIEE
P e e i I Bl el I R RN BN N e e e e K S R S 2lEIslsz|zl 2|29 g|9eglg|e|e|e |22
¢ [ele|e|z|(z|Z|S|s|d|a|F|v|o|R|s|o|c|q| o o |o|9(g|9|z| |z |s|o|=s|g|a|TFT|v|S|IR|s|S|=|N|o
Q |d|s|F|B|S|IR|d|d|v|~|~|~|[~|~|-|~|~|q|n|N|N Q2 |d|lo|F|vw|s|R|d|d|~|~|~|~|~|~|~|~|~|q|la|&|&
S EARAEAEIEIEAEEA T A EA R B EAEA A R R A Y S EAEIEAEIEAEA T B B R EA A EA EA - B R Y
o (22222222222 (2222222222 o (2222222222222 2 (2222222
£ DD DD DD D |D|D|D|D|D|D|D|B|D|D|D|D|D|D £ slo|a|la|lo|a|la|ld|a|la|e|a|d|o|d|ag|o|alald|a
s (222|222 |2|2(2(2(=|12|12|=2=222=2|=2|2|2 S5 (SIS |1=2|12|1=2|12(2(2=2|2|=2|=2===]=
a (== 1=21=2=212121=21=2121=2=222==22222 2 PR S S N N B D I I = ) [ [ = ) ) S S B S D
L |L|L|D|o|D|D||D|D||D|o|L|b|o|d|D|o|d|o O|o|o|o|b|o|o|b|b|L|b|o|o|b|b|o|o|w|L|o|

* only for Oval flange (N)

** only for Loose round flange (LF)

33

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG3
o USgpm. f|> 1|0 1|5 2|0 2|5
! I I | I
Imp.g.p.m. 5 10 15 20
280
— 900
P H H
[MPa] [m] [f]
244 L I~ —23/a0kw__ 1 — 800
_‘*22/4.0kw_\\ \\
I~ ——21/a0kw__ \\\\
s s e S
2.0 — 200 = —=19/30kw ___ _ - \\\ \
e T \% | 600
- ——16/0w._ | e \
67 160 - ——15/30W ——| “-I\\\ N \\
——14/22w | - \\\ \ \ -
==13/22kw._ | __\\ \
===12/220w__ _ ‘\\\ \
i BPY T e— I — x — 400
F=—11/22xw>__ _ | T T Y N
——— ] \ \
———10/15kw.__ _
G - \ \ 300
— -
0.8 — 80 T~ —8/usiw —— | e —— ‘\\\ ‘\\4
=—=7/tw —— | __ \\'\\\\|'
F——6/11kw —— — _ _| —_ \\§ L 200
= ——5/075kw— —— | — \§\,
04— 40 = —4/075 kW — — — — — — \\\\\'\.
= ——=3/osskw=——— — —— — \: — 100
= —=2/037kw=——— — —— — S
0 - 0 0
0 20 4 60 80 QUimin]
[ I I | | I | I I I I I 1
0 05 1 15 2 25 3 35 45 5 55 Q[m?h]
0.20 70
P, n
[0 | | | | %l
016 / 50
n% J/_’/_—_—_-
0.12 | | | 30
kW/stage
008 l 1 l | 0
0 20 40 60 80 Qimin]
NPSH ¢ NPSH
mo, _— Lo M
? _// 5
1
0 0
0 20 4 60 80 Qlimin]
Test standard: 1ISO 9906:2012 - Grade 3B
34

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

TECHNICAL DATA
EVMSG3
Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN25
c c
o e
* g ‘ - N
A i
| |
A G38 A | ca
A \ﬁ | o
e 2 holes M10 g 4 holes 014
[ (.
T 2L
j ‘ G3B = F — :
e P =
‘ ‘ Y ?H’ 2[ H = H r:ﬂ’\;/
'%» 4 holes 012 '1%50» & ‘ ﬁg ‘ 18 4 holes @12 m ?gg <
160 A0 250 ‘ 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Pump Type Pmax| kw size A 3~ H2  H2+H3| Weight ,‘,’!,e"i,%hi H2  H2+H3| Weight Q,"l’,?,‘,*},"i
[MPa] Pump Motor Pump Motor
o B C

EVMSG3 2/0.37 16 | 037 | 71 105 | 141 119 | 250 452 123 18.8 275 477 15.7 222
EVMSG3 3/0.55 16 | 055 71 105 (141 119 | 271 473 127 19.7 296 498 16.1 23.1
EVMSG3 4/0.75 16 | 075 | 80 120 | 141 102 | 302 535 13.4 219 327 560 16.8 253
EVMSG3 5/0.75 16 | 075 | 80 120 | 141 102 | 323 556 13.8 223 348 581 17.2 25.7

EVMSG3 6/1.1 16 1.1 80 120 | 141 102 | 344 588 14.2 242 369 613 17.6 276
EVMSG3 7/1.1 1.6 1.1 80 120 141 102 | 365 609 14.6 24.6 390 634 18 28.0
EVMSG3 8/1.5 1.6 1.5 90 140 | 160 119 | 396 687 15 28.5 421 712 18.4 31.9
EVMSG3 9/1.5 16 1.5 90 140 | 160 119 | 417 708 15.5 29.0 442 733 18.9 324

EVMSG3 10/1.5 16 1.5 90 140 | 160 119 | 438 729 15.9 294 463 754 19.3 32.8
EVMSG3 11/2.2 1.6 22 90 140 [ 160 119 | 459 750 16.3 31.3 484 775 19.7 34.7
EVMSG3 12/2.2 1.6 22 90 140 | 160 119 | 480 771 16.6 316 505 796 20 35.0
EVMSG3 13/2.2 16 22 90 140 | 160 119 | 501 792 17.4 324 526 817 20.8 35.8
EVMSG3 14/2.2 16 22 90 140 | 160 119 | 522 813 17.8 32.8 547 838 21.2 36.2
EVMSG3 15/3.0 1.6 3.0 | 100 | 160 | 176 123 [ 553 895 18.3 40.3 578 920 21.7 43.7

EVMSG3 16/3.0 2.5 3.0 100 160 | 176 123 - - - - 599 941 22.7 44.7
EVMSG3 17/3.0 2.5 3.0 100 160 | 176 123 - - - - 620 962 23.2 45.2
EVMSG3 19/3.0 25 | 30 [ 100 | 160 [ 176 123 | - - - - 662 | 1004 | 24.1 46.1
EVMSG3 20/3.0 2.5 3.0 100 160 | 176 123 - - - - 683 1025 24.5 46.5
EVMSG3 21/4.0 2.5 4.0 12 160 | 193 138 - - - - 704 1068 25 53.5
EVMSG3 22/4.0 2.5 4.0 12 160 | 193 138 - - - - 725 1089 25.4 53.9
EVMSG3 23/4.0 2.5 4.0 112 160 | 193 138 - - - - 746 1110 25.9 54.4
1.6 MPa=16 bair; 2.5 MPa=25 bar

- not available model

35

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG3

245

~
130-2 I
%i Y S 212
130-1 7
i 75
120-3 -
! 111-4
128-1 \ JQ 120-13

/

//;ﬁi

i 5-4
\\\ 7

\

\

s - 52
52-1 >3

31

44-1 L
N 1 L

437 g 21
I 5-1
- 107

S Z 75-1
6 gi 273-1
48 - 212-1
120-11 )
117
219
with Oval flange (N)
36
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PIPE CONNECTION
EVMSG3

with Round flange (F)

37
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG3

N° PART NAME Mé;ﬁg'é" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M8
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM /FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©2129.54x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM /FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @32.99x2.62 OR 4175
17 Flange gasket EPDM/FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1SO 4762
120-6 Screw (pump coupling) Galvanized steel M6x25 1ISO 4762
120-11 Screw (counterflange) A2-70
120-13 | Screw for motor MEC 71-80 Galvanized steel 8.8 strength class 1ISO 898/1 M6x20 IS0 4017
MEC 90-100 M8x20 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 210.5x21x2 1ISO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

38

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG3

M3 | 1114 | 115 | 1151 | 1164 | 1156

NN | N[N NN NN NN NN NN N NN oo
Ll Rl R e e e e e e I I I ol o e el e I e e
R R R e R e e e e e B R R R R B R R B
I R R I R e e e e b R R B R B R R R
R I I [ (RS [ ) ) ) ) () e e R e e R
Sl 2|27 |]|
S|la|o|tfv|o|~|o|lo|2s|ye|T(ele(>223(8R =
Llafafafa|a|a|afa|oa|oa|o|oaloaloafoaloalofofololo
O TS| [T T T ||| T
MZ2222222222222///////
L e e I R e R e I I I e I el e e I e I I e
QqN
e e I I I I I I I Il I I I I I I I I R I I
O R IR [ (R [ ) i ) ) N I I R I I I I T R Y N
Sl fsfs|s|s|| ||| ||| |||
=3 R I (R [E [ [y [ [y [ R QU IR (R (R (R [ [y S [ &
o~
N e e e e R R R e B B R B R R R R B R R R B
I e e e ol e I R I I e e I Bl e e ol e I e I
R e e e e e e e R e e e e e e e e e e e
S IV [V IRV IOV IOV IV VN IV IRV IR ISUR ISV RSV IOV IOV ISV IV IV SRV (R SV I
PO— la|a|afafa|ajaloafoafa]alajofofofa]o|a]ofo|o
Z 3| o e e e e e f e
. o e R e e R e e e e I I e I e e R I I R R
R e el R e N N N N N N R e R R R R e R R 2
m %444444444444444444444
~|~[~|=~[=|=|=|~|~[~|<|~|~|~|~|~|~|<]|~|~= <
Qe[| w|x||v|s||v|r|| |||
M111111111111111111111 s L
p—
o P I el IR B B I I e I I R I I I R IR R R I I
“|o|lw qly|o|le|a|t|o|lo|o »
|||~ E |22 52K |RIN|I8XS|F |38 =
o
< QI ]|
Rl Rl Il R R Bl Il I I I e I IRl I I Il I B I I bl
-— w333333333333333333333
bl Rl el I R Il I R I I R e I Bl o e ol e I e e e}
Sla|o|s|olo|~n|o|lale|z|alelz|elel=l2|g|s|al M444444444444444444444
S pay g R e e R S
P gllel<|<]<||<]<]<]<||<]<]<]<|<]<]<]<]<]|+
]
e e el ol ol e o B R R R I I e B e e I I I e SARARARARARARARARARARARARARIRARARIRARARARAR
Sl [ES (RS S N [ [ QR U [ (R U U N N I M44444444444444////l//
Ll |a|la|laaaa]a]a]oa]o M444444444444444444444
S|~ |~|o|st|w|o|~|o|o|2|2|=|¥|2|T QI [(®2|2( M444444444444444444444
S e o I I IR IR [ [ (R N ey e B Rl Bl B R R R IR AR AR AR AR AR AR AR AR AR R AR AR AR AR AR AR AR AR
R e e Rl R e e e e e s I I Iy e I Il [ IS (R [y Slaflalajafalala|ofoafofo|ofofo| <[ ~[~[~]|~[~]|~
5l8lele RN NN EEEEEEE 5l8lele IRNRNIRIRNEIE R R EEEE
I P et e il B R B RN RN P A e e e ) g e g |glglsls|clc|eld|s|Y|glg|dlg|g|e|g|els||S
2 (22|29 ||z |o|s|q|a|F|v|o|R|s|S|=|q|® e |[2e|l2|egl|S(Z|S|o|s|a|s|F|v|o|R|a|S|=|8| s
> |N|a|Fo|o|R|s|s|<-|F|-|[<|[F|[~||-|-|q|8|a|w > |[S|s|F|(v|c|R|s|s|=|[F|~ <[] ||~ |Q|[~|N|a
Fololololo|lololololololo|olo|olololololololo F o lo|lolololololo|/olo|lo|o|[o|lo|o|o|lo|o|o|e|o|o
- EOREOR RO RO NOR RO RO NOR NG RORRGRROCE RO ROR O RORROR NOR RORROR NO] - EOREOR O RORNOR O ROR NOR NORRORNOR NORRORRORNOR RORRORNOR RORROR NO]
£ QD222 (2|22 [(2|Q|D|[2|R|2[(2|Q|2|2|2|2|D2 £ 2R AR A R R R A R R A R A R R R A R R A R A R A R A R A R A R A K2R R ]
S (22122122222 |=|s|=|=(2(=2|2s(2|2|2|=2|2S S (22|22 |12|2(2|12|1=2(=|1=2|12 22|22 2|=2
a |[=2(=21=21=21=1=1=21=21=2> == =222 [ I S I I = = - I - I = I I B I I I I - e
[T TR TR W T T e v e e e e e T T T TR R T TR L |L|L|Dh|o|b|bh|o|L|b|w|L|Db|L|DL|Dh|L|DL|D|o|D

* only for Oval flange (N)

39

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

P2
[kw]

NPSH
[m]

40

0
I
0 I

280

PERFORMANCE CURVE
EVMS(L)5

Imp.g.p.m. 5

[m]

240 —

200 —

160 —

120 —

8/3.0kw
_______ 7/3.0kw
——————— 6/22kw
““““““ 5/22kw
——————— 4/15kw
——————— 3/11kw

——————— 2/0.75 kw

— 900

— 800

— 700

— 600

— 500

— 400

— 300

— 200

— 100

| 1 T 0
Q[l/min]

0.44

& —

1
Qmeh]

0.36 —

0.28 —

n%

kw/stage
1

[%]

—

[
40

60 80

=
S
=)
S

Q[l/min]

2 NPSH

Iff

100 120 140 1

=)
S

Q[l/min]

Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS 60

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMS(L)5

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN32 Victaulic® connection (V)
c
4 holes @18
——f¢& e }Q}L;\']QL
< == F— — —_ G3/8
e [ =S [S|2 O
£ e s |
& H - o —
@
100 20 4holes @12 2100 5
149 180
A 250 210
DIN Round flange (F) - DN32
g 4 holes 918
—— S\
g | ‘ | — &‘ /§1Q G3/8
T i
- . G38 m:, I i I E% Vo
3] i ! '\I - _ s 1J
100 4 holes @12 ‘CTL 75 2‘ ‘ 100 19 4holes mz‘ 2100 8‘
149 180 149 180
160 | ‘ 210 250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. . Weight . Weight . Weight
Pump Type Pmax| kw size A 3~ H2  H2+H3| Weight o o | H2  H2+H3| Weight o o | H2  H2+H3| Weight o o0
[MPa] Pump Pump Pump
Motor Motor Motor
] B c
EVMS(L)5 2/0.75 16 [ 075 | 80 | 120 | 141 102 | 274 | 507 9.8 18.3 299 | 532 10.8 19.3 274 | 507 9.7 18.2
EVMS(L)5 3/1.1 16 | 1.1 | 80 | 120 | 141 102 | 302 | 546 10.2 20.2 327 | 571 1.3 21.3 302 | 546 10.2 20.2
EVMS(L)5 4/1.5 16 | 1.5 | 90 | 140 | 160 119 | 340 | 631 1 245 365 | 656 12 26 340 | 631 10.9 24.4
EVMS(L)5 5/2.2 16 | 22 | 90 | 140 | 160 119 | 368 | 659 11.4 26.4 393 | 684 12,5 275 368 | 659 1.4 26.4
EVMS(L)5 6/2.2 16 | 22 | 90 | 140 | 160 119 | 396 | 687 11.9 26.9 421 712 12.9 27.9 396 | 687 11.8 26.8
EVMS(L)5 7/3.0 16 | 3.0 | 100 | 160 | 176 123 | 434 | 776 12.7 34.7 459 | 801 13.7 35.7 434 | 776 12.6 34.6
EVMS(L)5 8/3.0 16 | 3.0 | 100 | 160 | 176 123 | 462 | 804 13 35.0 487 | 829 14 36.0 462 | 804 12.9 34.9
EVMS(L)5 9/3.0 16 | 3.0 | 100 | 160 | 176 123 | 490 | 832 13.4 35.4 515 | 857 14.5 36.5 490 | 832 13.4 35.4
EVMS(L)5 10/4.0 16 | 40 | 112 | 160 | 193 138 | 518 | 882 13.9 42.4 543 | 907 15 435 518 | 882 13.9 424
EVMS(L)5 11/4.0 16 | 40 | 112 | 160 | 193 138 | 546 | 910 14.7 43.2 571 935 15.7 44.2 546 | 910 14.6 43.1
EVMS(L)5 12/4.0 16 | 40 | 112 | 160 | 193 138 | 574 | 938 15.8 443 599 | 963 16.8 453 574 | 938 15.7 442
EVMS(L)5 13/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 721 | 1120 | 23.9 62.9 696 | 1095 | 22.8 61.8
EVMS(L)5 14/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 749 | 1148 | 244 63 724 | 1123 | 233 62.3
EVMS(L)5 15/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 777 | 1176 | 24.9 63.9 752 | 1151 23.8 62.8
EVMS(L)5 16/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 805 | 1204 | 255 64.5 780 | 1179 | 24.4 63.4
EVMS(L)5 17/7.5 25 | 75 | 132 | 300 | 220 152 - - - - 833 | 1252 | 26.1 72.1 808 | 1227 | 25.0 71.0
EVMS(L)5 19/7.5 25 | 75 | 132 | 300 | 220 152 - - - - 889 | 1308 27 73.0 864 | 1283 | 259 71.9
1.6 MPa=16 bar; 2.5 MPa=25 bar
- not available model

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMS(L)5
140
128-6
Xé 135-6
39-1 120-6
162 A
131-1 N
130-2 x 9 B 212
3 = 75
130-1 Y ~
120-3 111-4
‘ 120-13
128-1 JQ ] 111-3
135-1 =2 115-5
2122 \ o 111-5
11
115-4 46
M50 — ) L 47
120-1 154
43— || N T 7
33— || [T —————s5=2
43-4 A [ 53
521 ————————— 1< T 441
43-5 . 31
137-1 \ //://— 21
p— |
6 R L 107
115-3 I 273-1
120-11 75-1
219 212-1
T~ 160
128-5
/
with Oval flange (N)
42
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SRS /{
(&=

X

.l\ 7N
««\\ﬁ\\\

2

5 <
TR

w

z2

oS

(ST

L

o

o

with Round flange (F)
with Clamp connection (C)

with Loose round flange (LF)
with Victaulic® connection (V)

43

EBARA Pumps Europe

_—J=-T.ET

otice.

erves the right to make changes without prior n

EBARA Pumps Europe S.p.A. res



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)5

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
| mostrna N | BNl e o
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2129.54x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 211.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM 232.99x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 1ISO 4762
. up to 4.0 kW . M6x25 I1SO 4762
120-6 Screw (pump coupling) Galvanized steel
above 5.5 kW M8x20 I1SO 4762
120-11 Screw (counterflange) A2-70
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 I1SO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut (tie rod) A2-70 M10 ISO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
128-5 Nut (tie rod) A2-70 M10 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 ISO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
, up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

44

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)5

Bla|alalala|a|alala|a]|al<{<[<|<<|<
W lafafafafoa|oa|o|o|o|o|ofofofo]o]|o]o
M11111111111111111 O lafafafofoafoafofofofofo|o|o|ofofofo
~ ©
< -
s~~~ |~[~|~|~|[~|~|~|~ m22222222222222222
g R O O e =y ey
p= Llo|afa|afa|afofafo|ofafa]ofofoafo]a
ElI070 0 lalalaflalalalalalalafo|~[~[~]~]~]~
&
IS o|lc|n|mo wlo|~|o
Slalo[v|w|o|~|lolo|2s|N(2I|2|e|x|2 Q
N
:7.v22222222222222222 -
oo foafoafoafoafofofo|o|o|ofofofo
~N
ey [FS [y U RN R A R = E R ™ T I [y gy
N N R
— &
R A e A A A A A A R RIS
R R e e e e e e e e e e e e e e e
=20 [ [ [ [ [ [ N [ N [ N [N Y U G U
I e el e e e e e e e e e e e e e
[ [N (N R N Y Y [ [ R 0 T [y [y [ [y [
flo|a|afa|aflala|a|o|ofofo]o]o]|ofofo
Qlala|a|a|a|lafa|a|afo|o|o|o|o|o|o|o
o PO NN R Y | U O (N U (N U U P
NW44444444444444444 e}
W11111111122222222 W44444444444444444
M/1//1//1//1//1/// S QB v|v|v||v|v| ||| ||| |||~
m12112111122223222 AR R R Rl B B B B B B R R B R R R R
e IR NI &
Al el e 2 CARARARARARARARAR AR AR AR AR AR AR AR AR AR
o
. N S R A e N S R B B A R BN B R B -<
Q|- A B A A A R R R R N B Slo|o|o|o|o|o|olofo|ololo|o(o|fo|o|o
N e e e e e e B R R R R B B e Rl B
& M44444444444444444
|l |<|=|<|=|<|=l<l<|<T-]< -
i FIRARARAR AR AR ARAR AR AR AR AR AR AR AR AR AR
s|afol|o|o[~|o]|oe|z|a|e|z]|e]e]x]e
M///////////444444
[ R B I IR e B I I I I I IR I IR IR I =
FIRARARARARARARIRARARAR AR AR AR AR AR AR
e I R e Rl B B I B I IR I I I I IR I Al
el
EIRARARARANARARARARARARAR IR IR AR AREN
Il =]=]=|<|<|=|=|=]|]|~]|~]|]|~ s
=
M44444444444//////
Bl |v|v||~|a]|a|n|e )
Q<] |alol<|o|o|~|o|o|o|a]c|x|e|z|e M44444444444444444
ey e ey e o e e - B B B
JEPRR N (U (U (U (U NI NI N N NI I U - SIEARAR AR AR AR AR AR AR IR AR AR ARIR AR AR AR
0 o|lala|v|ula|v|v|n '3 o|lala|v|ulv|v|v|n
i g e D N e el e e S A S =R 3 R NS BN P I i DN NS e e e S e S A A T T3 R N
g |19 |Q|e|Q|S|T|d|a|F|w|o|=]|s 2 1291912 |12|12|g|s|a|o|f|v|s|=x|o
2 |Q|d|F|v|S|R|[d|d|~|~|~|~|~|=|~|~|+ 2 [d|a|F|o|s|R|S|S|IS|E|SIS(IT[(2]L8[=F]2
[ =N =Y - -3 A=Y R4 =Y Rv-4 N3 NN -4 Y %Y JT-Y RN P-4 "3 N =N =Y - - VY RN e P-4 Y- -4 JTY BN -4 T-Y %Y -4 1=}
a (2222222222222 222|2 o (22|22 (2222222222222
S (2|2 == =R =3 = = = = (b= b= [ (b= I3 [ [ I3 =) [ I3 b=
a (== 1=21=2=212121=22121=2=22120=2022 [~ = I I I I I I I D I I I I I I I
L|u|L|Db|o|D|D|o|L|D|L|DL|D|u|D|o|d L |L|lL|D|D|o|o|Db|o|b|Db|o|L|D|L|D|D

* only for Oval flange (N)

** only for Loose round flange (LF)

=[] shaftin EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.54)

45

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

P2
[kw]

NPSH

46

0
I
0

280

U.S.g.p.m. ‘|5

PERFORMANCE CURVE
EVMSG5

I
Imp.g.p.m. 5

[m]

240 —

200 —

160 —

120 —

—————— 8/3.0kw
_______ 7/3.0kw
——————— 6/22kw
““““““ 5/22kw
——————— 4/15kw
——————— 3/11kw

——————— 2/0.75 kw

— 900

— 800

— 700

— 600

— 500

— 400

— 300

— 200

— 100

| 1 T T 0
120 QQimin]

0.44

& —

1
Qmeh]

0.36 —

0.28 —

0.20

kW/stage _—
!

n%

0

6

[
40

60 80

=
S
=)
S

Q[l/min]

\

et
6 100

120 140 1

=)
S

Q[l/min]

Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

= EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN32
c c
e e
2 e
ES ES
< <
| |
A | 3B A | | cas
2 2 holes M10 s 4 holes @18
[0 2l E
- EH qu s ; l‘@'ﬂ « [ A T | CDIPREEL
ol e~ oot s g ‘
o ee=l 400 J HPOHEREE (el
o
‘-%— “‘LMHL o 100 2 4 holes 012 ‘H o100 || &
160 ‘ 210 149 180
250 ‘ 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. . Weight . Weight
Pump Type Pmax| kw size A 3~ H2  H2+H3| Weight o | H2  H2+H3| Weight p 0,
[MPa] Pump Pump
1} B c Motor Motor
EVMSGS5 2/0.75 16 | 075 | 80 | 120 | 141 102 | 274 | 507 10.9 19.4 299 | 532 15.9 24.4
EVMSGS5 3/1.1 16 | 1.1 | 80 | 120 | 141 102 | 302 | 546 11.4 21.4 327 | 571 16.4 26.4
EVMSG5 4/1.5 16 | 1.5 | 90 | 140 | 160 119 | 340 | 631 12.1 25.6 365 | 656 17.1 30.6
EVMSGS5 5/2.2 16 | 22 | 90 | 140 | 160 119 | 368 | 659 12.6 27.6 393 | 684 17.6 32.6
EVMSGS5 6/2.2 16 | 22 | 90 | 140 | 160 119 | 396 | 687 13.1 28.1 421 | 712 18.1 33.1
EVMSGS5 7/3.0 16 | 3.0 | 100 | 160 | 176 123 | 434 | 776 13.8 35.8 459 | 801 18.8 40.8
EVMSGS5 8/3.0 16 | 3.0 | 100 | 160 | 176 123 | 462 | 804 14.1 36.1 487 | 829 19.1 411
EVMSG5 9/3.0 16 | 3.0 | 100 | 160 | 176 123 | 490 | 832 14.6 36.6 515 | 857 19.6 416
EVMSG5 10/4.0 16 | 40 | 112 | 160 | 193 138 | 518 | 882 15.1 43.6 543 | 907 20.1 48.6
EVMSG5 11/4.0 16 | 40 | 112 | 160 | 193 138 | 546 | 910 15.8 44.3 571 | 935 20.8 49.3
EVMSG5 12/4.0 16 | 40 | 112 | 160 | 193 138 | 574 | 938 16.9 454 599 | 963 21.9 50.4
EVMSG5 13/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 721 | 1120 29 68.0
EVMSGS5 14/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 749 | 1148 | 295 68.5
EVMSGS5 15/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 777 | 1176 30 69.0
EVMSGS5 16/5.5 25 | 55 | 132 | 300 | 220 152 - - - - 805 | 1204 | 306 69.6
EVMSG5 17/7.5 25 [ 75 | 132 | 300 | 220 152 - - - - 833 | 1252 [ 312 772
EVMSG5 19/7.5 25 [ 75 | 132 | 300 | 220 152 - - - - 889 | 1308 [ 321 78.1

1.6 MPa=16 bar;

- not available model

2.5 MPa=25 bar

47

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMSG5

140
128-6
ﬁ&/ 135-6
32-1 120-6
162 s A
131-1 = N
130-2 x | _ 212
130-1 Y < — 7
120-3 111-4
245 ! 120-13
128-1 /‘Q - 111-3
135-1 2] 115-5
o )
2122 \ o / 111-5
4 111
115-4 46
1151 —— |\ 47
120-1 T 54
432 —— ||| N &;_‘\ 7
433 — ||| T————— 52
& ————
52 ——————— X T 441
43-5 . 31
137-1 \ sl 21
48 NN are 5-1
6 N ” 107
17 7 751
120-11 273-1
219 é o 212-1
with Oval flange (N)
48
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PIPE CONNECTION
EVMSG5

with Round flange (F)

49
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG5

N° PART NAME MQJ:;EIQL DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M8
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM/ FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM @129.54x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM @11.91x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM ©32.99x2.62 OR 4175
17 Flange gasket EPDM / FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M10
120-3 Screw (seal flange) A2-70 M4x10 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6 Screw (pump coupling) Galvanized steel
above 5.5 kW M8x20 I1SO 4762
120-11 Screw (counterflange) A2-70
MEC 71-80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 I1SO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut (tie rod) A2-70 M10 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 1ISO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 I1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @10.5x21x2 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
X up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G 3/8
212-1 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

50

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG5

W lafafafofo|oa|a|o|o|o|ofofofo]o]|o]o
©
e e R e R e e e e e e e e e I I N
|||l l=|=|=]<]|]]|~]+ s
p= S s ||| ||| | |||~
N
(R R S R e S S T T s e e
= Llo|a|a|a|a|a|a|ofoafoafofofolo]|o]o]o
|||l |=|<]|]|~ =
Sloja|a|ja|alala|afofofoaf~~~|~|~|~
Slafot|v|o|~|olo|2s(¥T|2e|x|2 o
Q||| l=l=l=|=]|=]|<|~]|<]|<
— &N
G sirlssv|v ||| |T||T|[v[v]~ =
(ST e e I B e I e I B e I I I T T
I
O |||~ ]|]|~]|~
N e e e o o e o e o S S R
— ~
N R e A A A A A A RIRIRI RIS
P e e e e e e e e e e e e e e e
== [ [ [ [ [ [ N [ N ) [E ) [y [y g
la|la|a|a|afala|o|o|ofofo]o|o]|ofofo
S R e o o B R Rl 0 S R RS (R [ I
U (U (R U | U U (U (U (N U N U U (U U ()
F<=2 IV IV IOV QU QUM NN IR IV IRV I VAN VAN IV RGN ISV QNN IV IS o]
°NW11111111122222222 ,wm44444444444444444
M/1//1//1//1//1/// Gl |w|[v|w|s|v| ||| ||| |||~
m12112111122223222 S s |~~~
B IR oo &
Al Il B N CARARARARARARARAR AR AR AR AR AR AR AR AR AR
o c|olv[~r|~rlolc|olvn|o|on <
A S R A A N S A S N I R R I Rk Sleo|o|o|o|o|o|olofo|ololo|olo|fo|o|o
%11111111111111111
M44444444444444444
(o<l ]=l<l<|<]<|<|<]<]<T=]< =
hatd K~~~ ~|~[~|~|~[~|~|~[x|<|>|x|~|~
slafo|t|o|o|~elole|z|a|e|z]e]e|x]|e -
FIRARAR AR AR AR AR AR AR AR AR AR AR AR AR AR AR
[N I e Rl S e I R I I I I I R R I e =
m44444444444444444
LR e R R R e e R I I I R e R R e e =
M44444444444//////
o RS [N Y O O N NN (U Y ) O O [ ) g 8
M44444444444444444
Bl |~|v|~|||a]|a|n|e =
Q<] |alol<|o|o|~|o|o|o|e]|x|e|z|e M44444444444444444
2= == [~ [~ === [- [~ ]| - gl l<[<l<[<|<|<|<]=|]<|<|<]=]~]<|~
N R e R B B R R B B R B B R e B B B Sla|lafala|lafalafofa|o|o |~ ~]~[~]|~
R olele|w|w|ln|v|v|wv 9 elele|w|w|lw|v|w|wY
o [g|Z|2laldlg|glslZl=IZ|g|elele|lz|s R =t i3 NS DN B e e I el S T A A e N N
2 (2|99 |Q(Q|Q|o|s|d|o|Sf|v|lo|=|s 2 122|919 |1Q|1Q2|1Q|g|s|a|o|f|v|s|R|S
N BN IS Bl Sl B L Bl N Bl Bl Bl Bl el el Dl Dl DN > |Q|a|F|v|S|R|d|S|v|~|~|<|=|=|[=|=]|+
F lo|lo|lv|lv|lvw|lvwlv|w|lvw|lv|lw|lw|lw|lw|w|wv|wv L wlvlvlvlwlvvv|v|v|lww|[w(w|w|wv|w
[~ RORROR NOURROR NOR NORROR OB NURROR OB NOR RORROR NOR NORRO] [~ RO ROR RO NOR RORROR NORRORNOR NURROR NOR NORROR NOR NUR RO)
£ DNID[D|D[D[RD[AD|D|D[D|D|D[(D|D|D|N|ND 13 DND[AD[AD|D[AD[AD|D[D[RD]|D[D|R|D[D|NV|ND
S (2222|2222 |12|12|=2(=(=22 =R = =3 = I = (b= [N = (b= I3 [ [ I3 = (b= I3 b=
a (== 1=21=2=21=2121=21=2121=2=22120=2022 a |[=21=21=2=21=221=2121=21=212121=2021202102
L|L|L|L|o|o|b|b|b|b|u|L|Lb|o|D|D|D U|L|o|D|D|Db|L|b|D|o|o|D|D|D|D|D|D

* only for Oval flange (N)

=[] shaftin EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.54)

51

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMS(L)10

o USgpm 10 20 30 40 50 60 70 80 90
1 | | | | | | | | |
0 I I I [ | I [
Imp.g.p.m. 10 20 30 40 50 60 70
280
— 900
P H H
[MPa] m = ——16/11kw [ft]

247 240 ——— 15/ W= -
F——14/uwo |
— 700
2071 p00
F—=12/rsw.
— 600
F==11/7siw. |
167 160 ——— 10/75 kW= =————
— 500
F—=9/sskw—— | _ |
=——8/sskw— — | _
12— 120 - -

=== 7/55kW— ——|

——6/a0kW— — —|— . _ _
— 300

08 7 80 ———— 5/a0kW=—r=—t=— =
- ——4/30kW—— —|——~ — L 200

F—=3l22Ww—————F =+ —— —
0.4 — 40 —
F—=2/1siw— = = — — 100
R 1/0]5 PP sy  ‘
—
0= o | | | | | | 0
50 100 150 200 250 300 Qiimin]
[ T I I I I I I I I |
0 2 4 6 8 10 12 14 16 18 Q[me/h]
12 80
P, n
kW] (%]
0.8 L 60
n%
04 kw/stage |40
0 1 T 1 T | | 0
0 50 100 150 200 250 300 Qiimin]
NPSH 6 2 NpSH
m o, _—— )
/ —10
2
0 T T T T T T 0
0 50 100 150 200 250 300 Qpiimin]

Test standard: ISO 9906:2012 - Grade 3B

52
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)10

H3

¢ &

H2

80

G3/8

=i

to

12

Oval flange (N)

2 holes M12

4 holes 212 ﬁy

‘ 250

DIN Loose round flange (LF) - DN40 Victaulic® connection (V)
4 holes 318
| |re—— Ry
e e FeTeTe |2 -”\’j\q 68
g | D el G N2
c ) S
‘ 130 20 4holes 912 TT 2110 8[
190 215
280 250
DIN Round flange (F) - DN40
4 holes 218
L 1] py
g l [ ——— ’31% G3l8
<« [ <=2l % E «|%
it 7 _ =~ ,jJ T
130 18 4holes @12 ﬂ 2110 a[ Anoes 912
190 215
280 250

Dimensions [mm] and Weights [Kg]

ol fange (4 ST | Vg corneeton
Pump Type [F’er';aa? KW Size A 3~ H2 H2+H3 ngig';t ,‘,’Y,en',g:,hf_ H2 H2+H3 V":lzirs:gt :Y,en'f:,h: H2 H2+H3 VF\’lﬁirgI;t ,‘,’Yﬁ:f:,hi
17} B c Motor Motor Motor
EVMS(L)101/0.75 1.6 | 0.75 [ 80 | 120 | 141 102 | 343 | 576 19.7 28.2 343 | 576 20.7 29.2 343 | 576 19.6 28.1
EVMS(L)102/1.5 16 [ 1.5 | 90 | 140 | 160 119 | 353 | 644 19.8 33.3 353 | 644 20.9 34.4 353 | 644 19.8 33.3
EVMS(L)103/22 16 | 22 | 90 | 140 | 160 119 | 383 | 674 20.7 35.7 383 | 674 21.7 36.7 383 | 674 20.7 357
EVMS(L)104/30 16 | 3.0 | 100 | 160 | 1776 123 | 423 | 765 217 437 | 423 | 765 22.7 447 423 | 765 21.6 43.6
EVMS(L)105/40 16 | 40 | 112 [ 160 | 193 138 | 453 | 817 225 51.0 | 453 | 817 235 52.0 453 | 817 225 51.0
EVMS(L)106/40 16 | 40 | 112 | 160 | 193 138 | 483 | 847 23.3 51.8 | 483 | 847 24.4 52.9 483 | 847 23.3 51.8
EVMS(L)107/55 16 | 55 | 132 | 300 [ 220 152 | 611 | 1010 | 31.2 70.2 611 | 1010 | 32.3 71.3 611 | 1010 | 31.2 70.2
EVMS(L)108/55 16 | 55 | 132 | 300 [ 220 152 | 641 | 1040 | 324 71.4 641 | 1040 | 335 725 641 | 1040 | 324 714
EVMS(L)109/55 16 | 55 [ 132 [ 300 | 220 152 | 671 | 1070 | 333 723 671 | 1070 | 343 733 671 | 1070 | 332 72.2
EVMS(L)1010/7.5 16 | 7.5 [ 132 | 300 [ 220 152 [ 701 | 1120 | 34.1 80.1 701 | 1120 | 351 81.1 701 | 1120 | 34.1 80.1
EVMS(L)1011/7.5 25 | 7.5 | 132 | 300 | 220 152 - - - - 731 | 1150 | 36.8 82.8 731 | 1150 | 357 81.7
EVMS(L)1012/75 25 | 75 | 132 | 300 | 220 152 - - - - 761 | 1180 | 37.7 83.7 761 | 1180 | 36.6 82.6
EVMS(L)1014/11 25 | 11 | 160 | 350 [ 259 180 [ - - - - 851 | 1201 | 477 1102 | 851 | 1291 | 466 109.1
EVMS(L)1015/11 25 [ 11 | 160 | 350 | 259 180 - - - - 881 | 1321 | 486 1111 | 881 | 1321 | 476 110.1
EVMS(L)1016/11 25 | 11 | 160 | 350 | 259 180 - - - - 911 | 1351 | 495 1120 | 911 | 1351 | 485 111.0
1.6 MPa=16 bar; 2.5 MPa=25 bar
- not available model
53

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMS(L)10
NEmEL
A= N
140

O
32-1
162 — o
131-1
130-2
130-1
120-3 h
245 olf
128-1
135-1
2122
46
PO
RN 47
154 — | || f//
5-4
115-1
7
120-1
52
432 — | || T
N |53
43-3 B
T 44
52-1 L
s
137-1 — Q
~— . —
a8 — 7~
—ht— 31
6 — Al
\ J 21
5-1
T 107
273-1
75-1
& 212-1
T~ 160

with Round flange (F)
54

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)10

with Loose round flange (LF)
with Clamp connection (C)

with Oval flange (N)

with Victaulic® connection (V)

55

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)10

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
4 | mpelernut = it o ineert = it o insert w10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM /FPM 215.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
MEC 90-100-112 ) M8x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 : M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut (tie rod) A2-70 M12 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1ISO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) D13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

56

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)10

N°

M3 [ 1114 | 1115 | 1161 | 11537 1154 | 1155| 1156

m

107

75 | 7541

521

8

47

45* | 46

N°

162 | 212 | 21241 | 2122 | 219* | 245 | 2731 [615*

160

140

321|432 | 433 | 436 | 441

3

2

7

52 | 53 | 54

"

12
13

51

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

120-1(120-3 | 1206 |120-11*(12013| 128-1| 1283 | 1285 | 1286 | 130-1 | 130-2 | 131-1 | 1351 [ 1356 | 137-1

4
4

4
4

4

4
4
4
4
4
4

Pump Type

EVMS(L)10 1/0.75

EVMS(L)10 2/1.5

EVMS(L)10 3/2.2

EVMS(L)10 4/3.0

EVMS(L)10 5/4.0

EVMS(L)10 6/4.0

EVMS(L)10 7/5.5

EVMS(L)10 8/5.5

EVMS(L)10 9/5.5

EVMS(L)10 10/7.5

EVMS(L)10 11/7.5

EVMS(L)10 12/7.5

EVMS(L)10 14/11

EVMS(L)10 15/11

EVMS(L)10 16/11

Pump Type

10 1/0.75
102/1.5

10 3/12.2

10 4/3.0

10 5/4.0
10 6/4.0
10 7/5.5
10 8/5.5

10 9/5.5

10 10/7.5
10 11/7.5
1012/7.5
10 14/11
10 15/11
10 16/11

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L
EVMS|
EVMS|
EVMS|
EVMS|
EVMS|
EVMS|

* only for Oval flange (N)

** only for Loose round flange (LF)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

57

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMSG10

o USgpm 10 20 30 40 50 60 70 80 90
1 | | | | | | | | |
0 I I I [ | I [
Imp.g.p.m. 10 20 30 40 50 60 70
280
— 900
P H H
[MPa] m = ——16/11kw [ft]

247 240 ——— 15/ W= -
F——14/uwo |
— 700
2071 p00
F—=12/rsw.
— 600
F==11/7siw. |
167 160 ——— 10/75 kW= =————
— 500
F—=9/sskw—— | _ |
=——8/sskw— — | _
12— 120 - -

=== 7/55kW— ——|

——6/a0kW— — —|— . _ _
— 300

08 7 80 ———— 5/a0kW=—r=—t=— =
- ——4/30kW—— —|——~ — L 200

F—=3l22Ww—————F =+ —— —
0.4 — 40 —
F—=2/1siw— = = — — 100
R 1/0]5 PP sy  ‘
—
0= o | | | | | | 0
50 100 150 200 250 300 Qiimin]
[ T I I I I I I I I |
0 2 4 6 8 10 12 14 16 18 Q[me/h]
12 80
P, n
kW] (%]
0.8 L 60
n%
04 kw/stage |40
0 1 T 1 T | | 0
0 50 100 150 200 250 300 Qiimin]
NPSH 6 2 NpSH
m o, _—— )
/ —10
2
0 T T T T T T 0
0 50 100 150 200 250 300 Qpiimin]

Test standard: ISO 9906:2012 - Grade 3B

58
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN40
c c
e e
e ?
& N
& A
| |
A | 3B A | | G
s 2 holes M12 Ps 4 holes 218
i G386 5 S
= e A = 1 lo G38
* flooli=: - ~tHiseli=gEE 4foh
g LBELIE—= ‘ o IPPIHIE=REE i
‘ 138 ‘ 4holes 912 H, ,;%} ] 130 20 4 holes 812 ‘ ‘ 2110 <
200 ‘ 950 190 215
280 ‘ 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. . Weight . Weight
Pump Type Pmax| kw size A 3~ H2  H2+H3| Weight o | H2  H2+H3| Weight o
[MPa] Pump M Pump
@ B c otor Motor
EVMSG101/0.75 1.6 | 075 | 80 | 120 | 141 102 | 343 [ 576 20.3 28.8 343 | 576 24.1 32.6
EVMSG102/1.5 16 | 1.5 | 90 | 140 | 160 119 | 353 | 644 20.5 34.0 353 | 644 24.3 37.8
EVMSG10 3/2.2 16 | 22 | 90 | 140 | 160 119 | 383 | 674 214 36.4 383 | 674 25.2 40.2
EVMSG10 4/3.0 16 | 3.0 | 100 | 160 | 176 123 | 423 | 765 22.3 44.3 423 | 765 26.1 48.1
EVMSG10 5/4.0 16 | 40 | 112 | 160 | 193 138 | 453 [ 817 23.2 51.7 453 | 817 27 55.5
EVMSG10 6/4.0 16 | 40 | 112 | 160 | 193 138 | 483 | 847 24 52.5 483 | 847 27.8 56.3
EVMSG10 7/5.5 16 | 55 | 132 | 300 | 220 152 | 611 [ 1010 [ 31.9 70.9 611 | 1010 | 35.7 74.7
EVMSG10 8/5.5 16 | 55 | 132 | 300 | 220 152 | 641 | 1040 | 33.1 721 641 | 1040 [ 36.9 75.9
EVMSG10 9/5.5 16 | 55 [ 132 | 300 [ 220 152 | 671 | 1070 | 33.9 72.9 671 | 1070 | 377 76.7
EVMSG1010/7.5 16 | 7.5 | 132 | 300 | 220 152 | 701 | 1120 | 34.8 80.8 701 | 1120 [ 386 84.6
EVMSG1011/7.5 25 | 7.5 | 132 | 300 | 220 152 - - - - 731 | 1150 | 40.2 86.2
EVMSG1012/75 25 | 7.5 | 132 | 300 | 220 152 - - - - 761 | 1180 [ 4141 87.1
EVMSG10 14/11 25 [ 11 | 160 | 350 | 259 180 - - - - 851 | 1291 51.1 113.6
EVMSG10 15/11 25 | 11 | 160 | 350 | 259 180 - - - - 881 | 1321 52.1 114.6
EVMSG10 16/11 25 | 11 | 160 | 350 | 259 180 - - - - 911 | 1351 53 115.5

1.6 MPa=16

bar; 2.5 MPa=25 bar

- not available model

59

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG10

/\/% ora
i
140
o
32-1
162 — 5
131-1 212
130-2 75
130-1
120-3
e
245 A
o
128-1
135-1
212-2
46
N 47
1154 —— | [ 0
= L 5.4
115-1
J B I R
120-1
. 52
32— | ||| T 1]
- R
433 I
T 44
52-1 ]

31

21

5-1

107
75-1

@ 2731

S 21241

137-1 \\ ‘\] Q

4— g\\
I

6\ |

(NN V)

with Round flange (F)
60

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PIPE CONNECTION
EVMSG10

117
120-11
219

with Oval flange (N)

61
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG10

N° PART NAME Mé\;;';lél‘ DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM @164.46x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 215.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
17 Flange gasket EPDM/FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kw to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
MEC 90-100-112 . M8x20 1SO 4017
120-13 Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 I1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel w2 IS0 4032
MEC 160 M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 I1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel 25x35 1ISO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 6
137-1 Impeller spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G3/8
212-1 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

62

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG10

M3 | 1114 | 1115 | 1151 [ 1154 | 1155 | 1155

ajafa|afafoa|ofofo]ofofo|ofofo

A E A E A A R IR A A R I I n.444444444444444
N

AR AR A A A AN A R AR AN AN R Llojafafa|a|aja|oa|oa|ofofoafoafofo

B e e e e e I I I e &

MRIRIRIRIRIRIRI R R R T  a
o o e R I I IR IR IR R IR IR ) [ =

P S (Y (N [ N N O O U U (U () () ()
~ o~
S| r|an|o|v|v|o|~o|lo|2(s|N|T|RC —

[T I T B e I B I I e I e I I T
~ o~
ERARARARARIRERARARER AR AR AR AR AL
~ o~

N e R R R R R R R R R R R e B
L) [Py S [y RIS RS ) Y (R S RS
— e e e e e e e e e e e o Y I R
Y|~~~ ||| |[N|N|N|N |

la|a|a|afafafo|a|afoa|o|o]o|ofo
R |||+ ~
P Y Ny O Sl-l==|=|==|=|==|=|=|-|-|~|-

S Qla|lala|ajafo|aofo|ofofo|o|ofo WM444444/1//II///
W111111122222222 G|t ||| ||| |||~
m,.////////////// wm_111111111111111

I
m222222233333333 FERAR AR AR AR AR AR AR AR AR AR AR AR AR AR:
M//1234556789123 =

< S|o|o|[o|o|o|o|o|o|o|o[o[olo|o]|o
R R R R R B R B R R B R R R B
& =) R O O ) ) ) ) ) ) ) ) T P
A e Rl Rl e R R B B R R R N B B

MI/////444444444
Slrla|ofs|v|o|r|o|o|2(c|d|T|L|C —

NIRARAR AR AR AR AR AR AR AR AR AR AR AR AR
N R e e e e e e e e e R R e =

m444444444444444
=N e e R R R R R I I I I I R R =

M4444444444/////
) [ RS [N [ R ) R R R R 8

M444444444444444
Bl ||| ||a|a || &
Qlw|<|=|a]o|<|o|lo]|o|~|o|o|=]|a|e m444444444444444
bl R e e R I I I I I R I ) o I FIRARARARARAR AR AR AR AR AR AR ARAR AR
s |||~~~ |~|~|~|+ Slajla|lajafla|loafoala|o|o |~ ~[~|~

0 w|w|w 0 wlw|w
Nlolalo|ola|u|w|v|ld|L|E|slE Nlolalolo|a|vle|v|l|2|L|S|sls
9 (IS99 (Y (L|L|L(s|=|q|F|v|® o | (Yd(QY|FX|L|Q|L|s|(=|q|F|w|e
2 |S|q|a|F|(v|o|R|s|o|-|=|[~|[~|[~]|+ 2 |=|x|o|¥|vle|R|s|s||F|S|T|L|e
2 |oleleleleole|elelelele|e|elele 2 lolelelelelelelelele|e|elele]|e
cl=l=l=l=2 222222222 sl=l=l= === === 22222
(- RO ECR OB NOR RO RGN NOR NORROR NOR NORRORROR NORNO] [- B RORNOR NORRORNOR NORRORNOR NORRORNOR NORROR NOR NO)
S (2|22 == = =R = =N =3 =1 I3 [ (b= [ = (b= I3 [ =3 b=
[ I = D D D P P P P e I = I a |=2(=21=21=21=21=21=2121202120=22202
L|L|L|L|o|o|b|b|b|o|w|o|o|o|o U|L|L|b|o|D|D|D|o|u|D|o|o|o|o

* only for Oval flange (N)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

63

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

2.0 —

0.8 —

0.4 —

kW]

NPSH

[m]

64

PERFORMANCE CURVE

o USgpm 20 30 40 50 60 70 80 90 100 110 120 130
\ | | | | | | | | | | | |
0 | I I [ | I I | I
Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
280
— 900
Ho oL H
] T=12/185kw It
1 — 800
240 ———
T-11/185kw
______ 10 /1skw — 700
200 - S
T T T 915w
| — 600
————— 8/15kw.
160 —| T==
_____ 7/iww, — 500
—————— 6/11kw
Wt T — 400
=== 5/75kw
— 300
F——=- Afrskw _ |
0 +—F——F—F——F—F—F—F
—————— S/S'SKW—__‘—‘———\‘ -
o TT—- 2/30kW — —|—
\' — 100
—————— 1/15kW — —|
—_—
0 | | | | 0
0 100 200 300 400 Qlimin]
[ [ | | [ I I I I I I I I [ I |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m?/h]
2.0 80
e —— n
[%]
16— 60
N%
12 - /// 9
kW/stage
08 T T | I ’
0 100 200 300 400 Qlimin]
8 NPSH
6 | Lo M
4 ]
—10
2 —
0 l | l 1 0
0 100 200 300 400 Qlimin]

Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)15

Oval flange (N)

C
Lo
|
T
&
&
A G38
o~
- 2 holes M12
-« by
i -5
s] LN <
130 4 holes @12
190
200

DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
4 holes @18
T ]
T . } 1 } S = G358
LI <3 ];5 8 i o
s == il |
C i AT
130 22 A4holes@12 m 2125 8[
190 215
300 ‘ 250
DIN Round flange (F) - DN50
4 holes @18
T ]
I | I K =\
g I 1 —— i PN ’ 1{ G38 -
| =gz o iz
5| — N2
fa T AT ﬂ
130 22 4holesp12 m 125 8‘ Ao 012 |

300

250

‘ 215

Dimensions [mm] and Weights [Kg]

ol fange (4 et | Vi corneeton )
Pump Type ;’err;:; kW Size A 3~ H2  H2+H3 ngirgi: xer:,%hi H2  H2+H3 VF"lzirggt ,‘,’Y,en',g:,h: H2  H2+H3 V")lzirﬁlgt :Y::,g:,h:
17} B c Motor Motor Motor

EVMS(L)15 1/1.5 16 | 15 | 90 | 140 | 160 119 | 387 | 678 16.9 30.4 387 | 678 18.8 323 387 | 678 16.9 30.4
EVMS(L)15 2/3.0 16 | 3.0 | 100 | 160 | 176 123 | 397 | 739 17.3 39.3 397 | 739 19.1 41.1 397 | 739 17.2 39.2
EVMS(L)15 3/5.5 16 | 55 | 132 [ 300 | 220 152 | 534 | 933 255 64.5 534 | 933 27.4 66.4 534 | 933 25.5 64.5
EVMS(L)15 4/7.5 16 | 75 | 132 [ 300 | 220 152 | 574 | 993 26.7 727 574 | 993 28.6 746 574 | 993 26.7 727
EVMS(L)15 5/7.5 16 | 75 | 132 | 300 | 220 152 [ 614 | 1033 | 27.8 73.8 614 | 1033 | 29.7 75.7 614 | 1033 | 27.8 738
EVMS(L)15 6/11 16 | 11 | 160 | 350 | 259 180 | 684 | 1124 | 37.7 1002 | 684 | 1124 [ 395 1020 | 684 | 1124 [ 376 100.1
EVMS(L)15 7/11 16 | 11 | 160 | 350 | 250 180 | 724 | 1164 | 395 1020 | 724 | 1164 | 414 1039 | 724 | 1164 | 395 102.0
EVMS(L)15 8/15 25 | 15 [ 160 | 350 | 311 240 | - - - - 764 | 1259 | 427 1437 | 764 | 1259 | 40.8 141.8
EVMS(L)15 9/15 25 | 15 [ 160 | 350 | 311 240 | - - - - 804 | 1299 44 145.0 | 804 | 1299 | 42.1 143.1
EVMS(L)15 10/15 25 | 15 | 160 | 350 | 311 240 - - - - 844 | 1339 | 453 1463 | 844 | 1339 | 434 144.4
EVMS(L)1511/185 2.5 | 185 | 160 | 350 | 311 240 - - - - 884 | 1379 | 466 1556 | 884 | 1379 | 447 153.7
EVMS(L)1512/18.5 2.5 | 185 | 160 | 350 | 311 240 - - - - 924 | 1419 | 479 156.9 | 924 | 1419 46 155.0
1.6 MPa=16 bar; 2.5 MPa=25 bar

- not available model

65

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



EVMS

120-6
128-3
RN
I
=y
1-4
1-3
5-5
1-5
1
128-5

®
Y
=
]
o

140
107
2731
75-1
212-1

- T - - -

N

—_ I’,

T X

/= L) i

W20 AR

EVMS(L)15

S
=)
B

T

N

> S5

SECTIONAL VIEW

ARV, A/ A/ ) 71

VERTICAL MULTISTAGE PUMPS

60Hz

— \\ AL [ ax,
T 2

TN 1=

48— ]

130-2
130-1
120-3
245
128-1
135-1
212-2
115-4
115-1
43-6
137-1

= EaaraA

with Round flange (F)

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

EBARA Pumps Europe

66



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)15

i 39

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection(V)

67

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)15

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) @26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5| otern N 30 N A
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 215.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
120-13 | Screw for motor MEC 90'\_/:;3_:;2 Galvanized steel 8.8 strength class ISO 898/1 '\:A182XX2400 ::g jgz
MEC 160 M16x50 ISO 4017
128-1 Nut (tie rod) A2-70 M12 ISO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160 M16 I1SO 4032
128-5 Nut (tie rod) A2-70 M12 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1ISO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 ISO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) @13x24x2.5 1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel

68

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)15

N°

M3 | 1114 [ 1115 | 1151 [1153°| 1154 | 1155

m

107

75 | 751

48 | 521

47

45™ | 46

N°

162 | 212 | 2121|2122 | 219° | 245 | 2731 [615*

160

140

321|432 | 433 | 434 | 436 | 4441

3™

2

7

52 | 53 | 54

51

1
1
1
1
1
1
1

1
1
1
1

120-1(120-3 | 1206 |120-11*(12013| 128-1| 1283 | 1285 | 1286 | 130-1 | 130-2 | 131-1 | 1351 [ 1356 | 137-1

4
4
4
4

4
4

4
4
4

Pump Type

EVMS(L)15 1/1.5

EVMS(L)15 2/3.0

EVMS(L)15 3/5.5

EVMS(L)15 4/7.5

EVMS(L)15 5/7.5

EVMS(L)15 6/11

EVMS(L)15 7/11

EVMS(L)15 8/15

EVMS(L)15 9/15

EVMS(L)15 10/15

EVMS(L)15 11/18.5

EVMS(L)15 12/18.5

Pump Type

151/11.5
15 2/3.0
15 3/5.5

154/7.5

155/7.5
15 6/11
15 7/11
15 8/15
15 9/15

15 10/15

1511/18.5
15 12/18.5

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

* only for Oval flange (N)

** only for Loose round flange (LF)

# [ shaftin EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

69

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

2.0 —

0.8 —

0.4 —

kW]

NPSH

[m]

70

PERFORMANCE CURVE

o USgpm 20 30 40 50 60 70 80 90 100 110 120 130
\ | | | | | | | | | | | |
0 | I I [ | I I | I
Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
280
— 900
Ho oL H
] T=12/185kw It
T—= — 800
240 ———
T-11/185kw
______ 10 /1skw — 700
200 - S
T T T 915w
1] — 600
————— 8/15kw.
160 —| T==
_____ 7/1kw. — 500
—————— 6/11kw
1 J NS . —— L 400
=== 5/75kw
— 300
F———+- Afrskw _ |
0 +—F——F—F——F—F—F—F
—————— S/S'SKW—__‘—‘———\‘ -
o TT—- 2/30kW — —|—
\' — 100
—————— 1/15kW — —|
—_—
0 | | | | 0
0 100 200 300 400 Qlimin]
T T T T T T T T T T T T T T T 1
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m?/h]
2.0 80
e —— n
[%]
16— 60
N%
12 /// 9
kW/stage
08 T T | I ’
0 100 200 300 400 Qlimin]
8 NPSH
6 | Lo M
4 ]
—10
2 —
0 l | l 1 0
0 100 200 300 400 Qlimin]

Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN50
c c
e e —
? ?
& &
& &
| |
A | | Gas A | cas
E 2 holes M12 Pe 4 holes 018
“ \ ” 638 = =S ]
I L f = e he e G3IB
i me =3 | oo (=822 e
8 LA o | | i} > |s |s /
o= e S =S i
4 holes 912 S
‘% Rl LS ‘;%2- & 130 2 4 holes 912 m 2125 <
200 ‘ 550 190 ‘ 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. Weight . Weight
Pump Type Pmax| kw Size A 3~ H2 H2+H3| Weight Pumgp +| H2 H2+H3| Weight Pum% +
[MPa] Pump M Pump
17} B c otor Motor
EVMSG15 1/1.5 16 | 15 [ 90 | 140 [ 160 119 | 387 | 678 21.2 34.7 387 | 678 26.9 40.4
EVMSG15 2/3.0 16 | 3.0 [ 100 | 160 | 176 123 | 397 | 739 21.6 43.6 397 | 739 27.3 49.3
EVMSG15 3/5.5 16 | 55 [ 132 [ 300 | 220 152 | 534 | 933 29.8 68.8 534 | 933 355 74.5
EVMSG15 4/7.5 16 | 75 [ 132 | 300 [ 220 152 | 574 | 993 31 77.0 574 | 993 36.7 82.7
EVMSG15 5/7.5 16 | 75 | 132 | 300 [ 220 152 | 614 | 1033 | 32.1 78.1 614 | 1033 | 37.8 83.8
EVMSG15 6/11 16 | 11 | 160 | 350 [ 259 180 | 684 | 1124 42 1045 | 684 | 1124 | 47.7 110.2
EVMSG15 7/11 16 | 11 | 160 | 350 | 259 180 | 724 | 1164 | 438 106.3 | 724 | 1164 | 495 112.0
EVMSG15 8/15 25 | 15 | 160 | 350 | 311 240 - - - - 764 | 1259 [ 50.8 151.8
EVMSG15 9/15 25 | 15 | 160 | 350 | 311 240 - - - - 804 | 1299 [ 521 153.1
EVMSG15 10/15 25 | 15 | 160 | 350 | 311 240 - - - - 844 | 1339 | 534 154.4
EVMSG1511/185 25 | 185 | 160 | 350 | 311 240 - - - - 884 | 1379 | 54.7 163.7
EVMSG1512/185 25 | 185 | 160 | 350 | 311 240 - - - - 924 | 1419 56 165.0
1.6 MPa=16 bar; 2.5 MPa=25 bar

- not available model

71
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG15

=7

A
“\L-J)i\ 111

31

21
5-1
107
75-1
273-1
212-1

with Round flange (F)

72

212
75

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PIPE CONNECTION
EVMSG15

117
120-11
219

with Oval flange (N)

73
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG15

N° PART NAME Mé;ﬁglél' DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) 226x2.5
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM ©164.46x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM 15.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
17 Flange gasket EPDM / FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 6.8 strength class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 80 M6x20 1SO 4017
MEC 90-100-112 M8x20 1SO 4017
120-13 Screw for motor Galvanized steel 8.8 strength class ISO 898/1
MEC 132 M12x40 1SO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 ) M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) D13x24x2.5 I1SO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304)
74

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG15

N°

M3 [ 1114 | 1115 | 1161 | 1154 | 1155

m

107

75 | 7541

521

48

47

46

162 | 212 | 2121 [ 2122 | 219* | 245 (2731

140

321|432 | 433 | 434 | 436 | 4441

3™

2

7

52 | 53 | 54

51

1

1
1

]
]
p
]

N°

117* | 1201 1203 | 1206 |120-11*(120-13| 128-1 | 1283 | 1286 | 130-1 | 1302 [ 131-1 | 1351 | 1356 | 137-1

/
/

Pump Type

EVMSG15 1/1.5

EVMSG15 2/3.0

EVMSG15 3/5.5

EVMSG15 4/7.5

EVMSG15 5/7.5

EVMSG15 6/11

EVMSG15 7/11

EVMSG15 8/15

EVMSG15 9/15

EVMSG15 10/15

EVMSG15 11/18.5

EVMSG15 12/18.5

Pump Type

EVMSG15 1/1.5

EVMSG15 2/3.0

EVMSG15 3/5.5

EVMSG15 4/7.5

EVMSG15 5/7.5

EVMSG15 6/11

EVMSG15 7/11

EVMSG15 8/15

EVMSG15 9/15

EVMSG15 10/15

EVMSG15 11/18.5

EVMSG15 12/18.5

* only for Oval flange (N)

#e« [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

75

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

2.0 —

0.8 —

04 —

P2
[kw]

NPSH
(]

76

o USgpm 20 40 60 80 100 120 140 160 180
| | | | | | | | | |
0 [ [ I I | | [
Imp.g.p.m. 20 40 60 80 100 120 140
280
— 900
H
[m]
240 =10 /185w — 800
9/18.5kw|_ Ll L 700
200 —— TI=
T T 8/1skw|
———_1_ — 600
T Thsw_| _
160 — ———
— 500
T T 6w
120 == 5/11 kW f = — — 400
T T 45w —
————— — 300
80 —|
T T == 3/skwH——
— 200
== 2/soxwH———__ _ _ |
40 —|
— 100
T — ] *\‘
0 | | | I I | 0
0 100 200 300 400 500 600 Qlimin]
[ | | I I [ I I I [
0 5 10 15 20 25 30 35 40 Q[me/h]
24 80
20 % /____\ L
1.6 — |40
kW/stage
12 l T 1 l l I 0
0 100 200 300 400 500 600 Qlimin]
16 50
12 — —40
s —30
—20
47 10
0 T T T T T T 0
0 100 200 300 400 500 600 Qlimin]

Test standard: ISO 9906:2012 - Grade 3B

[ft]

[%]

NPSH
Ul

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)20

Oval flange (N)

H3

¢ &

H2
~
=
=
@
&
=
S

it

1:
Eﬁ[g

90

130 4 holes @12
190
200

130 22 4 holes @12 ﬁ

—

190

300

250

DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
4 holes 218
T ] \' |
£ - == A= |o \lﬁg G38
o m = o
g L D ] S VN,
fa T ) S
130 22 4holes 012 m 2125, 8‘
190 215
300 ‘ 250
DIN Round flange (F) - DN50
4 holes 218
- e
b= — - et
=l e = 2 ! %
g T == R

4 holes @12 ﬁ

Dimensions [mm] and Weights [Kg]

ova fange ook L B L

Pump Type ;’err;aa); kW Size A 3~ H2  H2+H3 V;Eilg";t ,‘,’Yfr:f:,h: H2  H2+H3 ngi'al;t ,‘,’an'.,%h: H2  H2+H3 V":lzirﬁl;t ,‘,’Y,en'f:,h:

17} B c Motor Motor Motor
EVMS(L)20 1/2.2 16 | 22 | 90 [ 140 | 160 119 | 387 | 678 | 16.9 319 | 387 | 678 | 187 337 | 387 | 678 | 168 318
EVMS(L)20 2/4.0 16 | 40 | 112 [ 160 | 193 138 | 397 | 761 17.3 458 | 397 | 761 19.1 476 | 397 | 761 17.2 45.7
EVMS(L)20 3/7.5 16 | 7.5 | 132 [ 300 | 220 152 | 534 | 953 | 255 715 | 534 | 953 | 274 734 | 534 | 953 | 255 715
EVMS(L)20 4/7.5 16 | 7.5 | 132 [ 300 | 220 152 | 574 | 993 | 2658 728 | 574 | 993 | 286 746 | 574 | 993 | 267 727
EVMS(L)20 5/11 16 | 11 | 160 [ 350 | 259 180 | 644 | 1084 | 36.2 98.7 | 644 | 1084 | 38 1005 | 644 | 1084 | 36.1 98.6
EVMS(L)20 6/11 16 | 11 | 160 [ 350 | 259 180 | 684 | 1124 | 36.4 989 | 684 | 1124 | 383 | 100.8 | 684 | 1124 [ 364 98.9
EVMS(L)20 7/15 25 | 15 | 160 | 350 [ 311 240 [ - - - - 724 (1219 | 412 | 1422 | 724 | 1219 | 393 | 1403
EVMS(L)20 8/15 25 | 15 | 160 | 350 [ 311 240 [ - - - - 764 [ 1259 | 425 | 1435 | 764 | 1259 | 406 | 1416
EVMS(L)209/185 2.5 | 185 | 160 | 350 [ 311 240 [ - - - - 804 | 1299 | 439 | 1529 | 804 | 1299 | 42 151.0
EVMS(L)20 10/185 2.5 | 185 | 160 | 350 [ 311 240 [ - - - - 844 [ 1339 | 452 | 1542 | 844 | 1339 | 433 | 1523

1.6 MPa=16 bar;
- not available model

2.5 MPa=25 bar

77

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

SECTIONAL VIEW
EVMS(L)20

| bi@/
A e R R
k\%@\ I8 _

N
-
NN

[a2]

- © < - %
o o o © < - N~ ® T o o]
I ¥ & 754 - - - - = ©o ~ Y - — [SEENGT N
- - - - N \ \ A T T - - - S T 0 Mm N O - N N N -~

TTTVY

2874 \V/ZARY,'s /i

- 90 90 o J v d W W O eI N~
®» ® 6 N O = < = < < © ®
- v < - - v o - - -~

with Round flange (F)

= EaaraA

EBARA Pumps Europe

78

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)20

i 39

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection (V)

79

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TAB
EVMS(L)20

LE

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI| 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) @26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5| mparnu N e 204 N o
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8) | EN 1.4408 (ASTM CF8M)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM @164.46x5.34 OR 6945
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM ©15.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 90-100-112 M8x20 1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x40 1ISO 4017
MEC 160 M16x50 1ISO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
128-3 Nut (motor) MEC 132 Galvanized steel M2 IS0 4032
MEC 160 M16 1SO 4032
128-5 Nut (tie rod) A2-70 M12 UNI 7474
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel Mé 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) D13x24x2.5 1ISO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
219 Counter flange
flange type: LF-F-V-C EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel

80

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)20

Blafafafoafa|a|~[~]~]~
Wi |afo|o|o|oofo|o
gl [P [ U | N [ I N Ola|la|o|afo oo for|e
~ ©
5 -
E=S all Al ol nll Il Il el Il Bl m2222222222
2 RS [ [ [ [ [ [
=T m2222222222
Sl M
~ Sl ~|~|~[~
o~
S| e|a|o|s|w|o[~|o|a|2 o
- N~~~ |~
= N
Glofafa|afo|a|ofo|ofo -
(ST IRV IV NSV (SR IS IRV IS IF SV IRV (R
o~
[reJ0 (RS QY Y (S IS ) B N
N e e R R B R R R R
P e e e S N RN R A A Y
i 2]
L e e e e I I R I I A
|||~ ]|+
S [FS i N e e =
lafa|a|afo|a|afo|o|o
=2 IV ISV IV ISV IV IR IOV IV ISV G| -
° AU U [ | N (U U N
NW4444444444 3] A
~
W1111222222 W44////////
M1/l/l///// °N,x|w4444444444
N R e R R N NI R R pragy [ N Y N [ [ [ )
m2222333333 S
Q||| s[s| ||| ][>~
MI/12234567 <
SQlo|o|o|ofo|o|ofo|o]|e
POl R R N e B B e R B
8 &l el l<|<|<|<]<|<]<
FIY [ Y Y Y Y o s
i FIRARARARARARARAR AR AR
Slr|n|ofs|w|ol~o|lo|2 pos
l~|~|x|v|x|[|x|x|[~]|~
N R e Il RN IR IR IR I I =
EIRARAGARARAR AR AR AR AR
o |||~~~ |~|~]|+ -
e}
RIS ARARARARIRAR AN
[ [ [ [ R Y ) s
=
m444444///l
P R Bl Rl R R K KA S S S g
S|~~~ |n|n|eo|t|0|o|~ m4444444444
A
Slel=l=|==|=|=|=|=|+- SIRARARIRARARARAR AR
< |||~~~ SIRARARIR AR AR AR AR AR AR
o) e
0| 0| g
Nlefwlwl |l |ov|lw|o|S Njofulvl|c|o|lo|s|2
SI5155]|5|55]5]2 N NN NN N NN
g |S|8|a|F|v|o|R|[D|3|= g |°|8|a|F|v|o|R|a|o|=
S |o|lololo|ololelole|e S |o|lo|o|lo|lo|olo|lo|ole
= NN NN NN NN = AN NN NN NN N NN
a (2222222222 o (2222222222
e |2|2)2/2|212\2(2|2|2) | £ |2/Z|ZZ|2)2|Z|2|E2
S S
a |(=(=1=1=21=21=21=21=21212 [ I I D I S P P P P )
L|L|lL|D|L|o|D|l|Dd|d L|L|DL|D|D|o|D|D|Dd|D

* only for Oval flange (N)

** only for Loose round flange (LF)

#e+ [ shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

81

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]

24 —

2.0 —

0.8 —

04 —

P2
[kw]

NPSH
(]

82

o USgpm 20 40 60 80 100 120 140 160 180
| | | | | | | | | |
0 [ [ I I | | [
Imp.g.p.m. 20 40 60 80 100 120 140
280
— 900
H
[m]
240 =10 /185w — 800
9/18.5kw|_ Ll L 700
200 —— TI=
T T 8/1skw|
———_1_ — 600
T Thsw_| _
160 — ———
— 500
T T 6w
120 == 5/11 kW f = — — 400
T T 45w —
————— — 300
80 —|
T T == 3/skwH——
— 200
== 2/soxwH———__ _ _ |
40 —|
— 100
T — ] *\‘
0 | | | I I | 0
0 100 200 300 400 500 600 Qlimin]
[ | | I I [ I I I [
0 5 10 15 20 25 30 35 40 Q[me/h]
24 80
1.6 — |40
kW/stage
12 l T 1 l l I 0
0 100 200 300 400 500 600 Qlimin]
16 50
12 —40
g —30
—20
47 10
0 T T T T T T 0
0 100 200 300 400 500 600 Qlimin]

Test standard: ISO 9906:2012 - Grade 3B

[ft]

[%]

NPSH
Ul

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS

Dimensional sketch
Oval flange (N) DIN Round flange (F) - DN50
c c
_74.@ ‘,74.@
o o
I T
< ©
o ©
|
A | cas A | e
v
Ps 2 holes M12 9 4 holes 218
T o . . Y
N L f At ot e /ReTel) G
flas i «s - Hi«lgiee b
lseli=lt 4ok JOHPEHEERE
‘«——130 ‘ 44h°'esmzw~ 0] || ‘ 130 ‘ 2 4holesE12‘H o125 || S
190 215 -
200 ‘ 250 190 ‘ 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. Weight . Weight
Pump Type Pmax| kw size A 3~ H2  H2+H3| Weight Pumgp,, H2  H2+H3| Weight Pum%,,
[MPa] Pump M Pump
@ B c otor Motor
EVMSG20 1/2.2 16 | 22 | 90 | 140 [ 160 119 | 387 | 678 | 21.2 362 | 387 | 678 | 26.9 41.9
EVMSG20 2/4.0 16 | 40 | 112 | 160 | 193 138 | 397 | 761 216 50.1 397 | 761 27.3 55.8
EVMSG20 3/7.5 16 | 75 | 132 | 300 [ 220 152 | 534 | 953 | 29.9 759 | 534 | 953 | 356 81.6
EVMSG20 4/7.5 16 | 75 | 132 | 300 | 220 152 | 574 | 993 [ 31.1 771 574 | 993 | 3638 82.8
EVMSG20 5/11 16 | 11 | 160 | 350 | 259 180 | 644 | 1084 | 40.5 103.0 | 644 | 1084 | 46.2 108.7
EVMSG20 6/11 16 | 11 | 160 | 350 | 259 180 | 684 | 1124 | 40.7 103.2 | 684 | 1124 | 464 108.9
EVMSG20 7/15 25 | 15 | 160 | 350 | 311 240 [ - - - - 724 | 1219 | 494 150.4
EVMSG20 8/15 25 | 15 | 160 | 350 | 311 240 | - - - - 764 | 1259 | 507 151.7
EVMSG20 9/18.5 25 [ 185 [ 160 | 350 | 311 240 | - - - - 804 | 1299 52 161.0
EVMSG2010/18.5 2.5 [ 185 | 160 | 350 | 311 240 | - - - - 844 | 1339 | 534 162.4

1.6 MPa=16 bair; 2.5 MPa=25 bar
- not available model

83

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG20

=7

A
“\L-J)i\ 111

31

21
5-1
107
75-1
273-1
212-1

with Round flange (F)

84

212
75

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PIPE CONNECTION
EVMSG20

117
120-11
219

with Oval flange (N)

85
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG20

N° PART NAME Mé;ﬁg'é" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing + discharge casing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) 226x2.5
441 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert M10
52-1 Sleeve bearing Tungsten carbide
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4308 (ASTM CF8)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM ©15.88x2.62 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @37.77x2.62 OR 4175
17 Flange gasket EPDM / FPM
120-1 Tie-rod EN 1.4057 (AISI 431) M12
120-3 Screw (seal flange) A2-70 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 6.8 strength class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw (counterflange) A2-70
MEC 90-100-112 M8x20 ISO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x40 1SO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut (tie rod) A2-70 M12 1SO 4032
MEC 132 . M12 1SO 4032
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 71-80-90-100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M5x8 I1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 ISO 2338
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) @13x24x2.5 ISO 7089
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel 6
137-1 Impeller spacer EN 1.4301 (AISI 304)
up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-250
212 Priming plug EN 1.4301 (AISI 304) G3/8
2121 Drainage plug EN 1.4301 (AISI 304) G3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
flange type: N Galvanized steel
219 Counter flange
flange type: F Cast Iron EN-GJL-250
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

86

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

QUANTITY FOR MODEL
EVMSG20

o
Pump Type N
4 |51 (52|53 (54| 6 | 7 |21 |31™|321(432|433 (434 (436|441 46 | 47 | 48 | 521 | 75 | 751 | 107 | 111 1113|1114 [ 1115 | 1151 1154 | 1155
EVMSG20 1/2.2 1 1 / 1 1 1 1 1 1 1 ! 2 1 1 1 2 1 1 1 1 4 1 1 1 1 1 2 1 1
EVMSG20 2/4.0 1 1 / 1 1 1 1 2 1 1 ! 2 1 ! 1 2 1 1 1 1 4 2 1 1 1 1 2 1 1
EVMSG20 3/7.5 1 1 1 1 1 1 1 3 1 1 1 2 1 / 1 2 1 1 1 1 4 3 1 1 1 1 2 1 1
EVMSG20 4/7.5 1 1 2 1 1 1 1 4 1 1 2 2 1 / 1 2 1 1 1 1 4 4 1 1 1 1 2 1 1
EVMSG20 5/11 1 1 2 2 1 1 1 5 1 1 2 3 2 / 2 2 1 1 2 1 4 5 1 1 1 1 2 1 1
EVMSG20 6/11 1 1 3 2 1 1 1 6 1 1 3 3 2 / 2 2 1 1 2 1 4 6 1 1 1 1 2 1 1
EVMSG20 7/15 1 1 4 2 1 1 1 7 1 1 4 3 2 / 2 2 1 1 2 1 4 7 1 1 1 1 2 1 1
EVMSG20 8/15 1 1 5 2 1 1 1 8 1 1 5 3 2 / 2 2 1 1 2 1 4 8 1 1 1 1 2 1 1
EVMSG20 9/18.5 1 1 6 2 1 1 1 9 1 1 6 3 2 / 2 2 1 1 2 1 4 9 1 1 1 1 2 1 1
EVMSG20 10/18.5 1 1 7 2 1 1 1 10 1 1 7 3 2 / 2 2 1 1 2 1 4 (10| 1 1 1 1 2 1 1
N°
Pump Type
117* 1201 | 1203 | 1206 |120-11*(120-13| 128-1 | 1283 | 1286 | 130-1 | 1302 | 131-1| 135-1 | 1356 | 137-1| 140 | 162 | 212 | 2121|2122 | 219" | 245 |273-1

EVMSG20 1/2.2 2 4 4 4 4 4 4 / 4 3 4 1 4 4 1 2 1 1 4 1 2 2 4

EVMSG20 2/4.0 2l a|la|la|lal|lalals|ala3|al1|alalr]|2]1]1]a]1]2]2]3s

EVMSG20 3/7.5 2 4 4 4 4 4 4 4 / 3 4 1 4 ! 1 2 1 1 4 1 2 2 4

EVMSG20 4/7.5 2 4 4 4 4 4 4 4 ! 3 4 1 4 ! 1 2 1 1 4 1 2 2 4

EVMSG20 5/11 2 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 2 2 4

EVMSG20 6/11 2 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 2 2 4

EVMSG20 7/15 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

EVMSG20 8/15 / 4 4 4 ! 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

EVMSG20 9/18.5 / 4 4 4 ! 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

EVMSG20 10/18.5 ! 4 4 4 ! 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

* only for Oval flange (N)

=[] shaft in EN 1.4462 (AISI 329A)
128-6 / 135-6: with Aluminium coupling (see drawing pag.18)

87

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)32
o USgpm. 50 100 150 200
i 1 1 1 |
I T T T 1 1
0 Impgpm. 50 100 150 200
350
p H —1100 H
[MPa] [m] [f]
= =-10-0/30kw
3.0 4 300 —| \\\\ — 1000
L q. =~
=290/l L a0o
~79-2/30kw . __
257 250 4——-8-0/30 KW a0
“““ 8-2/22kw~ L -
- —.7-0/22xw__ =
______ ToA- 700
20— 200 7-2/ 2w
- —6-0/185kw L — 600
—————— 6-2/18.5kw =
15 — 150 4—— E-O/ls KW — 500
ST 52 1skw
——-4-0/15 KW | — 400
_______ 4-2/11kw_-
1.0 — 100 —
==-3-0/ukw__ | L 300
________ 3-2/11kw=
——-2-0/75kw— . -
C T ——- 2-1/s5kw - = 200
05— O 2-2/s5kw - _
= —-1-0/3.0kw=—— ! = — 100
== AT T s okw =
—
o= 0 | I I 1 0
0 200 400 600 800 Q[l/min)
[ | [ [ I [ I ]
0 6 12 18 24 30 36 42 48 54 Q[m3h]
P, 6 100 n
o s %)
T N%
3 / L
@Dy*
5 kW/stage e
0 | | | | 0
0 200 400 600 800 Q[limin]
NPSH 8 NPSH
[m] 6 — oo [f
4 -
110
2 p—
0 1 I I | 0
0 200 400 600 800 Q[l/min)
Test standard: ISO 9906:2012 - Grade 3B
88

EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

TECHNICAL DATA
EVMS(L)32

Dimensional sketch

Loose round flange (LF) - DN65
,L.‘
i
| B
g |
S
A
G3/8 G3/8
S
F SN holes@ 18
a1 _ G3/8
ha <8 g & (e
0 oo = | 1NN
E LIt} 7 g
\ ‘ 245 4 holes ¢ 14 ”
170 |1 g 145
225 240
320
Dimensions [mm] and Weights [Kg]
Motor Loose round flange (LF)
. . Weight
+
Pump Type Pmax | kW Size A B [ H2 H2+H3 SN | Weight Pump +
[MPa] Pump
7] Motor
EVMS(L)32 1-1/3.0 1.6 3.0 | 100 | 160 | 176 123 461 803 4 48.7 70.7
EVMS(L)32 1-0/3.0 1.6 3.0 | 100 | 160 | 176 123 461 803 4 48.7 70.7
EVMS(L)32 2-2/5.5 1.6 55 | 132 | 300 | 220 152 635 1035 4 62.8 101.8
EVMS(L)32 2-1/5.5 1.6 55 | 132 | 300 | 220 152 635 1035 4 62.8 101.8
EVMS(L)32 2-0/7.5 1.6 75 | 132 | 300 | 220 152 635 1055 4 62.8 108.8
EVMS(L)32 3-2/11 1.6 1 160 350 259 180 735 1174 4 726 135.1
EVMS(L)32 3-0/11 1.6 11 | 160 | 350 | 259 180 735 174 4 72.6 135.1
EVMS(L)32 4-2/11 1.6 11 | 160 | 350 | 259 180 805 1244 4 75.8 138.3
EVMS(L)32 4-0/15 1.6 15 | 160 | 350 | 311 240 805 1300 4 64.8 165.8
EVMS(L)32 5-2/15 1.6 15 | 160 | 350 | 311 240 875 1370 4 68.1 169.1
EVMS(L)32 5-0/15 1.6 15 | 160 | 350 | 311 240 875 1370 4 68.1 169.1
EVMS(L)32 6-2/18.5 25 | 185 | 160 | 350 | 311 240 945 1440 4 75.4 184.4
EVMS(L)32 6-0/18.5 25 | 185 | 160 | 350 | 311 240 945 1440 4 75.4 184.4
EVMS(L)32 7-2/22 25 22 | 180 | 350 | 354 260 | 1015 1567 4 75.7 210.7
EVMS(L)32 7-0/22 25 22 | 180 | 350 | 354 260 | 1015 1567 8 75.7 210.7
EVMS(L)32 8-2/22 25 22 | 180 | 350 | 354 260 | 1085 1637 8 80.7 215.7
EVMS(L)32 8-0/30 3.0 30 | 200 | 400 | 354 280 | 1085 1637 8 73.0 241.0
EVMS(L)32 9-2/30 3.0 30 200 | 400 354 280 1155 1707 8 76.5 2445
EVMS(L)32 9-0/30 3.0 30 | 200 | 400 | 354 280 | 1155 1707 8 76.5 244.5
EVMS(L)32 10-0/30 3.0 30 | 200 | 400 | 354 280 | 1225 1777 8 79.9 247.9
1.6 MPa=16 bar; 2.5 MPa=25 bar; 3.0 MPa=30 bar

89
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

SECTIONAL VIEW

EVMS(L)32

120-13

75
212

120-6
1356

000000

ANNN-

N

< XN

- - - + -

S L

a
&
g
&

VX

107

1
T oo - oo -
o
SR de 4
S N8 oo N ¥R
bl - < - N
L S

[T I/ /)

N4 7T =

115-1

43-2

e R .

NN

\

Sk

—

:.m\;»\,
IR
1«»»\\\\\‘«.“'
IS 222\

\

%929_-2
S3d5
¥ - =

273-1

135-5
120-12

75-1

131-2

160

Pump without ball bearing

up to 4.0 kW

EBARA Pumps Europe

90

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

0
L/

X
J

120-6
128-3
120-3
111-4
111-6
11141
2121
27341
7541

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMS(L)32

EVMS

V;I N

=\ b..,.m
/e:ﬂmfr NS

R S s

Nl R
LN A

<)

i\

\

1

o © 5
REER] Y &

0
< -

4341
137-1

212-2
2123
75

43-5
1209
44-2
52-2
137-2
1355
120-12

91

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

131-2

Pump without ball bearing
from 5.5 kW to 30 kW

45
160




60 Hz

VERTICAL MULTISTAGE

PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)32

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster key EN 1.4301 (AISI 304)
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1_.43_01 (/-_\ISI 304) EN 1_.44_01 (A_ISI 316)
with inox insert with inox insert
52-1 Sleeve bearing Tungsten carbride
52-2 Sleeve bearing (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM /FPM 212.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11141 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM / FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 ISO 4762

92

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)32

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 ISO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 ISO 4762
above 11 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1SO 4762
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1SO 4017
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 ISO 4017
MEC 200 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200 Galvanized steel M16 ISO 4032
128-6 Nut (aluminium coupling) MEC 100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
. up to 4.0 kW Carbon Steel @8x42 1SO 2338
131-1 Pin for shaft
above 5.5 Kw Carbon Steel @8X50 1SO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) @6x26 ISO 8752
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 I1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316) @5.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

93

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

QUANTITY FOR MODEL

EVMS(L)32

N°

31 |32-1|43-1(43-2(43-3(43-4|43-5|43-6|44-1|44-2| 45 | 46 | 47 | 48 [52-1|52-2| 53 |70-2

12 | 21 (211

7

6

5253|5455

4

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

N°

107 (111-1111-3{111-4/111-5[115-1|115-4]115-5[120-1]120-2|120-3]120-6{120-9]120-12{120-13|128-1|128-2|128-3]130-1[130-2|131-1|131-2|135-1(135-2|135-5

81

75 1751

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2

EVMS(L)32 1-1/3.0
EVMS(L)32 1-0/3.0
EVMS(L)32 2-2/5.5
EVMS(L)32 2-1/5.5
EVMS(L)32 2-0/7.5
EVMS(L)32 3-2/11
EVMS(L)32 3-0/11
EVMS(L)32 4-2/11
EVMS(L)32 4-0/15
EVMS(L)32 5-2/15
EVMS(L)32 5-0/15
EVMS(L)32 6-2/18.5
EVMS(L)32 6-0/18.5
EVMS(L)32 7-2/22
EVMS(L)32 7-0/22
EVMS(L)32 8-2/22
EVMS(L)32 8-0/30
EVMS(L)32 9-2/30
EVMS(L)32 9-0/30
EVMS(L)32 10-0/30

Pump Type

EBARA Pumps Europe

EVMS(L)32 1-1/3.0
EVMS(L)32 1-0/3.0
EVMS(L)32 2-2/5.5
EVMS(L)32 2-1/5.5
EVMS(L)32 2-0/7.5
EVMS(L)32 3-2/11
EVMS(L)32 3-0/11
EVMS(L)32 4-2/11
EVMS(L)32 4-0/15
EVMS(L)32 5-2/15
EVMS(L)32 5-0/15
EVMS(L)32 6-2/18.5
EVMS(L)32 6-0/18.5
EVMS(L)32 7-2/22
EVMS(L)32 7-0/22
EVMS(L)32 8-2/22
EVMS(L)32 8-0/30
EVMS(L)32 9-2/30
EVMS(L)32 9-0/30
EVMS(L)32 10-0/30

94

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVMS(L)32
N°
Pump Type
135-6[137-1]137-2| 140 | 160 | 162 | 212 [212-1[212-2|212-3| 245 |273-1 615

EVMS(L)32 1-1/3.0 4 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 1-0/3.0 4 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 2-2/5.5 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 2-1/5.5 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 2-0/7.5 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 3-2/11 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 3-0/11 / 1 1 2 1 1 1 4 1 1 2| 4 2
EVMS(L)32 4-2/11 / 1 1 2 1 1 1 4 1 1 2| 4 2
EVMS(L)32 4-0/15 / 1 1 2 1 1 1 4 1 1 2| 4 2
EVMS(L)32 5-2/15 / 1 1 2 1 1 1 4 1 1 2| 4 2
EVMS(L)32 5-0/15 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 6-2/18.5 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 6-0/18.5 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 7-2/22 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 7-0/22 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 8-2/22 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 8-0/30 / 1 1 2 1 1 1 4 1 1 2 4 2
EVMS(L)32 9-2/30 / 1 1 2 1 1 1 4 1 1 2| 4 2
EVMS(L)32 9-0/30 / 1 1 2 1 1 1 4 1 1 2 |4 2
EVMS(L)32 10-0/30 / 1 1 2 1 1 1 4 1 1 2 | 4 2

BEARINGS

EVMS(L)32

Pump Type N° 56

EVMS(L)32 1-1/3.0

EVMS(L)32 1-0/3.0

EVMS(L)32 2-2/5.5

EVMS(L)32 2-1/5.5

EVMS(L)32 2-0/7.5

EVMS(L)32 3-2/11

EVMS(L)32 3-0/11

EVMS(L)32 4-2/11

EVMS(L)32 4-0/15

EVMS(L)32 5-2/15

EVMS(L)32 6-2/18.5

EVMS(L)32 6-0/18.5

EVMS(L)32 7-2/22

EVMS(L)32 7-0/22

EVMS(L)32 8-2/22

EVMS(L)32 8-0/30

EVMS(L)32 9-2/30

EVMS(L)32 9-0/30

(
(
(
(
(
(
(
(
(
EVMS(L)32 5-0/15
(
(
(
(
(
(
(
(
(

EVMS(L)32 10-0/30

[ [ R [ R [ [ N N (N R R P P (R (G (G (R )

95

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG32
o USgpm. 50 100 150 200
i 1 1 1 |
I T T T 1 1
0 Impgpm. 50 100 150 200
350
p H —1100 H
[MPa] [m] [f]
= =-10-0/30kw
3.0 4 300 —| \\\\ — 1000
L q. >~
S e 00
~79-2/30kw . __
257 250 4——-8-0/30 KW a0
“““ 8-2/22kw~ L -
- —.7-0/22xw__ =
—————— M E 700
20— 200 7-2/ 2w
- —6-0/185kw L — 600
—————— 6-2/18.5kw =
15 — 150 4—— E-O/ls KW — 500
ST 52 1skw
——-4-0/15 KW | — 400
_______ 4-2/11kw_-
1.0 — 100 —
==-3-0/ukw__ | L 300
________ 3-2/11kw—
——2-0/75kw— . -
C T ——- 2-1/s5kw - = 200
05— O 2-2/s5kw - _
- —1-0/3.0kW— . — — 100
=2 N Y ow - D
—
o= 0 | I I 1 0
0 200 400 600 800 Q[l/min)
[ | [ [ I [ I ]
0 6 12 18 24 30 36 42 48 54 Q[m3h]
P, 6 100 n
o s %)
T N%
3 / L
@Dy*
5 kW/stage e
0 | | | | 0
0 200 400 600 800 Q[limin]
NPSH 8 NPSH
[m] 6 — oo [f
4 -
110
2 p—
0 1 I I | 0
0 200 400 600 800 Q[l/min)
Test standard: ISO 9906:2012 - Grade 3B
96

EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

TECHNICAL DATA
EVMSG32

Dimensional sketch

Round flange (F) - DN65

H3

H2

4 holes ¢ 14 ‘ gT

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)
Pump Type Pmax| W Size A B C | Hz W23 SN|Weight i
%] Motor
EVMSG32 1-1/3.0 1.6 3.0 100 160 176 123 461 803 4 45.3 67.3
EVMSG32 1-0/3.0 1.6 3.0 100 160 176 123 461 803 4 453 67.3
EVMSG32 2-2/5.5 1.6 55 132 300 220 152 635 1035 4 59.3 98.3
EVMSG32 2-1/5.5 1.6 55 132 300 220 152 635 1035 4 59.3 98.3
EVMSG32 2-0/7.5 1.6 75 132 300 220 152 635 1055 4 59.3 105.3
EVMSG32 3-2/11 1.6 1" 160 350 259 180 735 1174 4 69.1 131.6
EVMSG32 3-0/11 1.6 1" 160 350 259 180 735 174 4 69.1 131.6
EVMSG32 4-2/11 1.6 1" 160 350 259 180 805 1244 4 72.4 134.9
EVMSG32 4-0/15 1.6 15 160 350 311 240 805 1300 4 61.4 162.4
EVMSG32 5-2/15 1.6 15 160 350 31 240 875 1370 4 64.7 165.7
EVMSG32 5-0/15 1.6 15 160 350 31 240 875 1370 4 64.7 165.7
EVMSG32 6-2/18.5 25 18.5 160 350 311 240 945 1440 4 72.0 181.0
EVMSG32 6-0/18.5 25 18.5 160 350 311 240 945 1440 4 72.0 181.0
EVMSG32 7-2/22 2.5 22 180 350 354 260 1015 1567 4 72.3 207.3
EVMSG32 7-0/22 2.5 22 180 350 354 260 1015 1567 8 72.3 207.3
EVMSG32 8-2/22 2.5 22 180 350 354 260 1085 1637 8 77.2 212.2
EVMSG32 8-0/30 3.0 30 200 400 354 280 1085 1637 8 69.6 237.6
EVMSG32 9-2/30 3.0 30 200 400 354 280 1155 1707 8 731 2411
EVMSG32 9-0/30 3.0 30 200 400 354 280 1155 1707 8 731 2411
EVMSG32 10-0/30 3.0 30 200 400 354 280 1225 1777 8 76.5 2445
1.6 MPa=16 bar; 2.5 MPa=25 bar; 3.0 MPa=30 bar

97

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

75
212

.\%\/‘/\\\$mmmmmu4vm . ¥ 9 _

120-13
120-6
1356

107
212141
120-2
43-6
137-1
135-2
128-2
48
70-2
2121
273-1
75-1
131-2

AR AV, Y
@@ l\l!lllll)@@ﬁs
_ \

0 S

o

w ) T (o
\\\lw i»ir@

o / S L&“‘..Wr/ \\P/‘

wl 3 o.w .«nunﬂuum_mrmmj X

ﬂAU w 2 — ‘ -k'.m /-, 4 \!NMMNA'bW//r‘,,/‘l

ElDe BN PSSR T

@3 YRGS A LS

- =t P e/ S 750

4 O

<| &

O

T

(14

L

>

115-1
54
43-2
55
53
81

265
g gr
N N

N
o
421%5mﬂ‘7|_

60 Hz

160

Pump without ball bearing
up to 4.0 kW

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

EBARA Pumps Europe

98



60 Hz

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMSG32

EVMS

8 § 8§ 'Ph@v EEE S
|
I 2 @ .\MA
D) %rmm ir//M
N7 AN
\Pﬁ\ﬂ’ ﬂ/zo% \&\\\\ R\
//\/\
|
233282 1g5 e

212-2
2123
75

43-5
1209
44-2
52-2
137-2
1355
120-12

99

27341
EBARA Pumps Europe
EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

7541
131-2

Pump without ball bearing
from 5.5 kW to 30 kW

45
160




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG32

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 EN 1561
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM/ FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM/FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 ISO 4762

100

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG32

MATERIAL
N° PART NAME DIMENSIONS | STANDARD
EVMSG
up to 4.0 kW Galvanized steel 8.8 strength class ISO 898/1 M6x25 1SO 4762
120-6 Screw (pump coupling) from 5.5 kW to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1ISO 4762
above 11 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1ISO 4762
120-9 Screw (bottom casing) A2-70 M5x8 1ISO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
MEC 100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1SO 4017
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1SO 4017
120-13 Screw for motor "
MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
128-6 Nut (aluminium coupling) MEC 100-112 Galvanized steel M6 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
X up to 4.0 kW Carbon Steel 28x42 1SO 2338
131-1 Pin for shaft
above 5.5 Kw Carbon Steel @8X50 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) @5.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
135-6 Washer (aluminium coupling) up to 4.0 kW Carbon Steel
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
from 5.5 kW to 30 kW Cast Iron EN GJL250 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)

101

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

QUANTITY FOR MODEL

EVMSG32

Rlafa|afa|afa|afa]a]ofo|a]ofo]o]ofo]o]ofo
aq
S| =~~~ |~|~|~|~]|~]|+
=
B[~ |~|n||fov|ov]| ]| |w]|w]o]O|~[~]o]|o|w|w]|o
o
NE Bl Bl Bl Bl B B Bl Bl Bl B B Bl B Rl Bl Bl B R B
['o)
-
R R R N RS N e e e e s e e B S R I I Y
['o)
ol I I I e R I I e R e I I el e Rl I R e e
D R R e Rl R R I I R I I el e Rl I e I e
o ~ |~~~ -~
< - R R R R e
«Q
N B Bl Bl I I I R R I I R I e e I I I e
<
—
<+ |~[~[=|=[=|=<=|=]~|~|~|]<|~|~]]| |||
<
@
N R B B Bl Bl B B B e i il e e Bl B R R B R B
<
w
O R R R R [ [ [N i U i B e N e e e e
<
b
M R R R B R B B B B B e i B B B B A I Y
<
@
P R R R B R B B B B B e i B B B B A I Y
o _ <
Z "Q
ol A A I B I S S I I B A B D R R D D R A )
<
—
PUSN IR RS R R [ [ [N N U ) U e N e e e e e
<
—
PO S S S S S I [ [ [y ey Dy puy [y S R [ S (R [
e}
b R R R e e e o e e e I R N R e e
—
- |-~ ~la]~la]l~]la]|~]a]|~|N]~]|N]|~]|n|~]|~
N
S =]~ |n]~|o|an]|t]|o]|o|s|o]|w|~|o|o|~]o ]2
I R R I I R R R I I R I e e I I I e
D R R I I R R I I I I I R S e I I I e
(NI I e e I I R R R I IR R I e e I I I e
w
Sl l=1==={==1==|==]==|==|=]=
<
s === l=1==={==1==== === ]=
Y -~ -
~[~]~ e B B R R e e R R R e
[1o)
o
S|~ |e|ofo]~]|~]o
D I I e e I I I R R I I R I e e I I I e
o) ) o
el c|c|c|v|v|v]|o]|s|a]|a]la|a]alale
NN R NN R R E R AR NI N EEEE
LILIRREIZISISISISIZIZIZISISISIRICQR
A Bl Y D A N B R e R A B S R N R S B B )
© o A R R R G B B I e R R D N I A R KA
Q [ ISV ISV SV I I ISV S R I T S N B B T B B R S
> el el e ol el el el el ool el ol Il el el e Pl M2l el Mol Mol
= (O} ECR KGR ROR ROR JOR KOR KO ROR NN NON KO ROR ROJ NOJ RUJ JOR RO JOJ O}
Q (28 K28 K2R EOR NN KON NOR KON KON DN KON RZN K00 K20 K20 K20 KPR KON KON KO}
£ R I P = Il =l ol I = = I I (= g Y
S >1>=>(=>1=1=1=21=2121=21=1=1= 2222222
o Uuwjwjwlujlwl|||||jWwjw)uw|w|w|w|w

N°

107 {111-1111-3{111-4/111-5]115-1|115-4]115-5[120-1]120-2{120-3]|120-6{120-9]120-12|120-13|128-1]128-2|128-3|130-1({130-2|131-1{135-1|135-2{135-5|135-6/137-1

10

81

751

4
4
4
4
4
4
4
4
4
4
4
4
4

4
4
4
4
4
4
4

Pump Type

EVMSG32 1-1/3.0

EVMSG32 1-0/3.0

EVMSG32 2-2/5.5

EVMSG32 2-1/5.5

EVMSG32 2-0/7.5

EVMSG32 3-2/11

EVMSG32 3-0/11

EVMSG32 4-2/11

EVMSG32 4-0/15

EVMSG32 5-2/15

EVMSG32 5-0/15

EVMSG32 6-2/18.5

EVMSG32 6-0/18.5

EVMSG32 7-2/22

EVMSG32 7-0/22

EVMSG32 8-2/22

EVMSG32 8-0/30
EVMSG32 9-2/30

EVMSG32 9-0/30

EVMSG32 10-0/30

102

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS VERTICAL MULTISTAGE PUMPS 60 1z

QUANTITY FOR MODEL
EVMSG32
N°
Pump Type
137-2| 140 | 162 | 212 [212-1[212-2|212-3] 245 |273-1
EVMSG32 1-1/3.0 1 2 1 1 4 1 1 2| 4
EVMSG32 1-0/3.0 1 2 1 1 4 11 1 2| 4
EVMSG32 2-2/5.5 1 2 1 1 4 1 1 2 | 4
EVMSG32 2-1/5.5 1 2 1 1 4 1 1 2| 4
EVMSG32 2-0/7.5 1 2 1 1 4 1 1 2| 4
EVMSG32 3-2/11 1 2 1 1 4 1 1 2| 4
EVMSG32 3-0/11 1 2 1 1 4 1 1 2| 4
EVMSG32 4-2/11 1 2 1 1 4 1 1 2| 4
EVMSG32 4-0/15 1 2 1 1 4 1 1 2| 4
EVMSG32 5-2/15 1 2 1 1 4 1 1 2| 4
EVMSG32 5-0/15 1 2 1 1 4 1 1 2| 4
EVMSG32 6-2/18.5 1 2 1 1 4 1 1 2| 4
EVMSG32 6-0/18.5 1 2 1 1 4 1 1 2| 4
EVMSG32 7-2/22 1 2 1 1 4 1 1 2| 4
EVMSG32 7-0/22 1 2 1 1 4 1 1 2| 4
EVMSG32 8-2/22 1 2 1 1 4 1 1 2| 4
EVMSG32 8-0/30 1 2 1 1 4 1 1 2| 4
EVMSG32 9-2/30 1 2 1 1 4 1 1 2| 4
EVMSG32 9-0/30 1 2 1 1 4 1 1 2| 4
EVMSG32 10-0/30 1 2 1 1 4 1 1 2| 4
BEARINGS
EVMSG32
Pump Type N° 56

EVMSG32 1-1/3.0
EVMSG32 1-0/3.0
EVMSG32 2-2/5.5
EVMSG32 2-1/5.5
EVMSG32 2-0/7.5
EVMSG32 3-2/11
EVMSG32 3-0/11
EVMSG32 4-2/11
EVMSG32 4-0/15
EVMSG32 5-2/15
EVMSG32 5-0/15
EVMSG32 6-2/18.5
EVMSG32 6-0/18.5
EVMSG32 7-2/22
EVMSG32 7-0/22
EVMSG32 8-2/22
EVMSG32 8-0/30
EVMSG32 9-2/30
EVMSG32 9-0/30
EVMSG32 10-0/30

[ [ [ R R [ N (N [ N R R P P P (G (R [ R

103

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

EVMS(L)45
0 usS.gpm 50 100 150 200 250 300 350
| 1 ] 1 1 1 | 1
I T T T T T T
0 Imp.gpm 50 100 150 200 250 300
300
P H
[MPa] [m] — 900
= = —7-0/asxw
2 x4 =T asew |
7-2/asiw L 800
= = =6-0/37kw .
T =SS 6137w
T6-2/37kw. T = L 700
20 — 200 — —
= =—5-0/37kw
\\\\:==5-1/30\Kw_~* L 600
“5-2/30kw_ |~
1.5 — ===4-0/ — 500
150 —(—— 30 KW e
—— L T =4-1/30kw-~ —
T4-2/22kw- |
— 400
===3-0/185kW—_
104 400 \\\‘:::Zg'%/l&s—@’::
-2/1skw. | — 300
== =2-0/wsxw|__
‘~~::::~Qihmt_:
S22 1 kW L 200
05 | 5
= —1-0/7skwj=————— | R
______ 1-1/s5kw. \ — 100
0= 0 | I I I | | 0
0 200 400 600 800 1000 1200 Q[l/min]
[ [ I [ [ I I ]
0 12 24 36 48 60 72 Qme/h]
p, 1 100
[kW] 10 — —80
____————"'_-__——7 . N%
8 — — 60
6 — @0, —40
——— D,*
4 kW/stage @D, 00
0 | | | | | | 0
0 200 400 600 800 1000 1200 Q[l/min]
NPSH 12
[m] 10 — 30
8 —
6 — —20
4 -
—10
2 —
0 I I I | [ I 0
0 200 400 600 800 1000 1200 Qiimin]
Test standard: 1ISO 9906:2012 - Grade 3B
104

[ft]

[%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMS(L)45

Loose round flange (LF) - DN80

H3

H2

L
=
)
N
80
120

G3/8

i

200

i

8 holes# 18
7?% 4 G3/8

4 holes @ 14 ‘H

190

250

365

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)
Pump Type Pmax| kw size A B c H2  H2+H3 |Weight xz%hi
[MPa] . Pump Motor
EVMS(L)45 1-1/5.5 16 | 55 | 132 | 300 | 220 152 650 1049 75.7 114.7
EVMS(L)45 1-0/7.5 16 | 75 | 132 | 300 | 220 152 650 1069 75.7 121.7
EVMS(L)45 2-2/11 1.6 11 | 160 | 350 | 259 180 752 1191 87.8 150.3
EVMS(L)45 2-1/11 1.6 11 | 160 | 350 | 259 180 752 1191 87.8 150.3
EVMS(L)45 2-0/15 1.6 15 | 160 | 350 | 311 240 752 1247 76.8 177.8
EVMS(L)45 3-2/15 1.6 15 | 160 | 350 | 311 240 824 1319 81.8 182.8
EVMS(L)45 3-1/18.5 16 |[185| 160 | 350 | 311 240 824 1319 86.0 195.0
EVMS(L)45 3-0/18.5 16 |[185| 160 | 350 | 311 240 824 1319 86.0 195.0
EVMS(L)45 4-2/22 1.6 22 | 180 | 350 | 354 260 896 1448 88.1 223.1
EVMS(L)45 4-1/30 1.6 30 | 200 | 400 | 354 280 896 1448 80.4 248.4
EVMS(L)45 4-0/30 1.6 30 | 200 | 400 | 354 280 896 1448 80.4 248.4
EVMS(L)45 5-2/30 25 30 | 200 | 400 | 354 280 968 1520 85.7 253.7
EVMS(L)45 5-1/30 25 30 | 200 | 400 | 354 280 968 1520 85.7 253.7
EVMS(L)45 5-0/37 25 37 | 200 | 400 | 382 295 985 1662 1157 | 375.7
EVMS(L)45 6-2/37 25 37 | 200 | 400 | 382 295 | 1057 1734 1225 | 3825
EVMS(L)45 6-1/37 25 37 | 200 | 400 | 382 295 | 1057 1734 1225 | 3825
EVMS(L)45 6-0/37 25 37 | 200 | 400 | 382 295 | 1057 1734 1225 | 3825
EVMS(L)45 7-2/45 35 45 | 225 | 450 | 449 335 | 1129 1895 139.3 | 5133
EVMS(L)45 7-1/45 35 45 | 225 | 450 | 449 335 | 1129 1895 139.3 | 5133
EVMS(L)45 7-0/45 35 45 | 225 | 450 | 449 335 | 1129 1895 139.3 | 5133

1.6 MPa=16 bar;

2.5 MPa=25 bar;

3.5 MPa=35 bar

105

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

ﬁ/ 120-13
|

75

111-5

115-4

135-2
128-2

273-1

75-1
131-2

= EaaraA

SECTIONAL VIEW
EVMS(L)45

(@

. Alz‘fw/ ~
/.

Pump without ball bearing
up to 30 kW

VERTICAL MULTISTAGE PUMPS

60 Hz

NN
P A

Vo =B

—

v P N oA
<)

o) <+

< ¥ v o

137-2
135-5

120-12

EBARA Pumps Europe

106

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

107

EBARA Pumps Europe

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMS(L)45

EVMS

128-3

115-4
131-2
751
2731
2121

7
70-1
274-2
150
120-7
135-4
39-1
135-3
120-5

T ,,vﬁ&\v\\\la\iwu._

v

R
NN
§ | ENS
e\ \\\»%6&»'//@@., 7 7O L ) ) Yo/ AN '/&1...« A
— m. ﬁﬁ/x‘g@iﬁ}‘ ) S
. N/ 4 AL A' ) N . N ‘
G NN

\%&»\\‘.«l
(A4

- a - oo - ¥ - - «

Q9 = b d Lt O R S oS S Dy © 1 ¥ 0@ A‘ Q o ©

w b3 FTH I I S8LEIF .\w"ﬁv./41%5m55 © 8 Q2
SIS

212-2
212-3
75

N
5%22”“1
® <+ <)
+ ¥ ¢ 02 2

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

Pump with single ball bearing
above 37 kW




60 1 EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMS(L)45

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) i’\,‘\‘ 11..‘2‘2%42(3\”5853;2692)-
32-1 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.'43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing above 37 kW see table page 111
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11141 Mechanical seal see pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM/ FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

108

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)45

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
up to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 ISO 4762
120-6 Screw (pump coupling) from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1SO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1SO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 I1SO 4762
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 ISO 4017
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 I1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 I1SO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) D6x26 ISO 8752
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 I1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316) @5,1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 10,2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carbon steel 26,1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

109

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

QUANTITY FOR MODEL

EVMS(L)45

N°

52-1|52-2

32-1(39-1]|43-1(43-2|43-3(43-4|43-5|43-6|44-1|44-2| 45 | 46 | 47 | 48 | 51

31

211

21

12

7

6

5-2]15-3|54]55

4

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

N°

107 |111-1]111-3|111-4]111-5[115-1]115-4{115-5|120-1{120-2|120-3{120-5|120-6|120-7|120-8]120-9|120-12]120-13{128-1|128-2{128-3

81

56 [70-1]70-2| 75 |75-1

53

1
1
1
1
1
2
2
2
4
4
4
5
5
5
6
6
6
6
6
6

[ shaftin EN 1.4462 (AISI 329A)

EVMS(L)45 1-1/5.5
EVMS(L)45 1-0/7.5
EVMS(L)45 2-2/11
EVMS(L)45 2-1/11
EVMS(L)45 2-0/15
EVMS(L)45 3-2/15
EVMS(L)45 3-1/18.5
EVMS(L)45 3-0/18.5
EVMS(L)45 4-2/22
EVMS(L)45 4-1/30
EVMS(L)45 4-0/30
EVMS(L)45 5-2/30
EVMS(L)45 5-1/30
EVMS(L)45 5-0/37
EVMS(L)45 6-2/37
EVMS(L)45 6-1/37
EVMS(L)45 6-0/37
EVMS(L)45 7-2/45
EVMS(L)45 7-1/45
EVMS(L)45 7-0/45

Pump Type

EBARA Pumps Europe

EVMS(L)45 1-1/5.5
EVMS(L)45 1-0/7.5
EVMS(L)45 2-2/11
EVMS(L)45 2-1/11
EVMS(L)45 2-0/15
EVMS(L)45 3-2/15
EVMS(L)45 3-1/18.5
EVMS(L)45 3-0/18.5
EVMS(L)45 4-2/22
EVMS(L)45 4-1/30
EVMS(L)45 4-0/30
EVMS(L)45 5-2/30
EVMS(L)45 5-1/30
EVMS(L)45 5-0/37
EVMS(L)45 6-2/37
EVMS(L)45 6-1/37
EVMS(L)45 6-0/37
EVMS(L)45 7-2/45
EVMS(L)45 7-1/45
EVMS(L)45 7-0/45

110

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS VERTICAL MULTISTAGE PUMPS 60 1z

QUANTITY FOR MODEL
EVMS(L)45
N°
Pump Type
130-1[130-2|130-4{131-1|131-2{135-1|135-2|135-3|135-4|135-5[137-1|137-2| 140 |140-1{140-2| 150 | 160 | 162 | 212 [212-1]212-2{212-3] 245 [273-1|274-2 615
EVMS(L)45 1-1/5.5 314 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 1-0/7.5 3 / 1 1 2 / / 1 1 1 2 / / / 1 1 1 1 1 2 / 2
EVMS(L)45 2-2/11 3 4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 2-1/11 3| 4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2| 4 / 2
EVMS(L)45 2-0/15 3|4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2|4 / 2
EVMS(L)45 3-2/15 3|4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 3-1/18.5 3 4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 3-0/18.5 3 4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 4-2/22 3|4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 | 4 / 2
EVMS(L)45 4-1/30 3|4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 |4 / 2
EVMS(L)45 4-0/30 3|4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 5-2/30 3 4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 5-1/30 3 4 / 1 1 4 2 / / 1 1 1 2 / / / 1 1 1 4 1 1 2 4 / 2
EVMS(L)45 5-0/37 3|4 1 1 1 4 2 |4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2| 4 1 2
EVMS(L)45 6-2/37 3 4 1 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 4 1 2
EVMS(L)45 6-1/37 3 4 1 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 4 1 2
EVMS(L)45 6-0/37 3 4 1 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 4 1 2
EVMS(L)45 7-2/45 3| 4 1 1 1 4 2| 4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2| 4 1 2
EVMS(L)45 7-1/45 3|4 1 1 1 4 2| 4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2| 4 1 2
EVMS(L)45 7-0/45 3|4 1 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 1 4 1 1 2 4 1 2
BEARINGS
EVMS(L)45
Pump Type N° 56
EVMS(L)45 1-1/5.5 /
EVMS(L)45 1-0/7.5 /
EVMS(L)45 2-2/11 /
EVMS(L)45 2-1/11 /
EVMS(L)45 2-0/15 /
EVMS(L)45 3-2/15 /
EVMS(L)45 3-1/18.5 /
EVMS(L)45 3-0/18.5 /
EVMS(L)45 4-2/22 /
EVMS(L)45 4-1/30 /
EVMS(L)45 4-0/30 /
EVMS(L)45 5-2/30 /
EVMS(L)45 5-1/30 /
EVMS(L)45 5-0/37 6315Z7Z C3
EVMS(L)45 6-2/37 631527 C3
EVMS(L)45 6-1/37 631527 C3
EVMS(L)45 6-0/37 6315 ZZ C3
EVMS(L)45 7-2/45 6315ZZ C3
EVMS(L)45 7-1/45 6315277 C3
EVMS(L)45 7-0/45 63152Z C3
1M1

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

0 usS.gpm 50 100 150 200 250 300 350
| 1 ] 1 1 1 | 1
I T T T T T T
0 Imp.gpm 50 100 150 200 250 300
300
P H
[MPa] [m] — 900
= = —7-0/asxw
2 x4 =T asew |
7-2/asiw L 800
= = =6-0/37kw .
T =SS 6137w
T6-2/37kw. T = — 700
20 — 200 — —
= =—5-0/37kw
\\\\:==5-1/30\Kw_~* L 600
“5-2/30kw_ |~
1.5 — ===4-0/ — 500
150 —(—— 30 KW e
—— L T =4-1/30kw-~ —
T4-2/22kw- |
— 400
===3-0/185kW—_
104 400 \\\‘:::Zg'%/l&s—@’::
-2/1skw. | — 300
== =2-0/wsxw|__
‘~~::::~Qihmt_:
S22 1 kW L 200
05 | 5
= —1-0/7skwj=————— | R
______ 1-1/s5kw. \ — 100
0= 0 | I I I | | 0
0 200 400 600 800 1000 1200 Q[l/min]
[ [ I [ [ I I ]
0 12 24 36 48 60 72 Qme/h]
p, 1 100
W0 —80
____————"'—-_———7 . N%
8 — — 60
6 — @0, —40
4 - kW/stage 2 L2
0 | | | | | | 0
0 200 400 600 800 1000 1200 Q[l/min]
NPSH 12
[m] 10 — 30
8 —
6 — —20
4 -
—10
2 —
0 I I I | [ I 0
0 200 400 600 800 1000 1200 Qiimin]
Test standard: ISO 9906:2012 - Grade 3B
112

[ft]

[%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

TECHNICAL DATA
EVMSG45

Dimensional sketch

Round flange (F) - DN80

H3

H2

8 holes @ 18

=) G3/8
<1
«

o]

4|
]
7
N7

=
el

4 holes ¢ 14 ‘ H

45

Dimensions [mm] and Weights [Kg]

Motor Round flange (F)
Pump Type Pmax| kw size A B c H2  H2+H3 | Weight xz%hi
[MPa] . Pump Motor

EVMSG45 1-1/5.5 1.6 5.5 132 300 220 152 650 1049 70.5 109.5
EVMSG45 1-0/7.5 1.6 7.5 132 300 220 152 650 1069 70.5 116.5
EVMSG45 2-2/11 1.6 1" 160 350 259 180 752 1191 82.6 145.1
EVMSG45 2-1/11 1.6 1 160 350 259 180 752 1191 82.7 145.2
EVMSG45 2-0/15 1.6 15 160 350 311 240 752 1247 7.7 172.7
EVMSG45 3-2/15 1.6 15 160 350 311 240 824 1319 76.7 177.7
EVMSG45 3-1/18.5 1.6 18.5 160 350 311 240 824 1319 80.9 189.9
EVMSG45 3-0/18.5 1.6 18.5 160 350 311 240 824 1319 80.9 189.9
EVMSG45 4-2/22 1.6 22 180 350 354 260 896 1448 83.0 218.0
EVMSG45 4-1/30 1.6 30 200 400 354 280 896 1448 75.3 243.3
EVMSG45 4-0/30 1.6 30 200 400 354 280 896 1448 75.3 243.3
EVMSG45 5-2/30 25 30 200 400 354 280 968 1520 80.6 248.6
EVMSG45 5-1/30 2.5 30 200 400 354 280 968 1520 80.6 248.6
EVMSG45 5-0/37 25 37 200 400 382 295 985 1662 110.6 370.6
EVMSG45 6-2/37 2.5 37 200 400 382 295 1057 1734 117.4 3774
EVMSG45 6-1/37 2.5 37 200 400 382 295 1057 1734 117.4 3774
EVMSG45 6-0/37 25 37 200 400 382 295 1057 1734 117.4 3774
EVMSG45 7-2/45 3.5 45 225 450 449 335 1129 1895 134.2 508.2
EVMSG45 7-1/45 3.5 45 225 450 449 335 1129 1895 134.2 508.2
EVMSG45 7-0/45 3.5 45 225 450 449 335 1129 1895 134.2 508.2
1.6 MPa=16 bair; 2.5 MPa=25 bar; 3.5 MPa=35 bar

113

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

120-13

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMSG45

60 Hz

3
IS

N
g@fﬂzftl
R

>

=\ %5 s \
X\,
3 W? 7o Y A

£

% &
i

75

N o
N A
[V

43-5
120-9
44-2
52-2
137-2
135-5
120-12

= EaaraA

2731
75-1

Pump without ball bearing
up to 30 kW

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

EBARA Pumps Europe

114



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG45

128-3

|
-
70-1
274-2
150
120-7
135-4
39-1
135-3
120-5
120-13

\
\
N 1) g7 —
Ll-\&i\\\l ,r,|‘
Y\

75
212

VAN

N

T
A\

21/21-1

135-2
128-2

75-1

2731

=

2NN

S

PN 5
N <A

\ '/
NN
Sy A

[

212-2
212-3
75

43-1
5-4

43-2
55

/]

5-2
43-6
137-1

«©
<

43-5

120-9

137-2

135-5

120-12

2121

5

Pump with single ball bearing

above 37 kW

115

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG45

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottor casing Cast Iron EN GJL-250 EN 1561
Cast Iron EN GJS 400-15 EN 1563
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
431 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing above 37 kW see table page 119
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM ©12.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM/FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal See pages 6-7
111-3 Mechanical seal flange EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM/FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM /FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

116

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG45

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
up to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1ISO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1ISO 4762
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 UNI 7323 with M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1ISO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) @5.1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 310.2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carboon steel 6.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 75 UNI 7435

117

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

QUANTITY FOR MODEL

EVMSG45

B~~~ |n|n]|a]<]|<|<|0|o|w]o|lo|o]|w|[o|w©
Y

& ===~~~
0

N B Bl B Bl B B Bl Bl B B B Bl Bl Bl B Bl R I K
0

5 |=I=1=1=[~I==|=|=[~|=~|=]=[~|~|<]|=|~|~]+
LA R Rl I I e e e N I I R e Rl el e o e e
D~ B R B e Bl B B Rl Rl R i Bl Rl Rl Rl B Rl B B B
=3 R Rl R e e e e N I I R e R el e o e e
o

PIN IR R [ [ Ny ) [N N [N () I N N e e e e
<

< [=|=|~|~|~]~|~]~]~]~|~]|~]~|~|~]|~|~ |||~
<

©

PO IS R [ [ QN N [N U [N () ) e N e e e e
<

)

PO IR RS [ [ QN N [N U (N () ) N N e e e e
<

<

P Bl B Bl B B Bl Bl B B B B Bl Bl B Bl R I K
<

)

L Bl B Bl B B Bl Bl B B B Bl Bl Bl B Bl R I K
<

o

N Aal B B B A I B I B A I B A B B e el e Rl R R
o <
-

PTSN IR RS [ [ QN ) [N N [N () ) N N e e e e
<

& [~|=]|~|=|~]~[=~]|~]~|~|~|<[<|=]=|=]|=]|=|~|+~
52!

& =]~~~ ~|~|~|~[~
2]

bl R o Bl o S I I I I I O I N e R e e
= |~~~ |~~~ |~|a]=]~]n]=]~]n]+~]|~
N

S =]~ |~]~|]o]|a]|o|t]|o|s|w]<|[0w]|o|w|of~
I R Rl R e R N I I R I I o I e e e e
I R Rl Bl B Bl R Bl Bl Bl Bl Bl Bl B Bl Rl Bl Bl Rl Rl B
© |||~~~
2l =======|==== =]~ |+
D e R e e e R R e I I I I I e et et R R R R
M//111111111111111222
o

& [~~~ |v]a|a]~|a]afo|ofo]s]|<|[<]|o|w]w
R o R Il R R e R N I I R I I e I I e e e

0w

b I B R E Ee e A N B B B B S S N S e R )

Ll BN Bl Rl Bl ) Bl ) R e el el e o (e ool ol I N

o B R B R A S R R A R MBI RN N R NN
® b A BB RIEI I G B A B el e Rl R A R I D
o viv|v|lolv|[v|v|v|vw]|v|v|v|v|v|lv||v|lv|w|w
2 ool IS I I Il ISl Il ISl IS I Il IS IS Il I I I o I IS I

(O} NOR ROY RO ROF NON NOR FOR OB ROR NON KON KUY RO ROJ JOJ ROR O RO JO)
Q. (28 N2 2R 2R 2R R R R R RPN R 2R K2R K2R K2 D K20 20 20 K20 K20 K20 K20 K]
£ S(=|2|1=21==(=2|1=2|1=2=2(=2]=]|=|12=2=2]|=2]12]=2]2
=] === =>1=>1=1==1=21=1=1=1=22121 22022
a 11 NTTQ QTR gri} NrTQ NrTQ ReTR yevQ NrrQ RrTR yroQ NrrQ o QiiQ QriQ NriQ gri} griQ yrig yev}

[ shaftin EN 1.4462 (AISI 329A)

N°

107 |111-1|111-3]111-4]111-5[115-1]115-4{115-5]120-1{120-2|120-3{120-5/120-6| 120-7|120-8|120-9|120-12]120-13{128-1]128-2{128-3|130-1

81

56 [70-1]70-2| 75 |75-1

/
/
/
/
/
/
/
/
/
/
/
/
/
1
1
1
1
1
1
1

Pump Type

EVMSG45 1-1/5.5

EVMSG45 1-0/7.5

EVMSG45 2-2/11

EVMSG45 2-1/11

EVMSG45 2-0/15

EVMSG45 3-2/15

EVMSG45 3-1/18.5

EVMSG45 3-0/18.5

EVMSG45 4-2/22

EVMSG45 4-1/30

EVMSG45 4-0/30

EVMSG45 5-2/30

EVMSG45 5-1/30

EVMSG45 5-0/37

EVMSG45 6-2/37

EVMSG45 6-1/37

EVMSG45 6-0/37

EVMSG45 7-2/45

EVMSG45 7-1/45

EVMSG45 7-0/45

118

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS VERTICAL MULTISTAGE PUMPS 60 1z

QUANTITY FOR MODEL
EVMSG45
N°
Pump Type
130-2{130-4/131-1(135-1|135-2{135-3|135-4]135-5[137-1|137-2| 140 |140-1{140-2] 150 | 162 | 212 [212-1|212-2[212-3| 245 |273-1[274-2]
EVMSG45 1-1/5.5 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 1-0/7.5 / 1 2 / / 1 1 1 2 / / / 1 1 1 1 2 4 /
EVMSG45 2-2/11 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 2-1/11 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 2-0/15 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2| 4 /
EVMSG45 3-2/15 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG45 3-1/18.5 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 3-0/18.5 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 4-2/22 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 4-1/30 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 | 4 /
EVMSG45 4-0/30 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 |4 /
EVMSG45 5-2/30 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 5-1/30 4 / 1 4 2 / / 1 1 1 2 / / / 1 1 4 1 1 2 4 /
EVMSG45 5-0/37 4 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 4 1 1 2 4 1
EVMSG45 6-2/37 4 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 4 1 1 2 4 1
EVMSG45 6-1/37 4 1 1 4 2|4 3 1 1 1 / 1 1 1 1 1 4 1 1 2|4 1
EVMSG45 6-0/37 4 1 1 4 2|4 3 1 1 1 / 1 1 1 1 1 4 1 1 2 4 1
EVMSG45 7-2/45 4 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 4 1 1 2 4 1
EVMSG45 7-1/45 4 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 4 1 1 2 4 1
EVMSG45 7-0/45 4 1 1 4 2 4 3 1 1 1 / 1 1 1 1 1 4 1 1 2 4 1
BEARINGS
EVMSG45
Pump Type N° 56

EVMSG45 1-1/5.5
EVMSG45 1-0/7.5
EVMSG45 2-2/11
EVMSG45 2-1/11
EVMSG45 2-0/15
EVMSG45 3-2/15
EVMSG45 3-1/18.5
EVMSG45 3-0/18.5
EVMSG45 4-2/22
EVMSG45 4-1/30
EVMSG45 4-0/30
EVMSG45 5-2/30
EVMSG45 5-1/30

~ |~~~ |~~~ == ===~

EVMSG45 5-0/37 6315Z7Z C3
EVMSG45 6-2/37 6315Z7Z C3
EVMSG45 6-1/37 63152Z C3
EVMSG45 6-0/37 6315ZZ C3
EVMSG45 7-2/45 6315ZZ C3
EVMSG45 7-1/45 6315277 C3
EVMSG45 7-0/45 6315Z7Z C3

119

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMS(L)64
o USgpm. 100 200 300 400 500
1 1 1 | | |
f T T T T
0 Impgpm. 100 200 300 400
250
— 800
P Ho| H
e | [ 50/askw i)
F— \\\\\ — 700
20 — L 5'1/45\@’\ o~
200 == = —
~5-2/a5kW ~
|~ -4-0/37kw_ T L 600
T== =4-1/37kw
15 — - =L — 500
150 T T4-2/37kw
I~ =3-0/30kw_ TT=
““““ 3-1/30kw [~ 400
1.0 — 100 I —— T === 3-2/22KW —_—
~=2-0/185kw — | — 300
_____ 2-1/185kw . __
“““““ 2-2/15kw — — | r— 200
05— 50 —
—-1-0/110kw ——— 1 __|
—————— 1-1/7.5kw — —— — o r— 100
o— 0 T T T T 0
0 400 800 1200 1600 Q[l/min]
[ | [ [ | |
0 2% 48 72 92 Q]
p, 80
R L0 [
N%
12 — — 60
g — /¢DZ 50
D *
4 kW/stage —— @D, L 50
0 I I | | 0
0 400 800 1200 1600 Q[l/min]
NPSH 16 — NPSH
[m] 12 | — [f]
8 —
4
0 | l | | 0
0 400 800 1200 1600 Q[l/min]
Test standard: 1ISO 9906:2012 - Grade 3B
120

EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMS(L)64

Dimensional sketch

Loose round flange (LF) - DN100

H3

H2

| 8 holes D3

G3/8

L 140_
t
=
+
100
1 |g140
D2
! 3,
O

I I}
L] H8 4 holes @ 14

190

250

365

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)

bump Type Pmax| kW Sizz A B C | H2 H2+H3 D1 D2 D3 H8 |weight ;"ﬂ%“i

[MPa] o Pump Motor
EVMS(L)64 1-1/7.5 1.6 7.5 132 300 220 152 650 1069 180 | 220 18 24 77.4 123.4
EVMS(L)64 1-0/11 1.6 1" 160 350 259 180 680 1119 180 | 220 18 24 84.5 147.0
EVMS(L)64 2-2/15 1.6 15 160 350 311 240 752 1247 180 | 220 18 24 78.6 179.6
EVMS(L)64 2-1/18.5 1.6 18.5 160 350 311 240 752 1247 180 | 220 18 24 82.7 191.7
EVMS(L)64 2-0/18.5 1.6 18.5 160 350 311 240 752 1247 180 | 220 18 24 82.7 191.7
EVMS(L)64 3-2/22 16 | 22| 180 | 350 | 354 | 260 | 824 | 1376 | 180 | 220 | 18 | 24 | 848 | 2198
EVMS(L)64 3-1/30 1.6 30 200 400 354 280 824 1376 180 | 220 18 24 77.2 2452
EVMS(L)64 3-0/30 1.6 30 200 400 354 280 824 1376 180 | 220 18 24 77.2 2452
EVMS(L)64 4-2/37 25 37 200 400 382 295 913 1590 190 | 235 22 30 122.2 382.2
EVMS(L)64 4-1/37 25 37 200 400 382 295 913 1590 190 | 235 22 30 122.2 382.2
EVMS(L)64 4-0/37 25 37 200 400 382 295 913 1590 190 | 235 22 30 122.2 382.2
EVMS(L)64 5-2/45 2.5 45 225 450 449 335 985 1751 190 | 235 22 30 138.8 512.8
EVMS(L)64 5-1/45 25 45 225 450 449 335 985 1751 190 | 235 22 30 138.8 512.8
EVMS(L)64 5-0/45 2.5 45 225 450 449 335 985 1751 190 | 235 22 30 138.8 512.8
1.6 MPa=16 bair; 2.5 MPa=25 bar

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

ﬁ/ 120-13
|

75

111-5

115-4

135-2
128-2

273-1

75-1
131-2

= EaaraA

SECTIONAL VIEW
EVMS(L)64

(@

. Alz‘fw/ ~
=

Pump without ball bearing
up to 30 kW

VERTICAL MULTISTAGE PUMPS

60 Hz

7 ﬁ a ()

=
NN
.~

—

v P N oA
<)

o) <+

< ¥ v o

137-2
135-5

120-12

EBARA Pumps Europe

122

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMS(L)64

@
0
«

1

1)
2

P ¥ Qo
e 3 N5 & e

135-2
128-2
131-2
273-1
2121

120-7
135-4
39-

135-3
120-5

/“\‘)

K /MW//W, &

\W\»é‘ BESa 7L 780 /N AN AN PN TN ) g/ '/.#M%X‘lll
/l\\\#ﬁ/\\\k.—&ﬂ s e N y \\
@.—f/l.@ia ) .A
N N

1\\\\\\\\\0\‘ '
NS AL

._
f‘m/‘,\%\\ 7 )

b "vi'\ U_Te/]] T 7 20
V\\ — \ P / > \mfﬁw» \\\‘..

=07\ T

N ‘ 1 W A h/w
N7 TTILEEN

7777
Yy

—
£

gspeccdezdfacan /NNy ey Yoo Y ER e © 8 2
LI I OO A®OHIN -~ AND .\h/ﬁ%&&. S -2 0w Q v Hw @ o ¥ - -~ ¥
- = & - = - - - AR - pe

i

NI

N - a o N

~ 5 5020_751

IR ) T <3

v ¥ v 0 22

Na

/)
2
A | .\ o
., \

123
EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

Pump with single ball bearing
above 37 kW




60 1 EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMS(L)64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) i’\,‘\‘ 11..‘2‘2%42(3\”5853;2692)-
32-1 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.'43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing above 37 kW see table page 127
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM / FPM ©12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11141 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 I1SO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

124

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
up to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 ISO 4762
120-6 Screw (pump coupling) from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1SO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1SO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 I1SO 4762
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 ISO 4017
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 UNI 7323 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 I1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 I1SO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) D6x26 ISO 8752
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 I1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316) @5.1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 210.2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carboon steel 6.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435
615 Loose flange Cast Iron EN GJS 500-7 EN 1563

125

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

QUANTITY FOR MODEL

EVMS(L)64

N°

52-1|52-2

51

48

46 | 47

32-1(39-1]|43-1|43-2|43-3|43-4|43-5(43-6|44-1(44-2| 45

31

12 ] 21 (2141

7

6

5-215-3|54]55

4

1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

N°

107 {111-1]111-3{111-4/111-5|115-1|115-4]115-5[120-1]120-2{120-3]120-5{120-6|120-7|120-8[120-9]120-12{120-13]128-1(128-2|128-3

81

56 [70-1]70-2| 75 |75-1

53

1
1
1
1
1
2
3
3
6
6
6
7
7

N°

130-1[130-2|130-4{131-1|131-2{135-1|135-2|135-3|135-4]135-5{137-1]137-2| 140 |140-1{140-2| 150 | 160 | 162 | 212 [212-1]212-2|212-3] 245 [273-1|1274-2| 615

3
3
3
3
3
3
3
3
3
3
3
3
3
3

[ shaftin EN 1.4462 (AISI 329A)

EVMS(L)64 1-1/7,5
EVMS(L)64 1-0/11
EVMS(L)64 2-2/15
EVMS(L)64 2-1/18,5
EVMS(L)64 2-0/18,5
EVMS(L)64 3-2/22
EVMS(L)64 3-1/30
EVMS(L)64 3-0/30
EVMS(L)64 4-2/37
EVMS(L)64 4-1/37
EVMS(L)64 4-0/37
EVMS(L)64 5-2/45
EVMS(L)64 5-1/45
EVMS(L)64 5-0/45

Pump Type

EVMS(L)64 1-1/7,5
EVMS(L)64 1-0/11
EVMS(L)64 2-2/15
EVMS(L)64 2-1/18,5
EVMS(L)64 2-0/18,5
EVMS(L)64 3-2/22
EVMS(L)64 3-1/30
EVMS(L)64 3-0/30
EVMS(L)64 4-2/37
EVMS(L)64 4-1/37
EVMS(L)64 4-0/37
EVMS(L)64 5-2/45
EVMS(L)64 5-1/45
EVMS(L)64 5-0/45

Pump Type

EBARA Pumps Europe

EVMS(L)64 1-1/7,5
EVMS(L)64 1-0/11
EVMS(L)64 2-2/15
EVMS(L)64 2-1/18,5
EVMS(L)64 2-0/18,5
EVMS(L)64 3-2/22
EVMS(L)64 3-1/30
EVMS(L)64 3-0/30
EVMS(L)64 4-2/37
EVMS(L)64 4-1/37
EVMS(L)64 4-0/37
EVMS(L)64 5-2/45
EVMS(L)64 5-1/45
EVMS(L)64 5-0/45

126

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

BEARINGS

EVMS(L)64
Pump Type N° 56
EVMS(L)64 1-1/7,5 /
EVMS(L)64 1-0/11 /
EVMS(L)64 2-2/15 /
EVMS(L)64 2-1/18,5 /
EVMS(L)64 2-0/18,5 /
EVMS(L)64 3-2/22 /
EVMS(L)64 3-1/30 /
EVMS(L)64 3-0/30 /
EVMS(L)64 4-2/37 6315 2ZZ C3
EVMS(L)64 4-1/37 6315 ZZ C3
EVMS(L)64 4-0/37 6315 ZZ C3
EVMS(L)64 5-2/45 631527 C3
EVMS(L)64 5-1/45 63152ZZ C3
EVMS(L)64 5-0/45 6315 ZZ C3

127
5 E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE

EVMSG64
o USgpm. 100 200 300 400 500
I - 1 : 1 , 1 .
0 Imp.gpm. 100 200 300 400
250
— 800
P Ho| H
Mpel | [ [ 5O/askw )
. T~ — 700
20 i 5-1/4§Kiv\ ~=
200 ==—<—— —
~5-2/askw
[~ "4-0/37kw_ T e L 600
T== =4-1/37kw
15— = 1—=L — 500
10 T[T4-2/37kw
= "3-0/30kw _ _ =
“““““ 3-1/s0kw 40
0o 10 4—F—== 3-2/22kw
—=2-0/185kw — m| — 300
—————— 2-1/185kw .|
—————— 2-2/15kw — — | — 200
05— 50 —
—-1-0/110kw —— — L |
—————— 1-1/7.5kw — —|— — — 100
o= 0 | | | | 0
0 400 800 1200 1600 Qlimin]
[ I [ [ [ |
0 2% 48 72 ) Q[meh]
P, 20 80 n
kW] 16 —| 70 ]
N%
12 —| — 60
. i ——— Y -
D *
4 kW/stage _ @D, w0
0 T T T T 0
0 400 800 1200 1600 Qimin]
NPSH 16 7] NPSH
[m] 12 | — [ft]
8 |
4 |
0 | | | | 0
0 400 800 1200 1600 Qlimin]
Test standard: 1ISO 9906:2012 - Grade 3B
128

EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMSG64

Round flange (F) - DN100

H3

H2

G3/8

8 holes D3

- ’-‘ 4 H W 7070 Z4+R G3/8
== « 2 I g 4 i -
JJL bld [ll— N
L [ : |
] H8 4holes @14 ‘! | ©

190 D1

251

365

Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
Pmax| kW Size A B C | H2 H2+H3 D1 D2 D3 H8 |weight veight
Pump Type [MPa] Pump Pump +
[%] Motor

EVMSG64 1-1/7,5 1,6 7,5 132 300 220 152 650 1069 180 | 235 18 24 74,7 120,7
EVMSG64 1-0/11 1,6 1 160 350 259 180 680 1119 180 | 235 18 24 81,8 144,3
EVMSG64 2-2/15 1,6 15 160 350 311 240 752 1247 180 | 235 18 24 76,0 177,0
EVMSG64 2-1/18,5 1,6 18,5 160 350 311 240 752 1247 180 | 235 18 24 80,2 189,2
EVMSG64 2-0/18,5 1,6 18,5 160 350 311 240 752 1247 180 | 235 18 24 80,2 189,2
EVMSG64 3-2/22 1,6 22 180 350 354 260 824 1376 180 | 235 18 24 82,4 217,4
EVMSG64 3-1/30 16 | 30 | 200 | 400 | 354 | 280 | 824 | 1376 | 180 | 235 | 18 | 24 | 748 2428
EVMSG64 3-0/30 1,6 30 200 400 354 280 824 1376 180 | 235 18 24 74,8 242,8
EVMSG64 4-2/37 25 | 37 | 200 | 400 | 382 | 295 | 913 | 1500 | 190 | 254 | 22 | 31 | 1215 | 3815
EVMSG64 4-1/37 2,5 37 200 400 382 295 913 1590 190 | 254 22 31 121,5 381,5
EVMSG64 4-0/37 25 | 37 | 200 | 400 | 382 | 205 | 913 | 1500 | 190 | 254 | 22 | 31 | 1215 | 3815
EVMSG64 5-2/45 2,5 45 225 450 449 335 985 1751 190 | 254 22 31 138,3 512,3
EVMSG64 5-1/45 25 | 45 | 225 | 450 | 449 | 335 | 985 | 1751 | 190 | 254 | 22 | 31 | 1383 | 5123
EVMSG64 5-0/45 2,5 45 225 450 449 335 985 1751 190 | 254 22 31 138,3 512,3

1,6 MPa=16 bar;

2,5 MPa=25 bar

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

120-13

VERTICAL MULTISTAGE PUMPS
SECTIONAL VIEW
EVMSG64

60 Hz

3
IS

N
g@fﬂzftl
R

>

=\ %5 s \
X\,
3 W? 7o Y A

£

% &
i

75

N o
N A
[V

43-5
120-9
44-2
52-2
137-2
135-5
120-12

= EaaraA

2731
75-1

Pump without ball bearing
up to 30 kW

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

EBARA Pumps Europe

130



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG64

128-3

|
-
70-1
274-2
150
120-7
135-4
39-1
135-3
120-5
120-13

\
\
N 1) g7 —
Ll-\&i\\\l ,r,|‘
Y\

75
212

VAN

N

T
A\

21/21-1

135-2
128-2

75-1

2731

=

2NN

« ///\h -~ .!\.
"V ~\\\-~\\\\‘r
N—roxc

\ /
\ \\\\\\\&W.\
NS %

VWU

[

212-2
212-3
75

43-1
5-4

43-2
55

J

5-2
43-6
137-1

«©
<

43-5

120-9

137-2

135-5

120-12

2121

5

Pump with single ball bearing

above 37 kW

131

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottor casing Cast Iron EN GJL-250 EN 1561
Cast Iron EN GJS 400-15 EN 1563
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
431 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing above 37 kW see table page 135
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM ©12.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM/FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM /FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

132

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
up to 7.5 kW Galvanized steel 8.8 strength class ISO 898/1 M8x25 1SO 4762
120-6 Screw (pump coupling) from 11 kW to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1ISO 4762
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1SO 4017
120-12 Screw (shaft) A2-70 M6x16 1ISO 4762
MEC 132 Galvanized steel 8.8 strength class ISO 898/1 M12x45 1ISO 4017
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1ISO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
MEC 132 Galvanized steel M12 1SO 4032
128-3 Nut (motor) -
MEC 160-180-200-225 Galvanized steel M16 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 1SO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1ISO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) @5.1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel 310.2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carboon steel 6.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
137-1 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 Q75 UNI 7435

133

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

QUANTITY FOR MODEL

EVMSG64

B~~~ |a|o]|o]|o|o|o|~]|~]|~
@

N G G N G N N I R
0

—

PO B B S = sy sy ey ey )
0

S I=1=1==I=1=[=~]~]~|~|=|<|~|+
ol R

X e e e e e e e e e R B
[ IR

o e e e e e e e e e R B
[ I ~ ||~ ~ |~
Q - I e

a

I I G S G e N R I
<

—

TR [N [N ) U NI N (NI QNI NI N [ U U
<

©

UGN [RNSY QN U JU  JU N N J JURN U U U
<

©

UGN [PNSY QNE  JUE  JU NN N J JUN JU N U
<

i
[~~~ ]<]|+
<

@

PG SN [N R U I QN NN N I QN [ U
<

o

N Al Bl B B B I B B A e K R R R
o <
z ——

PUNY [FS Y U NI N N NN NN RN NN U U U
<

—

o |~~~ [<[<[<[<|<|<|=|=|<|<]|~
@0

—

&=l <]<|<|<|<]|~
a2l

bl e el Il ol N [ [y iy g N P
=

R B L R B B B B R S B R N =)
o~

bl I Bl B R K A S R I I R A A A
JoUJ NG NN U Y U N N U (N O N U
[ Il R I I R R Rl Rl IRl Rl R R I
= Rl Rl I R I R R I [ [ [ Ny gy
©

P Bl Rl Rl Rl e R el R e e e e R
<

RS R e R e R e R e e e e R B
@

S ===~~~
o
5//111211444555
R Rl I R I R R I I [ [ [y gy

wlw

Llic|lv]|o|lo|alolo|nn|n]o|w|w

== =911l |Y| S

ol A Y B B N B S Y B S R el
o S A R BINIEI EII R  R  EA  E
o e -l Sl S Sl S Bl S A N Bl B d Bl S
> olo|lo|lo|lo|lo|o|o|lo|o|o|o|a]|®
= (O FOR O] RO} RO NOR NUR FOR RGN KON NOR NOR RO O]
[-% DR[| D|R]|D]|D|D]|D|ND|NR
5 IR E R EEEE
S >1=>=>1=>1=21=>121=21=21=1212]1>] 2
o (TN RUTR NTTR RTIR NTIR RTIR RTWR RTIR RTIN NTIR RTIR RTUY RTTR RIT)

[ shaftin EN 1.4462 (AISI 329A)

N°

107 {111-1]111-3{111-4/111-5[115-1|115-4]115-5[120-1]120-2|120-3]120-5{120-6|120-7{120-8|120-9|120-12{120-13]128-1|128-2]128-3|130-1

81

56 [70-1]70-2| 75 |75-1

/
/

/
/
/
/
/
1
1
1
1
1

1

N°

130-2[130-4/131-1{135-1|135-2{135-3|135-4]135-5[137-1|137-2| 140 |140-1(140-2] 150 | 162 | 212 [212-1|]212-2[212-3| 245 |273-1[274-2

4
4
4
4
4
4
4
4
4
4
4
4
4
4

Pump Type

EVMSG64 1-1/7,5

EVMSG64 1-0/11

EVMSG64 2-2/15

EVMSG64 2-1/18,5

EVMSG64 2-0/18,5
EVMSG64 3-2/22

EVMSG64 3-1/30

EVMSG64 3-0/30

EVMSG64 4-2/37
EVMSG64 4-1/37

EVMSG64 4-0/37

EVMSG64 5-2/45

EVMSG64 5-1/45

EVMSG64 5-0/45

Pump Type

EVMSG64 1-1/7,5

EVMSG64 1-0/11

EVMSG64 2-2/15

EVMSG64 2-1/18,5

EVMSG64 2-0/18,5

EVMSG64 3-2/22

EVMSG64 3-1/30

EVMSG64 3-0/30

EVMSG64 4-2/37

EVMSG64 4-1/37

EVMSG64 4-0/37

EVMSG64 5-2/45

EVMSG64 5-1/45

EVMSG64 5-0/45

134

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

QUANTITY FOR MODEL
EVMSG64

Pump Type N° 56
EVMSG64 1-1/7,5
EVMSG64 1-0/11
EVMSG64 2-2/15
EVMSG64 2-1/18,5
EVMSG64 2-0/18,5
EVMSG64 3-2/22
EVMSG64 3-1/30

~ ===

EVMSG64 3-0/30 /

EVMSG64 4-2/37 6315ZZ C3
EVMSG64 4-1/37 6315Z7Z C3
EVMSG64 4-0/37 6315Z7Z C3
EVMSG64 5-2/45 6315Z7Z C3
EVMSG64 5-1/45 6315Z7Z C3
EVMSG64 5-0/45 6315272Z C3

135
5 E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMS(L)90
o USgpm. 100 200 3?0 4?0 5(:0 6([)0 7?0
1 | |
! I 1 I I I I
0 Imp.g.p.m. 100 200 300 400 500 600
200
P H —600 H
MPa] m | [ft]
T~ 4-2/45kw
15 — T~ —500
150 —=—
- \3-0/37\KW \
L 3—1/§7£w\\ \\ 00
T 3-2/aw T \\\
1.0 — - \'\
100 ——— T~ ™~ L
—~2-0/30kw_ e \ \ —300
T~ 2-1/22xw_ \ \\
=L _ 2_2/18.5‘KW '\\ \
05— | i e \
S0 ==1-0/15kw_T_ ~ ~
______ ] \
T —1-1/11kw _ ——— —100
0 0 0
0 400 800 1200 1600 2000 2400 QQlimin]
[ I [ [ [ [ I ]
0 24 48 72 96 120 144 Q[meh]
P, 24 | 80 N
KW 2 — ——n% 70 [
18 /// 60
14 50
10 W P0: 40
+ "
kW/stage .
6 20
0 0
0 400 800 1200 1600 2000 2400 QQlimin]
NPSH 12 NPSH
(m] 10 | 5 [
8 ,/
6 / 20
4
— 10
2
0 0
0 400 800 1200 1600 2000 2400 QQlfmin]
Test standard: 1ISO 9906:2012 - Grade 3B
136

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)90

Loose round flange (LF) - DN100

H3

H2

G3/8

140,

100,

I )
1

8 holes D3

G3/8

190

250

365

Dimensions [mm] and Weights [Kg]

Motor Loose round flange (LF)
Pump Type RTPZ’; kW Size A B Cc H2 H2+H3 D1 D2 D3 HS8 Vl\,llejing1ht :Yﬁ:%hi

(%} P Motor
EVMS(L)90 1-1/11 1.6 11 | 160 | 350 | 259 180 701 1140 180 | 220 | 18 | 24 84.7 147.2
EVMS(L)90 1-0/15 1.6 15 | 160 | 350 | 311 240 701 1196 180 | 220 | 18 | 24 73.8 174.8
EVMS(L)90 2-2/18.5 16 |185| 160 | 350 | 311 240 794 1289 | 180 | 220 | 18 | 24 86.2 195.2
EVMS(L)90 2-1/22 1.6 22 | 180 | 350 | 354 260 794 1346 | 180 | 220 | 18 | 24 83.2 218.2
EVMS(L)90 2-0/30 1.6 30 | 200 | 400 | 354 280 794 1346 | 180 | 220 | 18 | 24 75.6 2436
EVMS(L)90 3-2/37 1.6 37 | 200 | 400 | 382 295 904 1581 220 | 180 | 18 | 24 108.0 368.0
EVMS(L)90 3-1/37 1.6 37 | 200 | 400 | 382 295 904 1581 220 | 180 18 24 108.0 368.0
EVMS(L)90 3-0/37 1.6 37 | 200 | 400 | 382 295 904 1581 220 | 180 | 18 | 24 108.0 368.0
EVMS(L)90 4-2/45 25 45 | 225 | 450 | 449 335 997 1763 235 | 190 22 30 128.5 502.5

1.6 MPa=16 bar;

2.5 MPa=25 bar

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

21/211

120-6
128-3
111-4
1115
111-1
115-4
137-1
135-2
128-2
48
70-2
212-1
2731
75-1
131-2

©
»
<

up to 30 kW

EVMS(L)90

Pump without ball bearing

SECTIONAL VIEW

§ Q,

212-2
75
435
120-9
137-2
135-5
120-12
138

= EaaraA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

SECTIONAL VIEW
EVMS(L)90

21/2141
2 43-3
il /
| N 441
[ 52-1
% 43-4
|l 107
43-5 Ny 5
120-9 81
44-2
52-2
137-2
135-5
120-12
160 751
131-2
Pump with single ball bearing
above 37 kW

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)90

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-5 Top intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
12 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4462 (AISI 329A)
32-1 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4404 (AISI 316L)
48 Impeller nut EN 1.'43.01 (AISI 304) EN 1.'44.01 (AISI 316)
with inox insert with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing above 37 kW see table page 143
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
75 O-Ring (priming plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (drainage plug) EPDM / FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11141 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/ FPM ©23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM /FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
120-3 Screw (seal flange) A2-70 M5x12 I1SO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

140

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMS(L)90

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS | EVMSL
. up to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4762

120-6 Screw (pump coupling) -

above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1ISO 4017
120-12 Screw (shaft) A2-70 M6x16 I1SO 4762
120-13 Screw for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 ISO 4017

MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
128-3 Nut (motor) MEC 160-180-200-225 Galvanized steel M16 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel @8X50 ISO 2338
131-2 Elastic pin EN 1.4301 (AISI 304) D6x26 I1SO 8752
135-1 Wasbher (tie rod) EN 1.4301 (AISI 304) @16 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316) @5.1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel @10.2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carboon steel 6.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
160 Base Cast Iron EN GJL200 EN 1561
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-1 Drainage plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Washer (drainage plug) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
274-2 C-type snap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435

615 Loose flange

Cast Iron EN GJS 500-7 EN 1563

141

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)90

Pump Type

N
)

5-3

54

5-5

12

N

21-1

N°

31 |32-139-1]43-1

432

43-3

434

43-5

43-6

44-1

44-2

'S
(&)

46

47

48

51 [52-1]52-2

EVMS(L)90 1-1/11

EVMS(L)90 1-0/15

EVMS(L)90 2-2/18.5

EVMS(L)90 2-1/22

EVMS(L)90 2-0/30

EVMS(L)90 3-2/37

EVMS(L)90 3-1/37

EVMS(L)90 3-0/37

EVMS(L)90 4-2/45

alalalalalalalala

[} =N N RSN N DN DN D N

alalalalalalal~]~

alalalalalalalala

alalalalalalalala

alalalalalalalala

alalalalalalalala

alalalalalalalala

NI N Y N YRS N ES

N~ =Nn <=2 <] =
alalalalalalalalas
~|~|=|=|=]|=]|=]|=]=
alalalal~~]~]|~]|~
alalalalalalalala

wln NN NN =] -

alalalalalalal~]~

alalalalalalal~]~

alalalalalalalala

alalalalalalalalas

alalalalalalal~]~

alalalalalalalalas

INIFN) FN) BN FNS FNQ PN N NS

alalalalalalalalas

alalalalalalalalas

alalalalalalalalas

alalalal~~]~]|~]|~
alalalalalalal~]~
alalalalalalalalas

] shaftin EN 1.4462 (AISI 329A) only for EVMSL

Pump Type

a1
@

56

70-1

70-2

~
a

N

©
pre

107

111

11-3

N°

111-4{111-5[115-1|115-4

115-5)

120-1

120-2

120-3

120-5

120-6

120-7

120-8

120-9

120-12)

120-13)

128-1(128-2|128-3

EVMS(L)90 1-1/11

N

IS

N

IS

IS

IS

IS

IS
IS
IS

EVMS(L)90 1-0/15

EVMS(L)90 2-2/18.5

EVMS(L)90 2-1/22

EVMS(L)90 2-0/30

EVMS(L)90 3-2/37

EVMS(L)90 3-1/37

EVMS(L)90 3-0/37

EVMS(L)90 4-2/45

Plw|lw|lw|lw|lw|w|=|=

alalalal~~]~]|~]|~

alalalal~~]~]|~]|~

alalalalalalalal~

NINININININININND

=
ENIENI PN FN) FN) N NN FNQ VN IS

winINn NI = -

Plwlw|lw|NdINdIN|[=2]=

alalalalalalalala

1
1
1
1
1
1
1
1
1

alalalalalalalala
alalalalalalalala
NININININININEN

alalalalalalalala

alalalalalalalal~

INNFNI PN FN) N NN ') PN

NININININININEN

INNENI PN FN) FN NN N PN

INIFN) FN) N [N PO ) )

NINININIRIRID] D>

wlwlw|lw|~]|~]|~|~]|~

INIFN) FN) N [N P ) )

INNENI PN FN) FN NN N PN

alalalalalalalala

AN ENENENENENES

INNFNI PN FN) N NN ') PN
INNFNI PN FN) N NN ') PN
CIES ESESENENENES

Pump Type

130-1

130-2

130-4

131-1

131-2

135-1

135-2

135-3]

135-4

137-2( 1

o

135-5[137-1 140-1

140-2

150

160

162

212

212-1

212-2)

212-3)

245

273-1

274-2)

615

EVMS(L)90 1-1/11

w

IS

IS

N

IS

IS

EVMS(L)90 1-0/15

EVMS(L)90 2-2/18.5

EVMS(L)90 2-1/22

EVMS(L)90 2-0/30

EVMS(L)90 3-2/37

EVMS(L)90 3-1/37

EVMS(L)90 3-0/37

EVMS(L)90 4-2/45

Wlwlw|lw|lw|lw|lw]|w

B I IR I I S N N

alalalal~~]~]|~]|~

alalalalalalalala

alalalalalalalala

B I IR I I S N N

NN NN NN NN

IN] NS [FNQ) [N I ) (R )

wlw|lw|lw|~|~<|~]|~]|~

alalalalalalalala
alalalalalalalala
alalalalalalalala
~]=]=1=IN|INMININ|N]| &
s~~~ ]|~]|~

alalalal~~]~]|~]|~

alalalal~~]~]|~]|~

alalalalalalalala

alalalalalalalala

alalalalalalalala

B I IR I I S N N

alalalalalalalala

alalalalalalalala

NINININININ NN

B IR IR I I S N N

alalalal~~]~]|~]|~

NINININININ NN

142

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

BEARINGS

EVMS(L)90
Pump Type N° 56
EVMS(L)90 1-1/11 /
EVMS(L)90 1-0/15 /
EVMS(L)90 2-2/18.5 /
EVMS(L)90 2-1/22 /
EVMS(L)90 2-0/30 /
EVMS(L)90 3-2/37 6315 ZZ C3
EVMS(L)90 3-1/37 631527 C3
EVMS(L)90 3-0/37 631527 C3
EVMS(L)90 4-2/45 6315 2ZZ C3

143

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE CURVE
EVMSG90
o USgpm. 100 200 3?0 4?0 5(:0 6([)0 7?0
1 | |
! I 1 I I I I
0 Imp.g.p.m. 100 200 300 400 500 600
200
P H —600 H
MPa] m | [ft]
T~ 4-2/45kw
15 — T~ —500
150 —=—
- \3-0/37\KW \
L 3—1/§7£w\\ \\ 00
T 3-2/aw T \\\
1.0 — - \'\
100 ——— T~ ™~ L
—~2-0/30kw_ e \ \ —300
“T~ 2-1/22kw_- \ \\
=L _ 2_2/18.5‘KW '\\ \
05— | i e \
S0 ==1-0/15kw_T_ ~ ~
______ ] \
T —1-1/11kw _ ——— —100
0 0 0
0 400 800 1200 1600 2000 2400 QQlimin]
[ I [ [ [ [ I ]
0 24 48 72 96 120 144 Q[meh]
P, 24 | 80 N
KW 2 — ——n% 70 [
18 /// 60
14 50
10 W P0: 40
+ "
kW/stage .
6 20
0 0
0 400 800 1200 1600 2000 2400 Qllimin]
NPSH 12 NPSH
(m] 10 | 5 [
8 ,/
6 / 20
4
— 10
2
0 0
0 400 800 1200 1600 2000 2400 QQlfmin]
Test standard: 1ISO 9906:2012 - Grade 3B
144

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMSG90

Round flange (F) - DN100

H3

H2

8 holes D3

« [l e = e
—= «2 I 8 - ~
g | e ==
i fi i
1| He o
<
190
251
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
Pmax i Weight ‘Veight
Pump Type i kW Size A B c H2 H2+H3 D1 D2 D3 H8 e ns: Pump +
(%} P Motor
EVMSG90 1-1/11 1.6 1" 160 | 350 259 180 701 1140 180 | 235 18 24 81.9 144 .4
EVMSG90 1-0/15 1.6 15 160 | 350 311 240 701 1196 180 | 235 18 24 70.9 171.9
EVMSG90 2-2/18.5 1.6 18.5 | 160 | 350 311 240 794 1289 180 | 235 18 24 83.4 192.4
EVMSG90 2-1/22 1.6 22 180 | 350 354 260 794 1346 180 | 235 18 24 80.4 2154
EVMSG90 2-0/30 1.6 30 200 | 400 354 280 794 1346 180 | 235 18 24 72.7 240.7
EVMSG90 3-2/37 1.6 37 200 | 400 382 295 904 1581 180 | 235 18 24 105.1 365.1
EVMSG90 3-1/37 1.6 37 200 | 400 382 295 904 1581 180 | 235 18 24 105.1 365.1
EVMSG90 3-0/37 1.6 37 | 200 | 400 382 295 904 1581 180 | 235 18 24 105.1 365.1
EVMSG90 4-2/45 2.5 45 | 225 | 450 449 335 997 1763 190 | 254 22 31 122.3 496.3

1.6 MPa=16 bar;

2.5 MPa=25 bar

145

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG90

S
-

-
g
5

I

)““\\5\

83

S
S
T

212-2

212-3
75

AN
A957N

BN

43-5
120-9

44-2

52-2

137-2
135-5

o N ~h
<[ A\ 7 3 < 4 -
\ “;,\
120-12 K
2121

273-1
75-1

Pump without ball bearing
up to 30 kW

146

21/21-1
43-3
44-1
521
43-4

107
53
81

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS

212-2
212-3
75

RN

A
® =
.,,‘7

)—

43-5
120-9
44-2
52-2
137-2
135-5
120-12

SECTIONAL VIEW
EVMSG90

21/211

& X}% —— ws
-

7

Pump with single ball bearing
above 37 kW

147

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG90

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-2 Intermediate casing EN 1.4301 (AISI 304)
5-3 Intermediate casing with bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
5-5 Top intermediate casing EN 1.4301 (AISI 304)
6 Bottor casing Cast Iron EN GJL-250 EN 1561
Cast Iron EN GJS 400-15 EN 1563
7 Outer casing EN 1.4301 (AISI 304)
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
211 Reduced impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
321 Adjuster key EN 1.4301 (AISI 304)
39-1 Coupling key above 37 kW Carbon Steel
431 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
441 Shaft sleeve bearing Tungsten carbride
44-2 Shaft sleeve (bearing) Tungsten carbride
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring holder EN 1.4301 (AISI 304)
48 Impeller nut EN 1.4301 (AISI 304) with inox insert
51 Motor adapter above 37 kW Cast Iron EN GJL250 EN 1561
52-1 Sleeve bearing Tungsten carbride
52-2 Bearing sleeve (bottom casing) Tungsten carbride
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing above 37 kW see table page 151
70-1 Ring for ball bearing above 37 kW EN 1.4301 (AISI 304)
70-2 Ring for bearing sleeve EN 1.4301 (AISI 304)
75 O-Ring (priming plug) EPDM /FPM ©12.37x2.62 OR 3050
751 O-Ring (drainage plug) EPDM/FPM
81 Bush PTFE
107 Liner ring EN 1.4301 (AISI 304) + PPS
111-1 Mechanical seal See pages 6-7
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4404 (AISI 316L)
111-5 Mechanical seal cartridge sleeve EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM /FPM @240.66x5.34 OR 6945
115-4 O-Ring (cartridge sleeve) EPDM/FPM @23.39x3.53 OR 4093
115-5 O-Ring (seal flange) EPDM / FPM @44.04x3.53 OR 4175
120-1 Tie rod EN 1.4057 (AISI 431)
120-2 Tie rod (stage) EN 1.4301 (AISI 304)
120-3 Screw (seal flange) A2-70 M5x12 1ISO 4762
120-5 Screw (extension coupling) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 ISO 4017

148

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMSG90

MATERIAL
N° PART NAME DIMENSIONS | STANDARD
EVMSG
. up to 30 kW Galvanized steel 8.8 strength class ISO 898/1 M10x30 1ISO 4762
120-6 Screw (pump coupling) -
above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M12x30 1ISO 4762
120-7 Screw (ball bearing) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M6x10 1ISO 4017
120-8 Screw (motor adapter) above 37 kW Galvanized steel 8.8 strength class ISO 898/1 M10x40 1ISO 4017
120-9 Screw (bottom casing) A2-70 M5x8 1ISO 4017
120-12 Screw (shaft) A2-70 M6x16 1SO 4762
12013 Serew for motor MEC 160-180 Galvanized steel 8.8 strength class ISO 898/1 M16x50 1SO 4017
MEC 200-225 Galvanized steel 8.8 strength class ISO 898/1 M16x60 1ISO 4014
128-1 Nut (tie rod) A2-70 M16 1SO 4032
128-2 Nut (casing tie rod) A2-70 M5 1SO 4032
128-3 Nut (motor) MEC 160-180-200-225 Galvanized steel M16 1SO 4032
130-1 Set screw EN 1.4301 (AISI 304) M6x8 1SO 4026
130-2 Screw for coupling guard A2-70 M5x6 UNI 7687
130-4 Set screw (pump coupling) above 37 kW Galvanized steel M10x10 1SO 4026
131-1 Pin for shaft Carbon Steel 28X50 1ISO 2338
135-1 Washer (tie rod) EN 1.4301 (AISI 304) 216 1SO 7089
135-2 Washer (casing tie rod) EN 1.4301 (AISI 304) @5.1 UNI 1751
135-3 Washer (extension coupling) above 37 kW Galvanized steel @10.2 UNI 1751
135-4 Washer (ball bearing) above 37 kW Plated carboon steel 6.1 UNI 1751
135-5 Washer (impeller nut) EN 1.4301 (AISI 304)
1371 Impeller spacer EN 1.4301 (AISI 304)
137-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling up to 30 kW Cast Iron EN GJL250 EN 1561
140-1 Extension coupling above 37 kW Carbon Steel
140-2 Coupling above 37 kW Carbon Steel
150 Spacer (snap ring) above 37 kW Carbon Steel
162 Motor bracket up to 30 kW Cast Iron EN GJS 400-15 EN 1563
212 Priming plug EN 1.4301 (AISI 304)
2121 Drainage plug EN 1.4301 (AISI 304)
212-2 Venting plug EN 1.4401 (AISI 316)
212-3 Priming plug EN 1.4301 (AISI 304)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Washer (drainage plug) EN 1.4301 (AISI 304)
274-2 C-type snhap ring (coupling) above 37 kW Carbon Steel TC80 a75 UNI 7435

149

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG90

Pump Type

N
)

5-3

54

5-5

12

21

N
N

31 [32-1]39-1

43-1

N°

432

43-3

434

43-5

43-6

44-1

44-2

46

47

48

51

52-2

o
w

52-1

EVMSG90 1-1/11

EVMSG90 1-0/15

EVMSG90 2-2/18.5

EVMSG90 2-1/22

EVMSG90 2-0/30

EVMSG90 3-2/37

EVMSG90 3-1/37

EVMSG90 3-0/37

EVMSG90 4-2/45

alalalalalalalala

[} =S N DN N DN DN D

alalalalalalal~]~

alalalalalalalala

alalalalalalalalas

alalalalalalalalas

alalalalalalalalas

alalalalalalalalas

NI N YN N YRS N ES

N~~~ =

alalalalalalalalas
~|~|=|=|=]|=]|=]|=]=
alalalal~~]~]|~]~
alalalalalalalala

win I NN =] -

alalalalalalal~]~

alalalalalalal~]~

alalalalalalalalas

alalalalalalalalas

alalalalalalal~]~

alalalalalalalalas

alalalalalalalalas

alalalalalalalalas

alalalalalalalalas

alalalal~~]~]|~]|~

alalalalalalalalas

alalalalalalal~]~
Plw|lw|lw|lw|w]|w|=]|-

Pump Type

56

70-1

70-2

~
a

N

©
pre

107

111

11-3

11-4

111-5|115-1[115-4

115-

N°

5

120-1

120-2

120-3

120-5

120-6

120-7

120-8

120-9

120-12)

120-13)

128-1

128-2{128-3|130-1

EVMSG90 1-1/11

N

IS

N

IS

IS

IS

IS

IS

IS
IS
w

EVMSG90 1-0/15

EVMSG90 2-2/18.5

EVMSG90 2-1/22

EVMSG90 2-0/30

EVMSG90 3-2/37

EVMSG90 3-1/37

EVMSG90 3-0/37

EVMSG90 4-2/45

alalalal~~]~]|~]|~

alalalal~~]~]|~]|~

alalalalalalalal~

NINININININININND

=
ENIENI PN FN) FN) N NN FNQ BN IS

winIN NN = -

Plwlw|lw|NdININ|[=2]=

alalalalalalalala

alalalalalalalala

1
1
1
1
1
1
1
1
1

alalalalalalalala
alalalalalalalala

1
1
1
1
1
1
1
1
1

NININININININEN

INNFNI PN FN) N NN ') PN

NININININININEN

INNENI PN FN) FN NN N PN

INIFN) FN) N [N PO ) )

NN

wlwlw|lw|~]|~]|~|~]|~

INIFN) FN) N [N PO P )

INNENI PN FN) FN NN N PN

alalalalalalalal~

AN ENSENENENENES

INNFNI PN FN) N NN ') PN

AN ENENENENENES

INNFNI PN FN) N NN ') PN
Wlw|lw|lw|w|[|w]|w]|w

Pump Type

130-2

130-4

131-1

135-1

135-2

135-3]

135-4

135-5

137-1

137-2

N°

140 [140-1/140-2

150

162

212

212-1

212-2)

212-3)

245

273-1

274-2)

EVMSG90 1-1/11

IS

IS

N

IS

IS

EVMSG90 1-0/15

EVMSG90 2-2/18.5

EVMSG90 2-1/22

EVMSG90 2-0/30

EVMSG90 3-2/37

EVMSG90 3-1/37

EVMSG90 3-0/37

EVMSG90 4-2/45

NI FN) FN) FN) NG NS NS NS

alalalal~~]~]|~]~

alalalalalalalala

NI EN) FN) FN) NG NS NS NS

NININININININN

alalsnln]~]~|~|~]|~

wlw|lw|lw|~]|~]|~|~]|~

alalalalalalalala

alalalalalalalala

alalalalalalalala

~|=]=1=Inv]INv]IdvINMd|IN
S]]~~~ ]|~]|~
S~~~ ]|~]|~
S~~~ ]|~]|~

alalalalalalalala

alalalalalalalala

NI EN) FN) FN) NG NS NS NS

alalalalalalalala

alalalalalalalala

NN NN NN NN N

NI EN) FN) FN) NG NS NS NS

alalalal~~]~]|~]~

150

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

BEARINGS
EVMSG90

Pump Type N° 56
EVMSG90 1-1/11 /
EVMSG90 1-0/15 /
EVMSG90 2-2/18.5 /
EVMSG90 2-1/22 /
EVMSG90 2-0/30 /
EVMSG90 3-2/37 6315 ZZ C3
EVMSG90 3-1/37 631527 C3
EVMSG90 3-0/37 631527 C3
EVMSGO0 4-2/45 6315 2ZZ C3

151
5 E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DRAWING
EVMS(.)1-3-5-10-15-20-32-45-64-90

47\ TYPE 1
n
| >
X
<—z—>\/
TYPE 2

[ ]

152
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PACKING DRAWING
EVMS(.)1-3-5-10-15-20-32-45-64-90

TYPE 3

153
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PACKING DATA

EVMS(.)1-3-5
Pumps Pumps with motor ~3
Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type
Pump type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG

EVMS(.)1 2/0.37 385 | 400 | 385 13 1 20 1] 385 | 400 | 585 20 1 26 1
EVMS(.)1 3/0.37 385 | 400 | 385 13 1 20 1] 385 | 400 | 585 21 1 27 1
EVMS(.)1 4/0.37 385 | 400 | 385 14 1 21 1 | 385 | 400 | 770 21 1 27 1
EVMS(.)1 5/0.37 385 | 400 | 585 14 1 21 1 | 385 | 400 | 770 21 1 27 1
EVMS(.)1 6/0.55 385 | 400 | 585 15 1 22 1 | 385 | 400 | 770 22 1 28 1
EVMS(.)1 7/0.55 385 | 400 | 585 16 1 23 1 | 385 | 400 | 770 23 1 30 1
EVMS(.)1 8/0.75 385 | 400 | 585 16 1 23 1] 385|400 | 770 25 1 32 1
EVMS(.)1 9/0.75 385 | 400 | 585 17 1 24 1] 385|400 | 770 26 1 33 1
EVMS(.)1 10/0.75 385 | 400 | 585 17 1 24 1] 385|400 | 770 26 1 33 1
EVMS(.)1 11/1.1 385 | 400 | 585 18 1 25 1 ] 400 | 430 |1000| 37 2 44 2
1 | EVMS()112/1.1 385 | 400 | 585 18 1 25 1 ] 400 | 430 |1000| 37 2 44 2
EVMS(.)1 13/1.1 385 | 400 | 585 18 1 25 1 ] 400 | 430 |1000| 38 2 45 2
EVMS(.)1 14/1.1 385 | 400 | 770 20 1 26 1 ] 400 | 430 |1000| 38 2 45 2
EVMS(.)1 16/1.5 385 | 400 | 770 20 1 26 1 ] 400 | 430 |1000| 43 2 50 2
EVMS(.)1 18/1.5 385 | 400 | 770 21 1 28 1 ] 400 | 430 |1000| 44 2 52 2
EVMS(.)1 20/1.5 385 | 400 | 770 22 1 30 1 ] 400 | 430 |1200| 45 2 52 2
EVMS(.)1 22/2.2 385 | 400 | 970 24 1 30 1 ] 400 | 430 |1200| 48 2 55 2
EVMS(.)1 24/2.2 385 | 400 | 970 25 1 31 1 ] 400 | 430 |1200| 50 2 56 2
EVMS(.)1 26/2.2 385 | 400 | 970 26 1 32 1 ] 400 | 430 |1200| 50 2 57 2
EVMS(.)1 27/2.2 385 | 400 | 970 26 1 33 1 ] 400 | 430 |1200| 50 2 57 2
EVMS(.)1 29/2.2 385 | 400 | 970 27 1 34 1 ] 500 | 430 |1350| 58 2 64 2
EVMS(.)3 2/0.37 385 | 400 | 385 13 1 18 1] 385 | 400 | 585 20 1 24 1
EVMS(.)3 3/0.55 385 | 400 | 385 13 1 18 1] 385 | 400 | 585 21 1 25 1
EVMS(.)3 4/0.75 385 | 400 | 385 14 1 20 1] 385|400 | 770 23 1 28 1
EVMS(.)3 5/0.75 385 | 400 | 585 14 1 20 1] 385|400 | 770 24 1 30 1
EVMS(.)3 6/1.1 385 | 400 | 585 15 1 21 1] 385|400 | 770 25 1 31 1
EVMS(.)3 7/1.1 385 | 400 | 585 15 1 21 1] 385|400 | 770 26 1 31 1
EVMS(.)3 8/1.5 385 | 400 | 585 16 1 22 1 ] 400 | 430 |1000| 40 2 44 2
EVMS(.)3 9/1.5 385 | 400 | 585 16 1 22 1 ] 400 | 430 |1000| 40 2 44 2
EVMS(.)3 10/1.5 385 | 400 | 585 17 1 23 1] 400 | 430 |1000| 40 2 45 2
EVMS(.)3 11/2.2 385 | 400 | 585 17 1 23 1 ] 400 | 430 |1000| 42 2 47 2
3 | EVMS(.)312/2.2 385 | 400 | 585 17 1 23 1 ] 400 | 430 |1000| 42 2 47 2
EVMS(.)3 13/2.2 385 | 400 | 770 18 1 24 1 ] 400 | 430 |1000| 43 2 48 2
EVMS(.)3 14/2.2 385 | 400 | 770 20 1 24 1 ] 400 | 430 |1000| 43 2 48 2
EVMS(.)3 15/3.0 385 | 400 | 770 20 1 25 1] 400 | 430 |1000| 52 2 56 2
EVMS(.)3 16/3.0 385 | 400 | 770 21 1 26 1] 400 | 430 |1200| 52 2 57 2
EVMS(.)3 17/3.0 385 | 400 | 770 21 1 26 1] 400 | 430 |1200| 52 2 57 2
EVMS(.)3 19/3.0 385 | 400 | 770 22 1 27 1] 400 | 430 |1200| 53 2 58 2
EVMS(.)3 20/3.0 385 | 400 | 770 22 1 27 1] 400 | 430 |1200| 53 2 60 2
EVMS(.)3 21/4.0 385 | 400 | 770 23 1 28 1] 400 | 430 |1200| 60 2 65 2
EVMS(.)3 22/4.0 385 | 400 | 970 24 1 30 1] 400 | 430 |1200| 62 2 66 2
EVMS(.)3 23/4.0 385 | 400 | 970 24 1 30 1 ] 400 | 430 [1200| 62 2 66 2
EVMS(.)5 2/0.75 385 | 400 | 385 13 1 18 1] 385|400 | 770 23 1 30 1
EVMS(.)5 3/1.1 385 | 400 | 585 14 1 20 1] 385|400 | 770 25 1 31 1
EVMS(.)5 4/1.5 385 | 400 | 585 15 1 20 1 | 385 | 400 | 770 30 1 34 1
EVMS(.)5 5/2.2 385 | 400 | 585 16 1 21 1 | 385 | 400 | 770 32 1 37 1
EVMS(.)5 6/2.2 385 | 400 | 585 16 1 21 1 | 385 | 400 | 770 32 1 37 1
EVMS(.)5 7/3.0 385 | 400 | 585 16 1 22 1 ] 400 | 430 [1000| 48 2 53 2
EVMS(.)5 8/3.0 385 | 400 | 585 18 1 23 1 ] 400 | 430 |[1000| 48 2 53 2
EVMS(.)5 9/3.0 385 | 400 | 585 18 1 23 1 ] 400 | 430 |1000| 50 2 54 2
5 | EVMS(.)5 10/4.0 385 | 400 | 770 20 1 24 1 ] 400 | 430 |1000| 56 2 61 2
EVMS(.)5 11/4.0 385 | 400 | 770 20 1 25 1 ] 400 | 430 |1000| 56 2 61 2
EVMS(.)5 12/4.0 385 | 400 | 770 21 1 25 1 ] 400 | 430 |1200| 57 2 63 2
EVMS(.)5 13/5.5 385 | 400 | 970 28 1 32 1 ] 400 | 430 |[1200| 75 2 80 2
EVMS(.)5 14/5.5 385 | 400 | 970 28 1 32 1 1400 | 430 |1200| 75 2 80 2
EVMS(.)5 15/5.5 385 | 400 | 970 28 1 33 1 ] 500 | 430 |1350| 82 2 88 2
EVMS(.)5 16/5.5 385 | 400 | 970 30 1 34 1] 500 | 430 |1540| 96 2 101 2
EVMS(.)5 17/7.5 400 | 430 | 1000| 38 2 43 2 | 500 | 430 |1540| 103 2 108 2
EVMS(.)5 19/7.5 400 | 430 | 1000| 40 2 44 2 | 500 | 430 |1540| 104 2 109 2

154

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

PACKING DATA

EVMS(.)10-15-20
Pumps Pumps with motor ~3
Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type
Pump type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG

EVMS(.)10 1/0,75 385 | 400 | 585 23 1 27 1 ] 400 | 430 | 800 42 2 45 2
EVMS(.)10 2/1,5 385 | 400 | 585 23 1 27 1 ] 400 | 430 | 800 46 2 50 2
EVMS(.)10 3/2,2 385 | 400 | 585 24 1 28 1 ] 400 | 430 | 800 50 2 52 2
EVMS(.)10 4/3,0 385 | 400 | 585 25 1 30 1 | 400 | 430 {1000 57 2 60 2
EVMS(.)10 5/4,0 385 | 400 | 585 26 1 31 1 | 400 | 430 {1000 64 2 68 2
EVMS(.)10 6/4,0 385 | 400 | 585 27 1 32 1 | 400 | 430 |1000( 65 2 68 2
EVMS(.)10 7/5,5 400 | 430 | 800 44 2 48 2 | 400 | 430 |1200( 83 2 87 2
10 | EVMS(.)10 8/5,5 400 | 430 | 800 46 2 50 2 | 400 | 430 |1200| 85 2 88 2
EVMS(.)10 9/5,5 400 | 430 | 800 46 2 50 2 | 400 | 430 |1200| 85 2 90 2
EVMS(.)10 10/7,5 400 | 430 | 800 47 2 52 2 | 400 | 430 |1200| 93 2 97 2
EVMS(.)10 11/7,5 400 | 430 | 1000| 50 2 52 2 | 400 | 430 |1200| 95 2 98 2
EVMS(.)10 12/7,5 400 | 430 | 1000| 50 2 53 2 | 500 | 430 |1540| 115 2 118 2
EVMS(.)10 14/11 400 | 430 | 1000| 60 2 63 2 | 500 | 430 | 1540 141 2 144 2
EVMS(.)10 15/11 400 | 430 | 1000| 62 2 64 2 | 500 | 430 | 1540 141 2 144 2
EVMS(.)10 16/11 400 | 430 | 1000] 62 2 65 2 | 500 | 430 |1540| 143 2 147 2
EVMS(.)15 1/1,5 385 | 400 | 585 22 1 30 1 ] 400 | 430 | 800 43 2 52 2
EVMS(.)15 2/3,0 385 | 400 | 585 23 1 31 1 ] 400 | 430 |1000| 53 2 62 2
EVMS(.)15 3/5,5 400 | 430 | 800 40 2 47 2 | 400 | 430 |1000| 78 2 87 2
EVMS(.)15 4/7,5 400 | 430 | 800 42 2 50 2 | 400 | 430 |1000| 87 2 95 2
EVMS(.)15 5/7,5 400 | 430 | 800 42 2 50 2 | 400 | 430 |1200| 88 2 96 2
15 EVMS(.)15 6/11 400 | 430 | 800 42 2 60 2 | 500 | 430 |1540| 133 2 141 2
EVMS(.)15 7/11 400 | 430 | 1000| 53 2 62 2 | 500 | 430 |1540| 135 2 145 2
EVMS(.)15 8/15 400 | 430 | 1000| 55 2 63 2 | 500 | 430 |1540| 163 2 171 2
EVMS(.)15 9/15 400 | 430 | 1000| 56 2 64 2 | 500 | 430 |1540| 164 2 174 2
EVMS(.)15 10 /15 400 | 430 | 1000| 57 2 65 2 | 500 | 430 |1540| 165 2 174 2
EVMS(.)15 11/18,5 400 | 430 | 1000| 60 2 67 2 | 500 | 430 |1540| 182 2 191 2
EVMS(.)15 12/18,5 400 | 430 | 1000| 60 2 68 2 | 500 | 430 |1540| 183 2 191 2
EVMS(.)20 1/2,2 385 | 400 | 585 21 1 30 1 ] 400 | 430 | 800 46 2 54 2
EVMS(.)20 2/4,0 385 | 400 | 585 22 1 31 1 ] 400 | 430 |1000| 60 2 68 2
EVMS(.)20 3/7,5 400 | 430 | 800 40 2 48 2 | 400 | 430 |1200| 86 2 94 2
EVMS(.)20 4/7,5 400 | 430 | 800 41 2 50 2 | 400 | 430 | 1200 87 2 95 2
o0 EVMS(.)20 5/11 400 | 430 | 800 50 2 58 2 | 500 | 430 |1540| 132 2 140 2
EVMS(.)20 6/11 400 | 430 | 1000| 50 2 58 2 | 500 | 430 |1540| 132 2 140 2
EVMS(.)20 7/15 400 | 430 | 1000| 53 2 62 2 | 500 | 430 | 1540 161 2 170 2
EVMS(.)20 8/15 400 | 430 | 1000| 55 2 63 2 | 500 | 430 |1540| 163 2 171 2
EVMS(.)20 9/18,5 400 | 430 | 1000| 56 2 64 2 | 500 | 430 |1540| 180 2 187 2
EVMS(.)20 10 /18,5 400 | 430 | 1000| 57 2 65 2 | 500 | 430 | 1540 181 2 190 2

155

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PACKING DATA
EVMS(.)32-45

Packing [mm]

Pumps

Weight [kg] + Pack Type

Pumps with motor ~3

Packing [mm]

Weight [kg] + Pack Type

Pump type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG
EVMS(.)32 1-1/3.0 420 | 512 | 800 59 2 55.6 2 | 500 | 612 |1000| 86.9 2 83.5 2
EVMS(.)32 1-0/3.0 420 | 512 | 800 59 2 55.6 2 | 500 | 612 [1000| 86.9 2 83.5 2
EVMS(.)32 2-2/5.5 420 | 512 | 800 | 73.1 2 69.6 2 | 500 | 612 |1200| 120 2 116.5 2
EVMS(.)32 2-1/5.5 420 | 512 | 800 | 73.1 2 69.6 2 | 500 | 612 |1200| 120 2 116.5 2
EVMS(.)32 2-0/7.5 420 | 512 | 800 | 73.1 2 69.6 2 | 500 | 612 |1200| 127 2 1235 | 2
EVMS(.)32 3-2/11 500 | 612 |1000| 88.4 2 84.9 2 | 500 | 612 |1350| 162 2 1585 | 2
EVMS(.)32 3-0/11 500 | 612 |1000| 88.4 2 84.9 2 | 500 | 612 |1350| 162 2 1585 | 2
EVMS(.)32 4-2/11 500 | 612 |1000| 91.6 2 88.2 2 | 500 | 612 [1350( 165.2 2 1618 | 2
EVMS(.)32 4-0/15 500 | 612 |1000| 80.6 2 77.2 2 | 500 | 617 (1540 1947 | 2 1913 | 2
o EVMS(.)32 5-2/15 500 | 612 |1000| 83.9 2 80.5 2 | 500 | 617 |1540| 198 2 1946 | 2
EVMS(.)32 5-0/15 500 | 612 |1000| 83.9 2 80.5 2 | 500 | 617 |1540| 198 2 1946 | 2
EVMS(.)32 6-2/18.5 500 | 612 | 1200 93 2 89.6 2 | 500 | 617 [1540( 2133 | 2 2099 | 2
EVMS(.)32 6-0/18.5 500 | 612 | 1200 93 2 89.6 2 | 500 | 617 |1540| 2133 | 2 209.9 | 2
EVMS(.)32 7-2/22 500 | 612 | 1200 93 2 89.9 2 | 610 | 617 [1750| 2475 | 2 2441 2
EVMS(.)32 7-0/22 500 | 612 | 1200 93 2 89.9 2 | 610 | 617 (1750 2475 | 2 2441 2
EVMS(.)32 8-2/22 500 | 612 |1200| 98.3 2 94.8 2 | 610 | 617 [1750| 2525 | 2 249 2
EVMS(.)32 8-0/30 500 | 612 |1200| 90.6 2 87.2 2 | 610 | 617 (1750 277.8 | 2 2744 | 2
EVMS(.)32 9-2/30 500 | 612 | 1350 94.1 2 99.2 2 | 720 | 715 [1970( 3125 | 3 309.1 3
EVMS(.)32 9-0/30 500 | 612 | 1350 94.1 2 99.2 2 | 720 | 715 |1970| 3125 | 3 309.1 3
EVMS(.)32 10-0/30 500 | 612 |1350| 97.5 2 1026 | 2 | 720 | 715 |1970| 315.9 3 312.5 3
EVMS(.)45 1-1/5.5 420 | 512 | 800 86 2 80.8 2 | 500 | 612 (1200 1329 | 2 1277 | 2
EVMS(.)45 1-0/7.5 420 | 512 | 800 86 2 80.8 2 | 500 | 612 |[1200| 139.9 | 2 1347 | 2
EVMS(.)45 2-2/11 500 | 612 |1000| 1036 | 2 98.4 2 | 500 | 612 [1350( 177.2 | 2 172 2
EVMS(.)45 2-1/11 500 | 612 | 1000 103.6 | 2 98.5 2 | 500 | 612 |1350| 177.2 | 2 1721 2
EVMS(.)45 2-0/15 500 | 612 |1000| 92.6 2 87.5 2 | 500 | 612 |1350| 204.7 | 2 1996 | 2
EVMS(.)45 3-2/15 500 | 612 |1000| 97.6 2 92,5 2 | 500 | 612 (1540 211.7 2 206.6 2
EVMS(.)45 3-1/18.5 500 | 612 | 1000 101.8 2 96.7 2 | 500 | 612 |1540( 223.9 2 2188 | 2
EVMS(.)45 3-0/18.5 500 | 612 |1000| 101.8 | 2 96.7 2 | 500 | 612 |1540( 223.9 2 2188 | 2
EVMS(.)45 4-2/22 500 | 612 | 1000 1039 | 2 98.8 2 | 500 | 612 |1540| 252 2 2469 | 2
s EVMS(.)45 4-1/30 500 | 612 |1000| 96.2 2 91.1 2 | 500 | 612 |1540| 277.3 2 2722 2
EVMS(.)45 4-0/30 500 | 612 |1000| 96.2 2 91.1 2 | 500 | 612 [1540( 277.3 2 272.2 2
EVMS(.)45 5-2/30 500 | 612 |1200| 103.3 | 2 98.2 2 | 610 | 617 [1750( 2905 | 2 2854 | 2
EVMS(.)45 5-1/30 500 | 612 |1200| 103.3 | 2 98.2 2 | 610 | 617 [1750( 2905 | 2 2854 | 2
EVMS(.)45 5-0/37 500 | 612 |1200| 1333 | 2 1282 | 2 | 720 | 715 |[1970| 4437 | 3 4386 | 3
EVMS(.)45 6-2/37 500 | 612 | 1200 140.1 2 135 2 | 720 | 715 |1970| 4505 | 3 4454 | 3
EVMS(.)45 6-1/37 500 | 612 | 1200 140.1 2 135 2 | 720 | 715 |1970| 4505 | 3 4454 | 3
EVMS(.)45 6-0/37 500 | 612 [1200| 140.1 2 135 2 | 720 | 715 [1970| 4505 | 3 4454 | 3
EVMS(.)45 7-2/45 500 | 612 |1200| 156.9 | 2 1518 | 2 | 720 | 715 |2170| 587.3 | 3 5822 | 3
EVMS(.)45 7-1/45 500 | 612 |1200| 1569 | 2 1518 | 2 | 720 | 715 |2170| 587.3 | 3 5822 | 3
EVMS(.)45 7-0/45 500 | 612 |1200| 1569 | 2 1518 | 2 | 720 | 715 |2170| 587.3 | 3 5822 | 3

156

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 60 1z

PACKING DATA

EVMS(.)64-90
Pumps Pumps with motor ~3
Packing [mm] Weight [kg] + Pack Type Packing [mm] Weight [kg] + Pack Type
Pump type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG
EVMS(.)64 1-1/7,5 420 | 512 | 800 87.7 2 85 2 | 500 | 612 {1200 141.6 2 138.9 2
EVMS(.)64 1-0/11 420 | 512 | 800 94.8 2 921 2 | 500 | 612 {1200 165.2 2 162.5 2
EVMS(.)64 2-2/15 420 | 512 | 800 88.9 2 86.3 2 | 500 | 612 |1350| 206.5 2 203.9 2
EVMS(.)64 2-1/18,5 420 | 512 | 800 93 2 90.5 2 | 500 | 612 |1350| 218.6 2 216.1 2
EVMS(.)64 2-0/18,5 420 | 512 | 800 93 2 90.5 2 | 500 | 612 |1350| 218.6 2 216.1 2
EVMS(.)64 3-2/22 500 | 612 | 1000 100.6 2 98.2 2 | 500 | 617 |1540| 248.7 2 246.3 2
G EVMS(.)64 3-1/30 500 | 612 | 1000 93 2 90.6 2 | 500 | 617 | 1540 2741 2 271.7 2
EVMS(.)64 3-0/30 500 | 612 | 1000 93 2 90.6 2 | 500 | 617 [1540| 274.1 2 271.7 2
EVMS(.)64 4-2/37 500 | 612 | 1000 138 2 137.3 2 | 720 | 715 |1970| 450.2 3 449.5 3
EVMS(.)64 4-1/37 500 | 612 | 1000 138 2 137.3 2 | 720 | 715 |1970| 450.2 3 449.5 3
EVMS(.)64 4-0/37 500 | 612 | 1000 138 2 137.3 2 | 720 | 715 |1970| 450.2 3 4495 3
EVMS(.)64 5-2/45 500 | 612 | 1200 156.4 2 155.9 2 | 720 | 715 |1970| 580.8 3 580.3 3
EVMS(.)64 5-1/45 500 | 612 | 1200| 156.4 2 155.9 2 | 720 | 715 |1970| 580.8 3 580.3 3
EVMS(.)64 5-0/45 500 | 612 |1200| 156.4 2 155.9 2 | 720 | 715 |1970| 580.8 3 580.3 3
EVMS(.)90 1-1/11 420 | 512 | 800 95 2 92.2 2 | 500 | 612 |1200| 165.4 2 162.6 2
EVMS(.)90 1-0/15 420 | 512 | 800 84.1 2 81.2 2 | 500 | 612 | 1350 201.7 2 198.8 2
EVMS(.)90 2-2/18,5 500 | 612 | 1000 102 2 99.2 2 | 500 | 612 [1350| 222.1 2 219.3 2
EVMS(.)90 2-1/22 500 | 612 | 1000 99 2 96.2 2 | 500 | 617 | 1540 247.1 2 2443 2
90 | EVMS(.)90 2-0/30 500 | 612 |1000| 91.4 2 88.5 2 | 500 | 617 | 1540 272.5 2 269.6 2
EVMS(.)90 3-2/37 500 | 612 | 1000 123.8 2 120.9 2 | 720 | 715 |1970| 436 3 433.1 3
EVMS(.)90 3-1/37 500 | 612 | 1000 123.8 2 120.9 2 | 720 | 715 |1970| 436 3 433.1 3
EVMS(.)90 3-0/37 500 | 612 | 1000 123.8 2 120.9 2 | 720 | 715 |1970| 436 3 433.1 3
EVMS(.)90 4-2/45 500 | 612 | 1200 146.1 2 139.9 2 | 720 | 715 |1970| 570.5 3 564.3 3

157

E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

GENERAL

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the

manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy consumption.
Indeed, the International Electrotechnical Commission (IEC) has introduced a new standards relating to energy efficient
motors. IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements for

induction motor efficiency levels around the world.

MOTOR
Frequency 60 Hz
Phase Three Phase
0.37 + 4.0 kW 5.5+ 45 kW
Power | power rating _—
Source 0.5+55HP 7.5+ 60 HP
460V + 10% 460V + 10%
Voltage
220/380V +10% / -5% 380/660V +10% / -5%
Type IC411 - TEFC
- ¢ from 0.37 kW up to 0.55 kW
Efficiency Level IE3 : for 0.75 kW and from 4.0 kW up to 11 kW
IE3*: from 1.1 kW up to 3.0 kW and above 15 kW
Type
o No° of poles 2
IP55: upto 11 kW
Protection degree
IP56 : above 15 kW
Insulation Class F (temperature rise class B)
Thermal Protection PTC sensor pre-installed for motors of 1.5 kW and above
Aluminium : up to 30 KW
Casing Material
Cast Iron: above 37 KW
Others
Flange mount . .
(IEC motor) IMB14: upto 4.0 kW IMB5: above 5.5 kW
Terminal Box fixing Unlosable screw and sealing from 0.75 kW to 45 kW
*: only for 460V
Power Noise
Motor Size
[kW] [HP] LpA-dB(A) *
0,4 0,5
71 57
0,6 0,8
0,8 1
80 57
11 1,5
1,5 2
90 65
2,2 3
100 3,0 4 67
112 4,0 55 71
55 7,5
132 73
7,5 10
160 11 15 78
15 20
160 75
18,5 25
180 22 30 74
30 40 75
200
37 50 7
225 45 60 79

* Noise values were measured with a tolerance of +2.5dB (A).

158

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Three Phase Motor at 60Hz, 2 poles

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20-32-45-64-90

Motor Load efficency Full load current Locked rotor current
Power Efficiency and power-factor (460V) [A] [A]

Size n % cos—¢

[kW] | [HP] 50% | 75% | 100% | 100% 220V | 380V | 460V | 660V | 220V | 380V | 460V | 660V
7 037 | 05 - 58.0 | 634 | 67.2 0.8 1.7 1.0 0.9 - 8.0 4.6 5.6 -

0.55 | 0.75 - 722 | 76.7 | 779 0.8 2.1 1.2 1.2 - 124 7.2 8.7 -
80 . 0.75 1 IE3 774 | 819 | 831 0.7 2.8 1.6 1.5 - 16.9 9.7 11.8 -

1.1 1.5 IE3* 824 | 842 | 845 0.8 4.0 2.3 22 - 246 | 142 | 17.2 -
% R 1.5 2 IE3* 83.2 | 847 | 857 0.8 5.3 3.1 29 - 36.3 | 21.0 | 254 -

2.2 3 IE3* 86.9 | 87.8 | 874 0.8 7.5 4.3 4.1 - 515 | 29.7 | 36.0 -
100 ¢ | 3.0 4 IE3* 87.0 | 879 | 885 0.8 10.2 5.9 5.6 - 724 | 418 | 50.6 -
112 ¢| 40 | 55 IE3 88.7 | 889 | 885 0.8 13.5 7.8 7.6 - 107.1 | 61.8 | 74.9 -
132 e 55 | 7.5 IE3 88.7 | 905 | 91.0 0.9 - 10.1 8.9 5.8 - 945 | 114.3 | 66.0

7.5 10 IE3 88.1 90.3 | 90.8 0.9 - 136 | 11.9 7.8 - 118.0 | 143.0 | 826
160 ¢ | 11 15 IE3 889 | 914 | 913 0.8 - 203 | 185 | 11.7 - 153.0 | 185.0 | 106.8
160 15 20 IE3* 90.7 | 91.2 91 0.9 - 275 | 232 | 159 - 176 213 102
160 185 | 25 IE3* 904 | 913 | 917 0.9 - 337 | 287 | 194 - 251 304 145
180 22 30 IE3* 915 | 919 | 917 0.9 - 39.6 | 338 | 229 - 270 327 156
200 30 40 IE3* 92 924 | 924 0.9 - 531 | 448 | 30.6 - 352 426 203
200 37 50 IE3* 91 92.5 93 0.9 - 66.8 | 56.1 38.6 - 440 533 254
225 45 60 IE3* 92 93.1 | 936 0.9 - 79.9 | 67.0 | 46.1 - 470 570 272

4 MOTOR DATA ETM
* ONLY FOR 460V

159

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EBARA Pumps Europe _—{=-TET

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

B Eaana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EBARA Pumps Europe _—{=-TET

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.






EBARA Corporation
11-1, Haneda Asahi-cho, Ohta-ku,
Tokyo 144-8510

Japan

Tel +81 3 6275 7598

Fax +81 3 5736 3193
www.ebara.com

ESARA

EBARA Pumps Europe S.p.A.

Via Torri di Confine 2/1 int. C
36053 Gambellara (Vicenza), Italy
Tel. +39 0444 706811
Fax +39 0444 405811
ebara_pumps@ebaraeurope.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. reserves the right to make modifications without prior notice: all specifications could be subject to change

04/22

N =VAV



